AGIOGD

5)) 7] & 58
25 H R B ]
HENMERT 2T

POWER CHUCKS ROTARY CYLINDERS CLAMPING SERIES

’ ( —— "’6 s . 4 o gt
G‘ LU B

www.autogrip.com.tw



AEROVIEW OF AUTOGRIP COMPANY

EERBEIBMARAST  AUTOGRIP MACHINERY COMPANY

BB 1989 TN EE - L AUTOGRIP mfg1TH AUTOGRIP machinery was established in 1989 in Taiwan.

2K BESERENOKIE « B HEEEIHEEE (RIS A Our product lines focus on the power chucks, rotary

) ERMARESE  ATHRSEESBEEWNELES cylinders and automatic clamping series. We provide

Z A ARFE - the optimized solutions and services for our customers
worldwide.

ERAIE LOCATION OF AUTOGRIP

EEBRARUNRSEZ(CEL - Sith 4000 3 - 2 Our factory locates in the middle part of Taiwan, the campus
EEREBERGAPFEZPOLAL - MERUIRSEEHR occupies 10,000 square meters.

&;E%igg ,,LEE/Z\OOO 5 Iyﬁgéﬂ{ti’z“? g AUTOGRIP makes world-class high-quality products and
%’Eﬁ_ﬂﬁﬁ:’_“u AIDAVES BRAOREEER—A services with high customer satisfaction.

SmEEm -

LS AUTOGRIP'S BUSINESS PHILOSOPHY

FEHEHEET BN REUEEENEMBERE - With integrity and commitment, we provide the most
professional products and services for the customers.

A AUTOGRIP



HKPRkEEE WEARE FROM TAIWAN

EEBHAMANERBZEE - QEMRETERE - I
BOMBEBRRMNERBREBNERFS - BEMA -
BEASHMASKEENSRE - RMNEREXRFES
FOME  FERIRRHEBE (N THIRSRIRS EE
AR5 -

3t E Al L

All the products of AUTOGRIP are designed and made in
our hometown-Taiwan. You can find that our products have
a strong Taiwan spirit- solid and durable, with high rigidity
and high precision.

Our company has a good reputation in the industry.
AUTOGRIP is devoted to providing the optimized solutions
and service for the workpiece clamping needs.

AUTOGRIP



— oa &
e

Y -I.]lj
R
-

cd
e
=

S e “\\HIHI/" ‘
EERMEANHERE . (F

AUTOGRIP MECHANICAL TESTING LAB,  JBG=NRA
élﬁ\F 'l‘esting‘;l;aslz)ratory

TEEMEEIHERE AR ERNHRER
il REMRERESRERENZEE - HEM LT -
BRBE—EEREFNAIE  BRERUERBERSGR
FTREE - EmRNREBEPUFIERRRE  HRERHN
BEmEE M BEFOERZILH EHEPR%Z
IOV EE m i FRAS R -

AUTOGRIP mechanical testing lab. continues to develop
reliable test equipments and technique for controlling the
product quality. Before the new product is launched to the
market, the products will go through a series of tests to
ensure that the performance and accuracy meet the design
specifications. Products in the manufacturing process are
also tested regularly to ensure the products are of good
quality and consistent.

The Lab controls the quality for the customers and
provides customers with the most satisfied experience when
using the products.

C AUTOGRIP



mam, WA REE

Mechanieal Testing Lab.

O EMEHM Quality Policy
% " i
AE

wRsctu

S Quality € . ,.'-

DLl o P .

oy -

&) AR 2 15 DI
Dynamic Gripping Force Test
e MAXREFNRARS  SREETHEMIENT - REERE FEEsERE(E -

e The curve of gripping force against rotary speed is obtained via force sensor at a given
test condition.

ENBERIF IHH4EE  Gripping Force Graph

-0 Autogrip 3H-206
W FERHEER

80
™9 —
& \N
g L [~
g —]
) _——-
S <
£
=
g <
5
[ ]
R
10
K
0 1000 2000 3000 4000 5000 6000

83k speed (rp.m.)

V.
&) 508 T =R
Dynamic Oil Leaking Test
e SRR EAREE FTHRRE - BEREFSHE -
e The oil leaking of cylinder is measured at different rotary speed to ensure it is within
engineering specification.
EHRENEREE Total Leakage Characteristic Graph
- 4 AFEREE W BALRRE Model: TH-A536
3
T 29
£ 28
T 27
5 26
8 25 /I/.
T 24
ﬁw 23 i
22
b : [ 1000 2000 3000 4000 5000 6000 7000
@z speed (rp.m)
W,

Autocrip D



YOUR

E AutOGRIP



TERKER LARSGHREBH !
Why AUTOGRIP?

1 BMRAEERENRETEEE

FEHNEBW : BB URFRRAERAFR
7RI HER L B8 5 R R R R,
KRR, S EMSTRE m TR RIEMAER T 2o

2. FTEEN ] AR GAMN 2 ) ER AR B ]

BYJ3KEE BT~ 7\, BRMNITIE , BAIT,
VEN, ARREAZNERNE UK
51,
T RS B TR R,
R [ R EEI | SRIRRRESRESK
EiE,

3. RIFRVRZ BN =AY AR TS

AUTOGRIP BRI UKR—EHUE R REES
BEBE, BfNFEE RSB AEIREE
B E AR

1. Custom design service

Example: Solution of automatic workholding
and workpiece seating confirmation, special
requirement on air/hydraulic cylinder, rotary valve,
rotary joint, or customized soft jaw/hard jaw.

2. Variety of chucks & cylinders

Chuck: 1-jaw to 6-jaw chuck from 3” to 797, Extra
long stroke, Pull back, Stationary chucks, Collet
chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke
control, Coolant/air connection, Air cylinder,
Double rod, Compact style.

3. Faster delivery and satisfied service.

Since its establishment, AUTOGRIP has always
prioritized customer satisfaction as our primary
goal. Our professional team is dedicated to
providing you with high-quality products and
services.

Autocrip F



GRIPPING FORCE SENSOR

B F5 71 2RI 2%

AUTOGRIP

GFS-100

¥ 7] BRI ES

GRIPPING FORCE SENSOR

58 / FEATURES

- BF 50 @HIEE -
- Type-C FEER -

- BiAERES

- 1% Android A0S -

- TIERE 2 T 3 MIBHE -

Stable Bluetooth 5.0 Transmission.
Convenient Type-C Charging.
High-Performance Lithium Battery.
Supports Android and iOS.

Configurable for 2-Jaw or 3-Jaw Operation.

\ ANDROID APP ON
Google Play

2 Available on the

.Apple Store

FFFHRORIZRRAE « % - F2SHESMMAEE - GFS-100 specifications and dimensions, Please refer to Accessories pages.

G AUTOGRIP



POWER CENTERING VISE

BN E O FEEH

AUTOGRIP

V R 8
POWER CENTERING VISE

Y58 / FEATURES

o NEABEBRNTREPHESKE -

- SNVE - REERARFARNMIP O - RN EMEREER -
- NEMEL - JERARBIHERE R -

- RELHRBABRENE - ZERESEEEA -

= Constantly high clamping forces are ensured while machining.
e Compact design, suitable for milling

machines or machining centers.
= With built-in cylinder, it could be either

pneumatically or hydraulically operated.

e Plug & Play, easy to install.

AlERIRNTE
Plug & Play, easy to install.

SR - G - E - BH2EEANELRIEER - Model, specifications, and dimensions, please refer to the Power Centering Vise page.

autocrip H



SWING TYPE THREE-JAW CHUCK

RRENRLE I = M3 FA -"\.l-

AUTOGRIP

= %’*ﬁ oo 2020
TAIWAN EXCELLENCE

EE)BUIZ s — M35

SWING TYPE THREE-JAW CHUCK

&wﬂ

¥ / FEATURES

- BERFLHE  BIEFEUNE -

- BEBRHRBHNERERRE BERAK20E -
- RMEBRA 5 EREEHERXKT -

- BRKKTIBRE -

* Grip the work piece in radial direction and then pull down.
= Gripping on forging or casting part with taper up to 20°

= Jaw equalizing: 5°Max.

= Anti-dust and Seal proof for cutting fluid,easy to maintain.

1.Clamping

| AuTOGRIP



LARGE THRU-HOLE AIR CHUCK

AUTOGRIP
&
SN

BE15m2018
TAIWAN EXCELLENCE

=M

Yl

¥ / FEATURES

o BARBEARK : @52mm~B375mm -

o BAKREEMMI -

SRERAG - NEREM -
BREERERR  HETEREBEA -

Large thru-hole : @52mm~@375mm.
No distributor ring needed.

Easy to install.

Less maintenance.

EF|= 5% PRODUCT PATENTED

£F  US8770222 B2(USA)

&%  M440159 / M415011 (Taiwan)

#®E  20.2011.101.818.4/20.2012.102.498.5(Germany)
HA& 3169457 /3178706(Japan)

BE  EP2517822 BL(EU)

KB ZL 20112 0141324.9/ZL 2012 2 0274549.6(China)
HAF  0000278076(taly)

RAEPZERENIEE

HRER ARG
PATENTED AIR FEED SYSTEM
- SMATIRAS - BARE C MRAIEK -
o BARAMEE  clia N B ERME - iR
REFLZE -
* Built-in cylinder / Check valve.
Pressure detection / Unique design.

AUTOGRIP J



POWER CHUCK FOR VERTICAL LATHE

BB E K Bh7KENTI 3R

AUTOGRIP

series

%kﬁf?ﬁﬁ_{% The maximum diameter is

2000mm(79")

o =P EIGE - e Emi/RT: B34 6MEH -
— = S Vi L n FEAED o

o FNOJFER%TE, DR THKD - . ET% 12 79 Exﬁ%/i

- BB RPIKRE - BRIEAERARIRER - - EREEMEL :RE 25 -

= It's a WEDGE-HOOK type 3-jaw high speed power chuck. = Various Models / Size: _

e With manual radial setting of master jaws for the workpieces A\./alla.ble ins, 4 aqd 6-Jayv Versions .
centering = with sizes 12 to 79 inch diameter.

e Sealed against swarf, chips and coolant, suitable for vertical = Rotary cylinder : RE series .
lathe.

K AutocriP



POWER INDEXING CHUCK

B E17 E3Ea

AUTOGRIP

1S

= &) 73 [E 3K B

Power Indexing Chuck

¥ / FEATURES

o THEBBRTETHEERNF URSELFMZEETRESRSE -
o REASHIERCRBEBME - WEEES -

e Bk «

- SHIMERESEERE -

e BENDEZRANBREZLGE - KBEBNQNEE  UEMS -

Indexing operates during the spindle rotation, can perform a quick change between multiple working axles.
All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in chuck, high reliability.

AuTOGRIP L



STATIONARY CHUCK BASE PLATE

17 & 32 BE A 1y

AUTOGRIP

17 &5 AR GR FE
MULTI-PLATE.4-PLATE

Y58 / FEATURES

o BRRRK / FEMLIPOHK -

- ERMINEIA (%236 THHER) -
« OJ¥ARC SP/SM/SD/SU/SE 11 &35 -

- BRHE/RE -

- SERBERHBIIVEZEG -

o BIRHERE - URERBELFESE -

- REERE (&) -

- REBWRH (B ) -

For milling machine / machine center.

Allow simultaneous machining with up to 4 grippers. (Order
can be customized for 2,3,6 grippers).

Work with SP/SM/SD/SU/SE vertical chuck.

Driven by Hydraulic or Pneumatic.

Individual circuit for each chuck.

Special design and reduce the height of working surface.
Lock valve unit (optional).

Air tight detection function(optional).

BN RKIEZRY] STATIONARY CHUCK SERIES

= SP - T & =T\ 3KEE

.4l "  SP-STATIONARY CHUCK

g
S « Wedge-hook type.
Y

SM - T B RITIZHEE

SM-LONG JAW STROKE
STATIONARY CHUCK

« BRITE / RERA -

» Long jaw stroke

« Air tight detection.

SD - T BT EHIREE 3
SD-STATIONARY PULL DOWN CHUCK - . ﬁ
. iU/ BYY/ RERA - =

« Pull down / Heavy duty machining . R
« Air tight detection. \ "

SU - Y EAMEFEEHIRE
SU-STATIONARY PULL LOCK CHUCK
o B/ EH / REBRE

« Pulllock / Heavy duty machining

« Air tight detection.

M AuToGRIP

SE - BN RERIEE

SE-STATIONARY EXPANSIBLE
PULL LOCK CHUCK

. BRI/ AR / KRBBA -

« Pulllock / Inner dia. clamping /

« Air tight detection.



RUBBER GRIP COLLET
122 ER

AUTOGRIP

REE

j:& =5 ‘fll\
s 1L\

BRH

I B AV E MRS

5 HE NS ?

RE SR

i
St
5

Y K4
F

E—RERSEHETE +0.5mm

autocrip N



ROTARY CYLINDER & LINEAR POSITION SENSOR

EaFg BUchZE / op B 40§50 B BT B 4R 14 RE U 2 A i 18

AUTOGRIP

Y58 / FEATURES

e Z1TIEWMA -

o BT HRATFEHEETIEREA -
WMEHERRE - BN TR -

F R HEREE G SO EAC -

e Entire stroke range position monitoring.
Position setup by teach-in function.

* Manual adjustment for proximity switch is
unnecessary when changing workpiece.
Suitable for sub-spindle or vertical
lathes with limited space.

e Reduce idle time, increase throughput.

hie: )il

O AuTOGRIP www.autogrip.com.tw



AUTOGRIP

F

e

HYDRAULIC CYLINDER WITH ROTATING JOINT
3B 85§32 B S 52 B A0 85 BR T

-
°

RC-125S-F2
MERR / BED / EEE
Proximity switch with bracket
With double paths rotating joint(Fixed type)

Rc series

30§83 BA M= B T B BA ]

HYDRAULIC CYLINDER WITH ROTATING JOINT

%58 / FEATURES

- PERGEEMEI -

- ISMNEERENEBEOEER - FRWERBIRAKPOLKHEK -
- NP EKS -

- CEEFTSERVTERBANRMENBRAISRETITRZES -

- NEMRARIIMNEERENCREOERERERM

e Medium and solid hydraulic cylinder with channel.

e Can choose an external rotary joint with either single or double paths.

< |t meets the demand for coolant through spindle and airtight pressure detect function.
* Has a buil-in check valve for safety.

e The proximity switch and single or double paths rotating joint are optional.

 Stroke control via proximity switch or linear positioning system.

AutoGrip P



4

A

ik

RE 2

Y. (F; (8] - VRGeS —_——

(mmEmsmEs

L Frequent replacement of jaws

J—

SMEEE

O.D. (Outer Diameter) based

}______

X

NEEEE

1.D. (Inner Diameter) based

)

-
FRZEEETERR
Seating confirmation not required
- J
Bl 7 3e 5
Gripping round figure - N
= EEhERD
L Seating confirmation required
4 — == N
32 0 ]
\Buﬂt—ln air cylinder )
WEETH
(THZBEHTL) [ amKE )
Shaft-type workpiece ] - i . 2
Pipe-type workpiece AHEA T AHEEER
(Insertion of workpiece Gripping taper Seating confirmation not required
axis into chuck required) Irregular workpiece
( )
Ao - B4
Large-sized shaft
Pipe-type

[Kﬁ%@ﬁ% )

Seating confirmation not required)

Gripping round figure

__[E%m% }

Bk EMBETLH |

Plate-type workpiece SR T &% w
AR PR e _[Easily deformed workpiece J
Center-based workpiece
ARA T
Gripping taper
Irregular workpiece

{EEE%(@EH’\) )

= R .
Seating confirmation required

( )
HMITRF

L Rough machining operation

-
WBWIMLITRE

L Finish machining operation )

=

k) TE 318 5

Gripping on 2 sides

__{

1Y T 3 5

Grippping on 4 sides

Single-side-based (Fixed jaws) )

(EmITE

ELEETH
Center-based —
workpiece

—

L Rough machining operation

(EmTIE )

Q AUTOGRIP

Finish machining operation J




(BREESTHE )

E>_<ceed specific_ations > 3 H

\dlameter workpiece )

( _
BAERES - 3L
Gripping exceed big diameter

- J

a o+ e EF I e )
REFHEERE - 3Q
Stable gripping precision

- J

> 3U-K
-
o H T A
RIFEEER/N > AP-15LLF

L Gripping position diameter small )

( >
RIFETHRA > AP-1450) I
Gripping position diameter large e —

N J B AR A J Aps

Gripping exceed big diameter J =
-
— — " 2H /4H
BRBEETH -
L Exceed specifications diameter workpiece ) -
( . - ~ ) o
BARERSE > 2L
L Gripping exceed big diameter
_______________ - - 2 - 3P
“““““ K BN 7 ma
: | Jaw lift reduction ) > 3N
| 4 N 1
] U E > 3V
[ Vertical spindle
| - J
| ( )
! BAREER - 3M
| - -
: L Gripping exceed big diameter )
- . - 3w
A =+ | Q
_ (svmms (ks THERTRTS .
q Outer diameter gripping ) : When not clamped, the workpiece = 3D
Ve | and the jaw do not interfere
aEEESE: v i o
h _ KEBEEE > 3U
& Inner diameter gripping J Stable gripping precision
> 3E
El T - 2 /3)
End surface gripping allowed ) -
N
| FTHAEEER -
Seating confirmation not required) = 2 P / 2M
B A S T35 ) _
Gripping exceed big diameter J 2M
N
= EETER - 2W
Seating confirmation required ) o
— - 4T
— > 1L
— [ mEEER ) .
[ Gripping round figure J 3W_ C
Bl RS - FRATH - oW
Gripping taper Irregular workpiece
> 3R

*ARRPIABTMBEEN - BASTEA -

*The contents in this chart are subject to change without notice for further improvement, etc.

AUTOGRIP R




I N D EX [Product Description]

I &) 7758 Power Chucks

¥55% 80 /13258 Special Purpose Power Chucks

3H-2/3H-2A 3H/3H-A 2H/[2H-A
chZE ) /1 3EE hZEE) ) FEE chZEEh )3T
LARGE THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK
thZEA) THRU-HOLE hZeH THRU-HOLE ZEH) THRU-HOLE
=T 3-JAW g =T 3-JAW 4 TN 2-JAW 4
4H/4H-A 3P/3P-A 2P/2P-A
chZEE) ) 5EE PR E) IR R 8 ) FEE
THRU-HOLE POWER CHUCK POWER CHUCK POWER CHUCK
hZeH THRU-HOLE ‘EE NON-THRU-HOLE B A NON-THRU-HOLE
T 4-JAW 4 =/ 3-JAW A M 2-JAW A
3L/3L-A 2L/2L-A L
BEMTI2ENKE BEM{TRE)5E BEM{TRE)5E

| EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE

)0 POWER CHUCK POWER CHUCK POWER CHUCK
hZe A THRU-HOLE pZE® THRU-HOLE ' E A NON-THRU-HOLE
=M 3-JAW M 2-JAW B 1-JAW
3M 2M 3V-A
B ENTRIE PEEITIRIE UEEPEENKE
LONG JAW STROKE POWER CHUCK LONG JAW STROKE POWER CHUCK FOR
$hEHE NON-THRU-HOLE POWER CHUCK VERTICAL LATHE
=/ 3-JAW 4 ‘BEE NON-THRU-HOLE 4 Tgﬂ NON-THRU-HOLE 4

Z M 2-JAW =M 3-JAW

4V-A 3HS 3PS
UERPEENKE = Moz R R &S )58 M B ERESE
POWER CHUCK FOR THRU-HOLE FULLY SEALED FULLY SEALED TYPE POWER CHUCK
VERTICAL LATHE TYPE POWER CHUCK EREHE fuIIy sealed type
DA NON-THRU-HOLE ZEEE fully sealed type =T 3-JAW
T 4-JAW =/ 3-JAW

S AuTOGRIP

o IS 3N 47
T adan EBDERE AMIPE = /MR MM s B3 ER
< ’a POWER INDEXING CHUCK | INCLINED MASTER JAWS FOUR-JAW TWO MOTION
A > POWER CHUCK TYPE POWER CHUCK
w & NON-THRU-HOLE % NON-THRU-HOLE
=TT 3-JAW TUTTL4-JAW
3D 2D 3U
BHINEN SRR ) BT ENIIEE BHIEHEIUE D3RR
PULL DOWN POWER CHUCK PULL DOWN POWER CHUCK PULL LOCK POWER CHUCK
&% NON-THRU-HOLE &= A NON-THRU-HOLE ! tpZe® THRU-HOLE
=TT 3-JAW g ZI 2-JAW g =T 3-JAW g
3U-K 3E 3w/3w-c
BHIE VB I3 ER AsREN BN N IRER EE B EHI = T 3EEE
PULL LOCK POWER CHUCK EXPANSIBLE PULL LOCK s SWING TYPE 3-JAW POWER CHUCK
! EA NON-THRU-HOLE POWER CHUCK ' JRE)E SWING TYPE
=TT 3-JAW &= A NON-THRU-HOLE =M 3-JAW
=TT 3-JAW
3RF 3R 3J
a2 | FH 3% B REFHER = KE hE 5/ E) S13EEE
RETRACTABLE-JAW 3-JAW SWING COMPENSATING TYPE FINGER POWER CHUCK
SHAFT CHUCK . 3-JAW POWER CHUCK B $7 NON-THRU-HOLE
1% COMPENSATING TYPE ¥{#E COMPENSATING TYPE =/ 3-JAW
=M 3-JAW =M 3-JAW
2J . AP APS
— - - - - « =
, PEISE KR | AAEPZE R BN | NEPERENIR:R
FINGER POWER CHUCK LARGE THRU-HOLE AIR CHUCK (ZRATE)
A NON-THRU-HOLE 22 THRU-HOLE LARGE THRU-HOLE AIR CHUCK
M 2-JAW g =T 3-JAW (DOUBLE SPEED JAW STROKE)

B

hZ28 THRU-HOLE / =T 3-JA

B




AGIOGI»

I Z3& 358 Collet Chucks

CL
SRS

COLLET CHUCK

thZef) THRU-HOLE ﬂ

cB/CB-A
BRI SRR

DRAW BACK COLLET CHUCK
chzeE THRU-HOLE

CBE/CBE-A
ERIEAIE 1S B SR

| END STOP COLLET CHUCK

7% THRU-HOLE g

CBD/CBD-A
AR T 212 B R SRR ER

DEAD LENGTH COLLET CHUCK

SCB
e BB

e STATIONARY DRAW COLLET CHUCK
o ¢p22% THRU-HOLE g

725 THRU-HOLE

CL-A

BN

COLLET CHUCK

chZe A THRU-HOLE !

RG
BB

RUBBER GRIP COLLET

DIN6343
Bl
STEEL COLLET

SEiERE P STEEL COLLET g

I I B %FE Stationary Chucks

VH - P SM
hZE T E T A ¥, PEUEINKIE UEXRTZRE
?LARB_?_"\IOALREY CHUCK WITH STATIONARY CHUCK LONG JAW STROKE
N P EIZERL NON-THRU-HOLE STATIONARY CHUCK
PZEr & THRU-HOLE STATIONARY | STATIONARY = NON-THRU-HOLE
/=M 2/3-JAW 4 L — /=M 2/3-JAW E;IT;\ 3-JAW
Ze - SP = SD su
v . - = N . —.
> = U ERE T E BRI UEXMEFEEHNIE
. . STATIONARY CHUCK STATIONARY PULL DOWN CHUCK STATIONARY PULL LOCK CHUCK
d 5 NON-THRU-HOLE 8% NON-THRU-HOLE | EA NON-THRU-HOLE
- 225 THRU-HOLE =T 3-JAW =T 3-JAW
L Z/ =M 2/3- AW
-.. SE MP4 VH-201
g ﬁ T ENARERIKGE VI EBEREEER FENTNIRR
i " STATIONARY EXPANSIBLE | 3 #*._ STATIONARY CHUCK BASE PLATE HAND OPERATED AIR VALVE
; PULL LOCK CHUCK
# A NON-THRU-HOLE Zfictk ACCESSORIES
- =TT 3-JAW

BAELEH
Power Centering Vise

I S9AE A SRR 2R ER F B 3258

Pneumatic Rotary Chuck Manual Chuck

VR
AT

POWER CENTERING VISE
FH2zL Wedge Type

fRJ)EiBE

Facing Heads

RAP 3MF
P82 R B = T\ 3 8 . & CEELFEPRAZTRE
PNEUMATIC ROTARY CHUCK 4 = SELF-CENTERING 3-JAW
B4 S B Pneumatic rotary TYPE - MANUAL CHUCK

< HEA NON-THRU-HOLE

=/ 3-JAW

Ebz3=

Synchronous Clamp

FA
& )iEER

SINGLE-SLIDE FACING HEAD
@)% SINGLE SLIDE

FD

EnR/EER H*EIE
DOUBLE-SLIDE FACING HEAD SYNCHRONOUS CLAMP
@4 DOUBLE SLIDE ERE Crank Type

AUTOGRIP |



I N D EX [Product Description]

| Zo3h B @iEE] ROTARY CYLINDERS

TK TS TH
7 45 7 oh 70 3(E 68 3 [BR - s 5[5 e 3 [BR
8 %g A chZe {0 88 [FA T S LA 4B G 7 o 7o 3 8 S R T ZE3m B B ]
SHORT TYPE ROTATING HYDRAULIC ROTATING HYDRAULIC CYLINDER
CYLINDER WITH THRU-HOLE SR RO LR Y YDRAULIC WITH THRU-HOLE
AND SAFETY DEVICE THRU-HOLE AND SAFETY DEVICE AND SAFETY DEVICE
hZe® THRU-HOLE chZ2 THRU-HOLE hzeE THRU-HOLE
/B HYDRAULIC S HYDRAULIC /B HYDRAULIC
TR RK RK-N
N e 3 e S [ s s
B85 A ch7e 20 885 [RA ] P38 | F R P BT B B AT chE 383 BRG]
SMALL TYPE ROTARY HYDRAULIC
CYLINDER WITH THRU-HOLE ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER
AND SAFETY DEVICE WITH SAFETY DEVICE &7 NON-THRU-HOLE
7% THRU-HOLE P EE NON-THRU-HOLE 3H/% HYDRAULIC
¥/ HYDRAULIC A 8/ HYDRAULIC
RH RA RS
oh B i e B AL th & m e Ze B G B2 | E AT AR e YD BR £ T
. ROTATING HYDRAULIC CYLNDER
ROTATING HYDRAULIC CYLINDER ROTATING AIR CYLINDER T
7 NON-THRU-HOLE ) - - AND SATETY DEVICE
S S NON-THRU-HOLE 22515 STROKE CONTROL
H/E HYDRAULIC
RS-N RL RL-N

T2 FE I 2L m B h ER L
ROTATING HYDRAULIC CYLINDER

356 | E ) /K B {008 [BR T

ROTATING HYDRAULIC CYLINDER

YK BU 30 5 ER ]

ROTATING HYDRAULIC CYLINDER

WITH STROKE CONTROL WITH COOLANT CONNECTION WITH COOLANT CONNECTION
1FI2#24 % STROKE CONTROL AND SATETY DEVICE JE7KE COOLANT CONNECTION
/E HYDRAULIC 7£7K% COOLANT CONNECTION H/E HYDRAULIC

/B HYDRAULIC
E R B B 3082 37 R 93 U B ER T Eﬁg}%@%ﬁ%ﬁ%ﬁ%&l
ROTATING HYDRAULIC CYLINDER HYDRAULIC CYLINDER WITH
WITH AIR CONNECTION ROTATING JOINT mg*g;%‘%gag?m
EEE AR CONNECTION BRI MR iR RS E COMPACT STYLE
/A HYDRAULIC ROTATING JOINT S HYDRAULIC
4R RS BT R E i ER T TR RS ALK ER ] P36 |- 7R €8 12 5L 30 8 [RR T
COMPACT STYLE HYDRAULIC COMPACT STYLE HYDRAULIC DOUBLE ROD ROTATING CYLINDER
CYLINDER WITH AR CONNECTION CYLINDER WITH COOLANT

AND SAFETY DEVICE
B EE COMPACT STYLE
JH/E HYDRAULIC

RD-N
S 12 AU 0 48 H ER L
DOUBLE ROD ROTATING CYLINDER

&42% DOUBLE-ROD
JH/E HYDRAULIC

CONNECTION AND SAFETY DEVICE
i G55 COMPACT STYLE
JHE HYDRAULIC

A

RJ-80

RANREE TR —
COOLANT ROTATING JOINT a =
188358 COOLANT JOINT

U AutoGriP

JE§E 45 %8 ROTARY VALVIES
RV RV-A
S D85 7R l gl bk e
HYDRAULIC ROTARY VALVE AIR ROTARY VALVE
SHEE DR Ze[EE AIR
OIL CIRCUIT DISTRIBUTOR
Jo§E31E5E ROTARY JOINTS
RJ-92
72 AR B B 5E A T
v GIEEIEEELE T

COOLANT ROTATING JOINT WITH
AUTOMATIC ON/OFF SEAL

J@# 138 COOLANT JOINT

WITH SAFETY DEVICE

425 DOUBLE-ROD
JH/E HYDRAULIC




AGIOGI»

ZffirEE{th PARTS AND ACCESSORIES

- GFS-100 sJ HJ
A= TENRAE ] I 4 BRI
(O GRIPPING FORCE SENSOR ’ STANDARD SOFT BLANK JAW E I—- ) STANDARD HARDENED JAW

3 g 12447 STANDARD SOFT JAW ! i &f@;m HARDENED JAW g
T-NUT FL CT/CT-S
T%%E 'w/‘ | IETESAR EKBRITIZRRME
T-NUT / ,\' , CHUCK ADAPTORS COOLANT COLLECTOR
T fZegng T-NUT %58 ADAPTOR j

\ CT-SB/CT-SBS FV
EkERITRRRES - UREHAHNE
COOLANT COLLECTOR WITH A STATIONARY CYLINDER LOCK VALVE
STROKE CONTROL . FOR AIR STATIONARY CHUCK
£7k& COOLANT COLLECTOR
é ZfcF ACCESSORIES A

DRAW TUBE DRAW BAR

PSR EE PEMSNERE

THE CALCULATION OF DRAW TUBE LENGTH THE CALCULATION OF DRAW BAR LENGTH

¢ ZE DRAW TUBE g % DRAW BAR g

WITH STROKE CONTROL
K& COOLANT COLLECTOR@

HBEW - NAEESHHZ!

BROWSE THE WEBSITE AND
INSTANTLY GRASP INFORMATION!

Q| AUTOGRIP {EE¥EHS

*2D[E##(PDF. DWGHE). 3DEWE(STEPHE) eI E4 Tl
*You can download the outline drawing (in pdf or dwg format) and 3D step at AUTOGRIP WEB,

© emmmavtocri () AUTOGRIPMACHINERY () AUTOGRIPEREE

AuTOGRIP V



= g = MBAFLE A
’ 3H-2I 3H-2A EERjé?rJI-ljRjuj-SSfE POWER CHUCK

B =TBREBAL -
BENEIILRBCRBEME - WEEEE -
SEMER RS RIFEE -

WEDGE-HOOK type 3-jaw with the extra large through-hole.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

JERBEFBERERBEARF ZAE -

K Default BB KRIEERE Z HHKE -

K max BRELBIEDERIET VHEARE  IREREKETH -
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

Serration Pitch BF&5EE 1.5

3H-215 A8 G H M ‘ 3H-221,3H-224,3H-232 3.0
3H-215 A1l | /
Refer to Fig.A cH A
2REIE A R o N R [ 1 iy ol
. o 'g*z
1
E1 fL}cL:‘ N

N o| K
8 % O o LI M w o

== NS 8 ﬂi ®

iy L1 =40 FE@ g

L =ty o
1B 1/

' 3H-204 #3212

Fig.A L E 3H-205 Only 3 bolts

& A

—_— B

3H-BA,3H-2A 3H-B,3H-2

RBIEASRATHEF
Subject to technical changes
BHIRR1& SPECIFICATIONS

g o TR SRER | sueiog | BAkin | BETER B8 EMLSE  BABREH

" (Bf€) | Chucking Dia. = ; = *

Plunger | Jawstroke &A= &/ Max. Clamping Moment of )
Vodel S (Dia,) Max. Min. Max. D.B. pull — Max. speed " Weight P —— Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)

3H-204 A4 13 5.5 113 7 13.7(1400) 36.0(3670) 8000 0.012 4.22 | 5.34 | TK-A528 2.0(20)
3H-205 A4 13 &5 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 | 71 TK-A533 2.5(25)
3H-206 @ A5 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1 | 149 TK-A646 2.5(25)
3H-208 @ A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8 | 23.4  TK-A853 2.6(26)
3H-210 @ A8 21 8.9 260 37 49.1(5010) 152(15500) 4500 0.32 37.5 | 43 | TK-A1075 3.2(32)
3H-212 A1l 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6 | 64.7 | TK-A1512 1.9(19)
3H-215 A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 | 149 | TK-2114 2.1(21)
3H-215 A1l 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 |143.3| TK-2114 2.1(21)
3H-215  A15 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 |135.6 TK-2114 2.1(21)
3H-18B | A15 23 10.6 456 79 71(7240) 180(18350) 2000 4.8 162.4 173.4| TK-2416 1.9(19)
3H-221 | A15 28 12.9 530 | 105 90(9175) 234(23860) 1800 7.5 223 | 234 | TK-2416 2.4(24)
3H-224 | A20 28 12.9 610 @ 135 100(10200) | 240(24500) 1500 15.8 270 | 284 | TK-2820 2.1(21)
3H-232 | A20 34 18 800 & 205  100(10200) | 240(24500) 1200 47 546 | 560  TK-2820 2.1(21)

AT EENES 3H-2A. 3H-BA BLZH3% (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

1 AuToGRIP



- - RS &) 3K 58 = TBATL @R
’ 3 H 2I3 H 2A LAR:GI:E THRU-HSLE POWER CHUCK

4R~ DIMENSIONS &)
Model A B C D D1 D2 E E1l F G max. G min. H J ;]E
3H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -9.5 18,5 | 175 12 ]
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 A5 170 8l 91 140 104.8 | 82.56 116 5 15 53 13 28 -1 14 175 20
3H-208 A6 210 91 103 | 170 133.4 | 106.38 | 150 5 17 66 165 | 335 | -15 153 20 30
3H-210 A8 | 260 | 102 115 | 220 171.4 | 139.72 | 190 5 18 86 105 | 28,5 | -105 7.5 25 45
3H-212 A11 315 110 | 126 | 300 235 196.87 | 260 6 22 106 10 32 -15 7 28 50
3H-215 A8 405 | 132 159 | 380 330.2 | 139.72 | 171.4 6 33 145 11 44 -14 19 39 60
3H-215 A11 405 | 132 166 | 380 330.2 | 196.87 | 235 6 40 145 11 51 -14 26 39 60
3H-215 A15 405 | 132 153 | 380 330.2 | 285.78 | 330.2 6 27 145 11 38 -14 13 39 60
3H-18B A15 456 | 145 166 | 380 330.2 | 285.78 | 330.2 6 27 165 18 45 £S5 22 40 60
3H-221 A15 530 | 140 161 | 380 330.2 | 285.78  330.2 6 27 180 15 42 -13 14 40 80
3H-224 A20 610 | 145 166 | 520 463.6 | 412.78 | 463.6 6 27 210 15 42 -13 14 41 80
3H-232 'A20 800 | 150 170 | 520 463.6 | 412.78 463.6 6 27 275 24 51 -10 17 42 100
Model K max. K Default L L1 M N P | Qmax.| Qmin. | Rmax. R min. S T U
3H-204 A4 M38x1.5 M32x1.5 3~M10 16.0 15 24 | 52 | 14 1275 6.75 25 2225 23 10 | 3~M10
3H-205 A4 M45x1.5 M40x1.5 3~M10 145|145 31 | 62 | 14 | 20.25| 6.75 | 29.5 | 26.8 | 25 10 3~M6
3H-206 | A5 M60x2 M55x2 6~M10 16.0 16 37 | 73 | 20 21.25| 9.25 @ 36 33 31 12 3~M6
3H-208 | A6 M75x2 M60x2 6~M12 17.0| 15 38 | 95 | 25 | 23.7 | 10.2 | 45.7 419 @ 35 14 3~M6
3H-210 A8 M95x2 M85x2 6~M16 20.0 22 43 | 110 | 30 322 | 127 56.5 52.05 40 16 3~M8
3H-212 A1l M115x2 M115x2 6~M20 30.0 28 51 | 130 | 30 44.75 1475 678 625 50 21 | 3~-M10
3H-215 A8 M155x3 M115x2 M155x3 M100x2 @ 6~M24 |36.0| 24 | 63 165 43 49.75/19.75 90 | 84.7 62 | 255 6~M16
3H-215 A1l M155x3 M155x3 6~M24 36.0 31 63 | 165 43 49.75/19.75| 90 @ 84.7 | 62 | 25,5 6~M20
3H-215 A15 M155x3 M155x3 6~M24 36.0 34 63 | 165 | 43 49.75 19.75 90 @ 84.7 62 | 255 3~Mi2
3H-18B A15 M175x3 M175x3 6~M24 38.0 36 63 | 165 | 43 64 | 205 102 | 96.7 | 62 | 255 | 3~M12
3H-221 A15 M190x3 M190x3 6~M24 133.0 36 73 | 180 | 60  69.5 245 1135 107.1 65 25 | 3~M12
3H-224 | A20 M225x3 M225x3 6~M24 350 33 73 | 180 | 60 935 245 128 1215 65 25 | 3~M12
3H-232 A20 M295x3 M295x3 6~M24 36.0 34 73 | 180 | 60 1505 245 166 157 @65 25 | 3~M12

AL EBEUEA 3H-2A. 3H-BA BUZ <1 (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

I gy e a5 BA TR B, BRI 410 B ST (A 1 2 48
TS e, SRR B R R R T > R ), S L PR AL,
RN, SR AT,

The 3H-2 series are power chucks with extra large thru-hole design.

The rotary cylinders are recommended based on power chucks that from 4"~10" are
common used in the industry.

If you find that you need different bore size or installation interface, please just contact us.
We have many standard and customized rotary cylinders for option and meet your needs.
Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 2



theSE) /3K 5E = Mg

THRU-HOLE POWER CHUCK

B =TAREBAL -

REMILEERBENE - WEERSE -

SHEtEERESREFEE -

WEDGE-HOOK type 3-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREASIRIERERB TR ALK,

K Default {E#RIGE SR 2 HRR{E,

K max (B4 B4R IR IR A B SR S 7 RARRAE, IR BIR T RETH,
= Jis the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

2

G Serration Pitch s
c HregiE 15
1 |
ﬁ |
3H-15 A8 = I ol Eé
Refer to Fig.A ] 1=z
2[3E A -4 o
ol « © o
E1 SIS 5 -
8l u e
Rt
L R
L1 B L E
B
Fig.A
A 3H-A 3H
RERIBIELHIETR)

Subject to technical changes

R iR SPECIFICATIONS

we  momr TR CUEE amsson mkmsn  emEem E8  EMLET  BAGEES
Vol Plnger | Jawdroke | BX B MaxDB.pul M CIaMPING | yay speed  Momentof  yyeignt Vatching oyl, | M PreSSUre
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? kg MPa (kgflcm?)
3H-12 A8 25 10.6 304 | 34 | 54.9(5600) | 143.7(14650) 3300 0.77 | 56.6 59.3 TK-A1291 2.5(25)
3H-15 A8 25 10.6 381 | 50 71(7250) | 179.8(18350) 2500 228 | 120 134 | TK-A1512 2.3(23)
3H-15 | All 25 10.6 381 | 50 71(7250) | 179.8(18350) 2500 228 | 120 127 | TK-A1512 2.3(23)
3H-18 A1l 25 10.6 450 | 50 71(7250) | 180.3(18400) 2000 446 | 160 174 | TK-A1512 2.3(23)
4MEURST DIMENSIONS
Model A B @ D D1 D2 = El F G max. G min. H J
3H-12 A8 304 110 | 122 | 220 @ 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
3H-15 A8 | 381 132 159 300 235 |139.72 1714 6 33 | 120 1 44 -14 19 39 60
3H-15 A1l | 381 132 148 300 235 |196.87 260 6 22 | 120 1 33 -14 8 39 60
3H-18 A1l | 450 132 148 300 235 |196.87 260 6 22 | 120 1 33 -14 8 39 60
Model K max. K Default L L1 Mmoo oN P Q0 Q0 R R s T U
3H-12 A8 M100x2 M100x2 6~M16 23 25 51.3 130 30 44.75 14.75 613 56 50 21 3~M8
3H-15 A8 | M130x2 | M115x2 M130x2 M100x2 6~M20 30 24 63 | 165 43 49.75 19.75 775 722 | 62 2550r22 | 6~M16
3H-15 | A1l M130x2 M130x2 6~M20 30 28| 63 | 165 43 49.75 19.75 77.5 722 | 62 2550r22 | 3~M10
3H-18 | All M130x2 M130x2 6~M20 31 29 63 165 43 835 205 775 722 62 2550r22 3~M10

AT EBEIES 3H-A BLZF3% (The dimensions and the specifications of 3H-A type are in red data.)

3 AUTOGRIP



=S8 /)R e

THRU-HOLE POWER CHUCK

A 2H/2H-A

B ZMAEEAR - HRIEE RPN -

B mIOLEERBERNE - WEERS -

SHMtEBRSRFEE -

WEDGE-HOOK type 2-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J ERELIZERBRR TR AL,

K Default (B4 RIEEFRIE 2 HK(E,

K max B4 E 45 IRIE A BB RUE T 2 RAFRAE, PR BEIRRS
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

3
7
x
G|

u=

HESS

Serration Pitch

& .
G H i M HreEfE 1.5 "TS“
RSP 1T
8 EER oF T
S] 4
2H-208 A5 £ o« @
2H-15 A8 I - L @,
Refer to Fig.A o
SRIE A 8 @
Subject to technical changes — 5 JLL
i #Ai#R#% SPECIFICATIONS 2H-A ~ 2H2A 2H~2H2
e monR | (oE RRE smmxon | mxwesn  BmEEE EE  ERESE  BARAES
— Pgl#g gr Ja\Evaggke l?/liaji ﬁﬂ\ Max. D.B. pull Clam’;\)/:i;.force Max. speed M?:]Z?t?;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
2H-204 A4 13 5.5 113 7 9.2(940) 19.4(1980) 8000 0.012 | 42 48 TK-A528 1.3(13)
2H-205 | A4 13 515 138 10 11.4(1167) 32(3260) 7000 0.02 6.8 | 7.6 | TK-A533 1.6(16)
2H-206 @ A5 14 6 170 13 15.5(1580) 44.4(4530) 6000 0.06 13.1 | 149 | TK-A646 1.6(16)
2H-208 @ A5 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 | 21.3|24.2| TK-A853 1.8(18)
2H-208 | A6 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 1 21.3| 224 | TK-A853 1.8(18)
2H-210 A8 21 8.9 260 37 32.9(3355) 101.9(10385) 4500 0.31 | 33.5|36.2 TK-A1075 2.2(22)
2H-12 A8 23 10.6 304 34 36.7(3740) 95.8(9780) 3300 0.70 1 59.7 62.7  TK-A1291 1.7(17)
2H-15 A8 23 10.6 381 50 46.9(4790) 119.6(12200) 2500 2.42 115 | 129 | TK-A1512 1.5(15)
2H-15 A1l 23 10.6 381 50 46.9(4790) 119.6(12200) 2500 2.34 115 | 122 TK-A1512 1.5(15)
4MEIR<T DIMENSIONS
Model A B C D D1 D2 E El F G max. G min. H J
2H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 | 315 -95 185 | 175 12
2H-205 A4 | 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
2H-206 | A5 | 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
2H-208 A5 210 91 109 170 133.4 82.56 104.8 5) 23 66 16,5 | 395 | -15 | 21.5 20 30
2H-208 | A6 | 210 91 103 170 133.4 106.38 150 5 17 66 165 335 -15 | 155 20 30
2H-210 A8 | 260 102 115 220 171.4 139.72 190 5) 18 86 105 | 28.5 | -10.5| 7.5 25 45
2H-12 | A8 | 304 110 122 220 171.4 139.72 190 6 18 91 8 26 -15 3 28 50
2H-15 | A8 | 381 133 160 300 235 139.72 171.4 6 83 120 11 44 -12 21 39 60
2H-15 | A11| 381 133 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60
Model K max. K Default L L1 M N P | Qmax. | Qmin. Rmax. Rmin. | S T U
2H-204 | A4 M38x1.5 M32x1.5 4~M10 16 | 15 24 |52 14| 1275 6.75 25 | 2225 23 10 3~M10
2H-205 A4 M45x1.5 M40x1.5 4~M10 145145 31 | 62 14 | 20.25  6.75 | 29.5 | 26.75 25 10 3~M6
2H-206 @ A5 M60x2 M55x2 6~M10 16 @ 16 37 73 |20 2275 | 9.25 36 33 31 12 3~M6
2H-208 | A5 M75x2 M60x2 6~M12 | 17 | 18 1 38 | 95 | 25| 23.7 | 10.2 | 45.7 | 419 | 35 14 6~M10
2H-208 @ A6 M75x2 M60x2 6~M12 17 | 15 38 | 95 25| 23.7 102 | 457 | 419 35 14 3~M6
2H-210 A8 M95x2 M85x2 6~M16 20 22 43 110 30| 322 12.7 | 56.5  52.05 40 16 3~M8
2H-12 | A8 M100x2 M100x2 6~M16 = 23 | 25 51 130 30 458 | 158 | 61.3 56 | 50 21 3~M8
2H-15 | A8 | M130x2  M115x2  M130x2 | M100x2  6~M20 | 30 @24 | 63 165| 43 473 | 182 80 74.7 | 62 2550r22 6~M16
2H-15 A1l M130x2 M130x2 6~M20 30 @ 28 63 |165 43| 47.3 182 80 74.7 | 62 25.50r22| 3~M10

A EEIES 2H-A. 2H-2A B ZF3% (The dimensions and the specifications of 2H-A. 2H-2A type are in red data.)

AUTOGRIP 4



=S8 /)R e

THRU-HOLE POWER CHUCK

BENE

B MAE BAK

@
&

J EREGRERERBITRZFLE.
K Default B2 RIEERE Z HEK(E.

K max {EAE SR8 A B RUR ST 2 AR, AR E RS

J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K is the maximum thread specification and it could be customize.

- BRIBES RPN -
BERBEBIE  LEEBE -

SHMtEBRSRFEE -
WEDGE-HOOK type 4-jaw with the large through-hole.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

$TH,

4H-208 A5 G Serration Pitch
4H-210 A6 E1 G,  H _ M HEE 15 S
4H-15 A8 U \ i g —"
Refer to Fig.A == B
25E A 5 Nl s ﬂ, T &
§ = 1 I s &
!': L =] o @ @
g8 B < £ N = B B
g s °| 8 NN NN
) g o SR
Fig.A L/ )
A L1 B L E .
B
1RBIARIELB1EF Subject to technical changes
pre 4H-A ~ 4H-2A 4H ~ 4H-2
FR1E SPECIFICATIONS —_— _—
e S g=rE 4742 TEFEE o = Sy = o =
Bk BRUTE | Him  chuckngDia | SHEAN | BAKES  REDEH ! B8 BREHLI  RAERES
Plunger = Jaw stroke | A | &=/ Max. Clamping Moment of )
. droke (Dia.) Max. | Min. Max. D.B. pull — Max. speed . Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
4H-206 @ A5 14 6.0 170 13 23.2(2375) 66.7(6810) 5000 0.06 125 16.7 | TK-C646 2.5(25)
4H-208 A5 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 | 25.4 | TK-A853 2.8(28)
4H-208 A6 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 | 243 | TK-A853 2.8(28)
4H-210 A6 21 8.9 260 @ 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 44 | TK-A1075 3.2(32)
4H-210 | A8 21 8.9 260 @ 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 42.3 | TK-A1075 3.2(32)
4H-12 | A8 25 10.6 304 | 34 54.9(5600) 143.6(14650) 2700 0.77 62 65.7 | TK-A1291 2.5(25)
4H-15 | A8 23 10.6 381 50 71(7250) 179.8(18350) 2000 2.5 123.7  137.7 | TK-A1512 2.3(23)
4H-15 | All 23 10.6 381 50 71(7250) 179.8(18350) 2000 2.42 123.7 | 130.7 | TK-A1512 2.3(23)
4H-18 | All 23 10.6 450 | 50 71(7250) 179.8(18350) 1700 4.85 170 184 | TK-A1512 2.3(23)
5MELR'<F DIMENSIONS
Model A B c D D1 D2 E El F G max. G min. H J
4H-206 | A5 | 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
4H-208 A5 | 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 395 | -15 | 215 | 20.5 30
4H-208 A6 | 210 91 103 170 133.4 106.38 150 5 17 66 16,5 | 335 | -15 155 205 30
4H-210 A6 | 260 102 | 122 220 171.4 106.38 133.4 5 25 86 105 | 35,5 | -10.5 | 14.5 25 45
4H-210 A8 | 260 102 | 115 220 171.4 139.72 190 5 18 86 105 | 285 -105 75 25 45
4H-12 | A8 | 304 110 | 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
4H-15 | A8 | 381 133 | 160 300 235 139.72 171.4 6 33 120 11 44 -12 21 39 60
4H-15 A11| 381 133 | 149 300 235 196.87 260 6 22 120 11 88 -12 10 39 60
4H-18 A1l 450 133 | 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. S T U
4H-206 | A5 M60x2 M55x2 4~M10 16 16 37 73 | 20 21.25 9.25 36 33 31 12 3~M6
4H-208 A5 M75x2 M60x2 4~M12 |17 |18 | 38 | 95 | 25 | 23.7 | 10.2 | 45.7 | 419 | 35 14 6~M10
4H-208 @ A6 M75x2 M60x2 4~M12 17 15 38 95 25 23.7 | 10.2 457 419 35 14 3~M6
4H-210 A6 M95x2 M85x2 4~M16 20 18 43 110 30  32.2 | 12.7 56.5 52.05 40 16 6~M12
4H-210 | A8 M95x2 M85x2 4~M16 20 22 43 110 30 32.2 | 12.7 56.5 52.05 40 16 3~M8
4H-12 | A8 M100x2 M2100x2 4~M16 | 23 25 |51.3 130 30 44.75 14.75 61.3 56 | 50 21 3~M8
4H-15 | A8 | M130x2 | M115x2 | M130x2 M100x2 & 4~M20 30 24 63 165 43 475  20.5 80 | 74.7 | 62  25.50r22  6~M16
4H-15 A1l M130x2 M130x2 4~M20 | 30 | 28 | 63 165| 43 | 47.5 205 80 | 74.7 | 62 | 25.50r 22 | 3~M10
4H-18 | All M130x2 M130x2 4~M20 30 28 63 165 43 835 205 80 74.7 | 62 | 25.50r22 | 3~M10

AL EBEES 4H-A BLZ<F7% (The dimensions and the specifications of 4H-A type are in red data.)
AUTOGRIP




VE

o B =TUNBUPEIREE - )
o BEEMIKELKBERINE WEHEES - A
o BAMFANSE FEIER - §
® WEDGE-HOOK type 3-jaw mini power chuck. =
® Matching surfaces of all parts hardened, ground and lubricated directly.
® Suitable for bench lathe.
3~M8x20L
3 35 22/
Nl |
(=] -
L ‘ s
max.15 7‘%771F:§7W oo
min. 5 i Ng| 2
M8x40L oo
_ ® =
[To] e < © S E
[¢) g WO N o -
Q| K| 9 §
Q
—
3~M8x35L
1"
36
RBIMAEERBOIER)
Subject to technical changes
M SPECIFICATIONS
3 mose | TOE PWEE skmaon  skmsn  emoem BE  ERENE  BAGRES
Plunger L RAK RN Max. Clamping Moment of )
— e Jaw stroke (Dia.) Max. | Min. Max. D.B. pull o Max. speed . Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min® (r.p.m.) kg * m? kg MPa (kgf/cm?)
3P-03 10 4.6 85 3 4.5(460) 11.3(1150) 7000 0.004 1.8 RK-75 1.2(12.4)
B 2 ¥4 Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03
=
= - ——
| | |
l
11
40
Mounting Hole 20
MBIRZ4F, [——‘
/ [
| I { I
‘ © \ \ \
0| v I A ‘ ‘ \
MR | .
1 anTs
‘ [ 0
1 ‘ [ [fo}
!
896

AUTOGRIP ©



BEFAOXE(Z = MR
A 3p[3P-A EREREE (=) "

o =P EGE -
o BEHIILIELEBERIFE WEEEES -
o SHIUAEBRSRFEE -
® WEDGE-HOOK type 3-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
3P-08A5 H_,. G M H G E1 H G M, HEE 1S S
3P-10A6 U | o
3P-12A6 P I | HH o1
Refer to Fig.A Eij!, a . L T ALl
25E A H E:i, orz 8‘ g,g :I: jLI o z
o EL N e Jslg] [z ‘ = x
a (T — [T 1 —
U | T T -
Qiﬂ 74LL Te—— L H S &I B H Iét
% S @7 |
I K K —
L § : Eﬂ*g s %} %l 8 S
Ly — <| O — b1 r—t A\
¥ g\ —— 8| § 771 S8l 7 ?
Fig.A L/ )| e L/ B L/ _J|E S8 AT
A B B
RLIPARERIER 3P-04,3P-05 3P-A 3P
Subject to technical changes
M SPECIFICATIONS
= g miT#2 TRER —— = - - T RAEA
1) =] e =) =
Rlgk BT (B8  Chucking Dia. BHRANT BRI REIOEE I 3 plzzhEk s han B
Jaw stroke = A | &/ Max. Clamping Moment )
. Plunger stroke (Dia) Max. | Min. Max. D.B. pull o Max. speed o Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™® (rp.m.) | kg * m? kg MPa (kgf/cm?)
3P-04 15 69 | 110 5 8.1(830) | 22.5(2300) 6000 001 41 - R0 Zd?é(zg))
3P-05 15 69 | 135 14  81(830) 25(2550) 5500 002 | 62 | - | RETSO) Zd_zééz))
RK-100(N) 2.6(26)
3P-06 A5 20 9.2 165 | 16 | 17.9(1830) 52.4(5350) 5250 0.05 13 14 RA170 0.6(6)
RK-125(N) 2.3(23)
3P-08 A5 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 | 28 e 0.55)
RK-125(N) 2.3(23)
3P-08 | A6 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 | 27 RA.220 0.505)
RK-125(N) 2.6(26)
3P-10 A6 25 8.8 254 24 28.9(2950) | 107.8(11000) 4000 0.3 35 42 RA.220 0.6(6)
RK-125(N) 2.6(26)
3P-10 A8 25 8.8 254 24 28.9(2950) | 107.8(11000) 4000 0.3 35 40 RA.220 0.6(6)
RK-150(N) 2.6(26)
3P-12 A6 30 10.5 304 24 41(4180) 155.8(15900) 3360 0.73 59 65 RA-270 0.8(8)
RK-150(N) 2.6(26)
3P-12 A8 30 10.5 304 24 41(4180) 155.8(15900) 3360 0.73 59 63 RA-270 0.8(8)
SR ~F DIMENSIONS
Model A B C D D1 D2 E E1 F G max. G min. H J
3P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 - 80 100 - - 7 - - 9 - -6 - 35 28
3P-06 | A5 165 74 84 140 | 104.8 82.56 116 5 15 21 1026 876 826 676 35 34
3P-08 A5 210 85 103 170 | 133.4 | 82.56 | 104.8 5 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170 = 133.4 106.38| 150 5 17 25 127 110 106 89 36 38
3P-10 A6 254 89 109 220 | 171.4 | 106.38| 133.4 5 25 34 158 88 133 108 36 45
3P-10 | A8 | 254 89 102 220 | 171.4 139.72| 190 5 18 34 158 140 133 115 36 45
3P-12 | A6 304 106 125 220 | 171.4 106.38| 133.4 6 25 34 163 138 133 108 36 50
3P-12 | A8 | 304 106 118 220 | 171.4 139.72| 190 6 18 34 163 145 133 115 36 50
Model K L L1 M N P Q max. Q min. R max. R min. S T U
3P-04 M10x1.5 | 3~M8 12 - 24 52 14 11.2 6.7 23.6 20.15 23 10 -
3P-05 M12x1.75 | 3~M8 14 - 31 62 14 15.7 5.2 30.4 26.95 25 10 -
3P-06 A5 | M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 | 33.65 31 12 3~M6
3P-08 | A5 M20x2.5 6~M12 20 17 38 95 25 2525 @ 11.75 46.3 | 41.45 35 14 6~M10
3P-08 A6 M20x2.5 6~M12 @ 20 18 38 95 25 2525  11.75 46.3 = 41.45 35 14 3~M6
3P-10 A6 M20x2.5 6~M16 18 18 43 110 30 35.25 | 12.75 51.1 46.7 40 16 6~M12
3P-10 | A8 M20x25 6~M16 18 25 43 110 30 35.25 | 12.75 51.1 46.7 40 16 3~M8
3P-12 A6 M20x2.5 6~-M16 @18 18 51 130 30 48.75 | 12.75 61 55.75 50 |18o0r21| 6~M12
3P-12 | A8 M20x2.5 6~M16 @18 25 51 130 30 48.75 | 12.75 61 55.75 50 |18o0r21 3-M8

AL EBEES 3P-A BUZ<TIE (The dimensions and the specifications of 3P-A type are in red data.)
7 AUTOGRIP



= AEE (= =MERFEE
A 3P[3P-A FRBEE(=) e

B =MpEEE -

BENEOLEEREEME  THEEEE -

SHEE RS RFEFEE -

WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

3
7
x
G|

u=

Serration Pitch #FEEEE
3P-215,3P-218 : 1.5

3P-215A8 3P-221,3P-224 : 3.0 '—M»‘
3P-221A8 -
3P-221A11 77730
3P-224A11 CHL
Refer to Fig.A o
SBIE A T o
H, G
ET o | |
S g of T
o U 853 -
SN T 8 )
- K/ L1 S
4 .
L/ L *LE
L1 B g B
I [a5°)
Fig.A 3P-2A 3P-2 3P-215,3P-218 3P-221,3P-224
EA
REIREHEONRE

Subject to technical changes

R iR & SPECIFICATIONS

" e | IR | KREE | aue o - = - o
it BT (E}Ig) Ghiickihgibla) BEFRANS RARE N R OEE I EE BRACHEI | SAEREN
Plunger | Jaw stroke | &K | &/)\ Max. Clamping Moment of )
Model stroke (Dia.) Max. Min. v DL (2l force Rlatipee. inertia Weight Matching cyl. RS, (SRS
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
3P-215 | A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 | 122.4 RH-200 or 2.8(28)
RK-200(N)
RH-200 or
3P-215 | A1l B85 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 116 2.8(28)
RK-200(N)
3P-218 All 35 16 450 60 82(8360) 249(25400) 2800 2.32 124 130 RH-200 or 2.8(28)
) RK-200(N) )
3P-221 | A8 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 200 RH-200 or 2.8(28)
) ) RK-200(N) ’
RH-200 or
3P-221 All 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 194 2.8(28)
RK-200(N)
RH-200 or
3P-224 A1l 35 16 610 | 152 82(8360) 272.6(27800) 1750 7 230 |246.28 RK-200(N) 2.8(28)
RH-200 or
3P-224 | A15 35 16 610 @ 152 82(8360) 272.6(27800) 1750 7 230 | 238.6 2.8(28)
RK-200(N)
4MUR~T DIMENSIONS
Model A B © D D1 D2 El G max. G min. H J K

3P-215 | A8 | 381 114 141 300 235 139.72 | 171.4
3P-215 |All| 381 114 130 300 235 196.87 260
3P-218 All| 450 114 130 300 235 196.87 260
3P-221 | A8 | 530 125 152 380 330.2 | 139.72 @ 1714
3P-221 |A11| 530 125 146 380 330.2 | 196.87 235
3P-224 | A1l 610 125 146 380 330.2 | 196.87 235
3P-224 |A15 610 125 146 380 330.2 | 285.78 | 330.2

33 104 | 71 69 36 55 60 M30x3.5
22 104 @ 82 69 a7 55 60 M30x3.5
22 92 70 57 35 55 60 M30x3.5
& 97 64 62 29 55] 60 M30x3.5
27 97 70 62 35 55 60 M30x3.5
27 97 70 62 35 55 60 M30x3.5
27 97 70 62 35 55 60 M30x3.5

O
émmmmmmmm

Model L L1 M N P Q min. R max. R min. S) T U
3P-215 A8 6~M20 30 24 63.3 165 43 51.25 18.25 77.5 69.5 62 255 6~M16
3P-215 A11 6~M20 30 & 63.3 165 43 51.25 18.25 77.5 69.5 62 2515 3~M10
3P-218 | All 6~M20 35 33 63.3 165 43 52.75 18.25 108 100 62 255 3~M10
3P-221 | A8 6~M24 31 24 71 180 60 96.5 245 86 78 65 25 6~M16
3P-221 | A1l 6~M24 31 28 71 180 60 96.5 24.5 86 78 65 25 6~M20
3P-224 | A1l 6~M24 31 28 71 180 60 96.5 24.5 125 117 65 25 6~M20
3P-224 A15 6~M24 31 34 71 180 60 96.5 24.5 125 117 65 25 3~M12

A EEIES 3P-A B2 3K (The dimensions and the specifications of 3P-A type are in red data.)

AUTOGRIP 8



= ISIE] “MeEPEE
A 2p/2P-A FEDIE

o ME_MPERE -
o REEIISWERBEME WEBMESE -
o SHIUtFEBRSRIFIEE -
® WEDGE-HOOK type 2-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
H G H G El H G M HHEE 15 _S_

2P-08 A5 i — ol o

2P-10 A6 = | vl e

Refer to Fig.A ,ziif a 5 b= kI

%F‘ﬁ] A FHHEO | o 2 8‘ Q>T [ARE L5 o

Kl | I SIRN = ——
L N v | I — = e S
su ]y o T — =
ij n 3] { [a) K a K ol L1 [a)
1 §— == < o\ Sl 2 ] S
L §J -'ig’ SIS \ 88 2P-04 Only 4 bolts
\ 2P-05 (#4381
L1 L/ Ll |E L/l B L/ _lE
) B B
Fig.A
A 2P-04 ~ 2P-05 2P-A 2P
REBREIER AR
Subject to technical changes
BTG SPECIFICATIONS
9 = miTi2 TAFER St = =y = N =
1) {=] o =]
g BOBR | B congbia | BIFRANS  BAKEH | EHEHH 8 ERERE | RAERE.
Plunger | Jawstroke | A = &/ Max. Clamping Moment of )
T dtroke (Dia) Max. | Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg *m? kg MPa (kgf/cm?)
RK-75(N) 1.5(15)
2P-04 15 6.9 110 5 5.3(540) 14.7(1500) 6000 0.01 38 - RA-130 0.4(4)
RK-75(N) 1.5(15)
2P-05 15 6.9 135 14 5.3(540) 16.7(1700) 5500 0.02 518N RA-130 0.4(4)
RK-100(N) 1.7(17)
2P-06 A5 20 9.2 165 14 12(1220) 35(3570) 5250 0.04 12 | 13 RA-170 0.4(4)

i RK-125(N) 1.5(15)
2P-08 A5 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 26 RA.220 0.4(4)

y RK-125(N) 1.5(15)
2P-08 A6 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 25 RA-220 0.4(4)

RK-125(N) 1.8(18)
2P-10 A6 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 42 RA-220 0.4(4)

i RK-125(N) 1.8(18)
2P-10 A8 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 40 RA-220 0.4(4)
2P-12 A8 30 10.5 304 22 27.4(2800) 103.9(10600) 3360 0.70 57 | 61 = RK-150(N) 1.7(17)
2P-15 All 35 16 381 50 54.9(5600) 164.6(16800) 3000 1.70 96 | 103 | RK-200(N) 1.9(19)

SNEYR~F DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
2P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
2P-05 135 55 - 80 100 - - 7 - - 9 - 6 - 35 28
2P-06 A5 | 165 74 | 84 140 104.8 82.56 116 5 15 21 102.6 | 87.6 82.6 67.6 35 34
2P-08 A5 | 210 85 | 103 | 170 133.4 82.56 104.8 5 23 25 127 104 106 83 36 38
2P-08 A6 | 210 85 97 170 133.4 | 106.38 150 5 17 25 127 110 106 89 36 38
2P-10 A6 | 254 89 | 109 | 220 171.4 | 106.38 | 133.4 5 25) 34 158 133 133 108 36 45
2P-10 A8 | 254 89 102 @ 220 171.4 | 139.72 190 5 18 34 158 140 133 115 36 45
2P-12 A8 | 304 | 106 | 118 @ 220 1714 | 139.72 190 6 18 34 163 145 133 115 36 50
2P-15 A1l 381 | 114 130 | 300 235 196.87 260 6 22 - 104 82 69 47 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S T U
2P-04 M10x1.5 4~M8 12 - 24 52 14 11.3 8.3 23.3 20.15 23 10 -
2P-05 M12x1.75 4~M8 14 - 31 62 14 185 6 304 26.95 25 10 =
2P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 | 33.65 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 22.3 11.8 46.3 41.45 35 14 6~M10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 22.3 11.8 46.3 41.45 35 14 3~M6
2P-10 A6 M20x2.5 6~M16 18 18 43 110 30 30.8 11.3 (Silodl 46.7 40 16 6~M12
2P-10 A8 M20x2.5 6~M16 18 25 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M8
2P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.5 12.5 - - 50 |18 o0r21| 6~M8
2P-15 All | M30x3.5 6~M20 30 33 63 165 43 48.8 23.3 77.5 69.5 62 255 | 3~M10

A1 EIES 2P-A B2 <% (The dimensions and the specifications of 2P-A type are in red data.)
9 AuTOGRIP



=Mepzssy

HER/MITIZE) /12K

EXTRA LONG JAW STROKE POWER CHUCK

A 3L/3L-A

AR = TBAE B AL - BRMTE -

R MOLEERBENE - WEEESE -

SRR REEE -

CRANK type 3-jaw with the large through-hole and extra long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREASIRIERERB TR ALK,

K max B 7B 45 1218 o] BE SR OF 7 SR KFRAK, AT R B PR S
J is the hole diameter of blank draw nut .

K is the maximum thread specification and it could be customize.

3
7
x
G|

u=

EIEN

3L-208 A5 Serration Pitch
3L-210 A6 G HeElE 1.5 s
3L-215 A8 7 M
Refer to Fig.A Et G H —
2HE A U ‘ T 1
—— —| o o
o i ot 2
- J SN T
e ={ I
S8l s
IREBIRIEIEBUBIIEF] Subject to technical changes
5424 SPECIFICATIONS 3L-2A 3L-2
g e | e PIVEE | ammkan BAKSH | BEEEH EE  EREHE  BAERAES
(B) Chucking Dia.
mm mm mm mm kN (kgf) kN (kgf) mini(rp.m.) = kg * m? kg MPa (kgf/cm?)
3L-205 | A4 12 18 138 6 15.6(1590) 17.2(1750) 4200 0.019 7.2 8 TK-A533 2.3(23)
3L-206 @ A5 15 24 170 24 23.5(2400) 26.0(2650) 3600 0.063 | 14.7 | 15.9  TK-C646 2.7(27)
3L-208 | A5 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 25.7  TK-A853 2.8(28)
3L-208 @ A6 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 24.6 | TK-A853 2.8(28)
3L-210 @ A6 25 375 260 53 47.7(4870) 48.0(4895) 2400 0.35 1 39.5| 46.5 | TK-A1075 3.1(31)
3L-210 | A8 25 37.5 260 53 47.7(4870) 48.0(4895) 2400 0.35 | 39.5| 45 | TK-A1075 3.1(31)
3L-212 | A8 30 45 315 61 64.7(6600) 61.0(6220) 2100 0.827 67.3| 70.5 TK-A1291 3.0(30)
3L-215 | A8 & 52 405 52 84.3(8600) 85.0(8665) 1600 258 | 139 | 152 | TK-Al1l512 2.7(27)
3L-215 A1l 35 52 405 52 84.3(8600) 85.0(8665) 1600 258 | 139 | 145 | TK-A1512 2.7(27)
4MYR~T DIMENSIONS
Model A B © D D1 D2 E E1l F G max G min. H J
3L-205 A4 | 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
3L-206 A5 | 170 84 97 140 104.8 | 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20
3L-208 A5 | 215 96 114 | 170 133.4 | 82.56 | 104.8 5 23 52 7 30 -13 10 20 30
3L-208 A6 | 215 96 | 114 | 170 133.4 | 106.38 150 5 23 52 30 -13 10 20 30
3L-210 A6 | 260 | 108 128 @ 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45
3L-210 A8 | 260 | 108 | 121 | 220 171.4 | 139.72 190 5 18 75 8.5 26.5 | -16.5 1.5 25 45
3L-212 A8 | 315 | 125 138 @ 220 171.4 | 139.72 190 5 18 91 15 33 -15 3 30 50
3L-215 A8 | 405 | 150 | 177 | 300 235 139.72 | 171.4 6 83 120 125 | 455 | -225 | 10.5 39 60
3L-215 A1l | 405 & 150 166 | 300 235 196.87 260 6 22 120 125 | 345 | -225  -05 39 60
Model K max. L L1 M N P Q max. Q min. R max. R min. S T U
3L-205 A4 M40x1.5 3~M10 15 15 31 62 14 15.75 5.25 385 29.5 25 10 3~M6
3L-206 A5 M55x2 3~M10 18 | 15 37 73 20 15.25 7.75 5l 39 31 12 3~M6
3L-208 A5 M60x2 3~M12 18 19 38 95 25 19.25 | 10.25 63.5 47.5 35 14 6~M10
3L-208 A6 M60x2 3~M12 18 | 20 38 95 25 19.25 | 10.25 63.5 475 35 14 3~M6
3L-210 A6 | M85x2 M60x2 3~M16 24 20 43 110 30 2475 | 11.25 80 61.25 40 16 3~M12
3L-210 A8 M85x2 3~M16 24 | 21 43 110 30 2475 | 11.25 80 61.25 40 16 3~M8
3L-212 A8 M100x2 3~M16 24 21 51 130 30 29.75 | 13.25 96.5 74 50 21 3~M8
3L-215 A8 M130x2 6~M20 33 | 275| 63 165 43 34.75 | 13.75 119 93 62 255 | 6~M16
3L-215 A1l M130x2 6~M20 33 31 63 165 43 34.75 | 13.75 119 93 62 255  3~M10

AT IR 3L-A BLZ~1IE (The dimensions and the specifications of 3L-A type are in red data.)

autocrip 10



HER/NITIZE) /12858

EXTRA LONG JAW STROKE POWER CHUCK

HIRE T TEBAEEAKE - BRMTE -

R mOLEERBERNE - WEEEE -

SHEEBRESREBE -

CRANK type 2-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J ERELIZERERIBFRZ AL,

K max B4 E 45218 A B RUR T 2 RARRAE, AR EBIRES
J is the hole diameter of blank draw nut,

K is the maximum thread specification and it could be customize.

EIEEN

ZMe=E

G Serration Pitch
] 5
1 G H M PrEEEE 15 s
2L-15A8 v WH»
Refer to Fig.A = f
288 A g | n il I
~ {\ 18 €]
[\ © 7 ny
K x
a | A T
Q o = L
[aja] O ﬂ Q
SIS S}
LlP— )
e S
|
/T wal
L1 B L E
B
2L-A 2L
Serration Pitch —
BrEEEE 15
2L-208A5 G M
2L-210A6 e G_ .H
Refer to Fig.B E1 T I
2@ B U e
— -7 a
S B2 o Z
~ K \
~ By |
© o
T L
S O WT [
9 SIT j N
Ay —= S
|
L/ |
L1 B L E
B
2L-2A 21-2
REGHREBBIIEF) Subject to technical changes
M SPECIFICATIONS
)2 p— MiT#2 TEFER i e = R = v o = -
B BOTR  HiH  chakmgpia | FHEANT | BAKSH | BEOEE EE  EREHE | BAEAES
Jaw stroke | |RA | &=/ Max. Clamping Moment of )
Model Plunger stroke (Dia.) Max.  Min. Max. D.B. pull . Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) = kg * m? kg MPa (kgf/cm?)
2L-205 A4 12 18 138 6 10.4(1060) 11.4(1170) 4200 0.018 6.9 | 7.7 TK-A533 1.5(15)
2L-206 A5 15 24 170 24 15.7(1600) 17.3(1760) 3600 0.063 | 14.4 15.6 TK-C646 1.8(18)
2L-208 A5 20 32 215 30 22.9(2330) 27.1(2760) 3000 0.173 22 26 TK-A853 1.9(19)
2L-208 A6 20 32 215 30 22.9(2330) 27.1(2760) 3000 0.173 22 | 24.2 | TK-A853 1.9(19)
2L-210 A6 25 37.5 260 53 31.8(3250) 37.3(3800) 2400 0.33 40 455 TK-A1075 2.1(21)
2L-210 A8 25 37.5 260 53 31.8(3250) 37.3(3800) 2400 0.33 40 @ 44 | TK-A1075 2.1(21)
2L-12 A8 30 45 304 30 43.1(4400) 50.0(5100) 2100 0.8 60 | 65.5| TK-A1291 2.0(20)
2L-15 A8 35 52 385 26 56.2(5730) 53.0(5400) 1600 2.52 133 | 147 | TK-A1512 1.8(18)
2L-15 All 35 52 385 26 56.2(5730) 53.0(5400) 1600 2.52 133 | 140 | TK-A1512 1.8(18)

A EBEEA 2L-A BLZ~TIE (The dimensions and the specifications of 2L-A type are in red data.)

11 AutocriP




- BRN{TIE8) 17K EE Gt
’ 2'-/ 2L-A EXTRALONG JAW STROKE POWER CHUCK

SMNEUR T DIMENSIONS

Model A B C D D1 D2 E El F G max. G min. H J %;J
2L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12 35
G}
u=

2L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 245 -8.5 9.5 19 20

2L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30

2L-208 A6 | 215 96 | 114 170 133.4 | 106.38 150 5 23 52 7 30 -13 10 20 30

2L-210 A6 | 260 | 108 @ 128 @ 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 | -16.5 8 25 45

2L-210 A8 260 | 108 @ 121 = 220 171.4 | 139.72 190 5 18 75 85 | 265 | -165 | 15 25 45

2L-12 A8 = 304 | 127 | 140 @ 220 171.4 139.72 190 5 18 91 15 33 -15 3 28 50

2L-15 A8 | 385 | 150 | 177 | 300 235 139.72 171.4 6 33 120 | 125 | 45,5 | -225 | 105 39 60

2L-15 All | 385 | 150 @ 166 = 300 235 196.87 260 6 22 120 125 | 345 -225  -05 39 60
Model K max. L L1 M N P Qmax.  Qmin. | Rmax. = Rmin. S T U
2L-205 A4 M40x1.5 4~M10 15 | 15 31 62 14 | 1575 | 5.25 38.5 29.5 25 10 3~M6
2L-206 A5 M55x2 4~M10 18 | 15 37 73 20 | 1525 7.75 51 39 31 12 3~M6
2L-208 | A5 M60x2 4~M12 18 | 19 38 95 25 | 19.25 | 10.25 635 47.5 35 14 6~M10
2L-208 | A6 M60x2 4~M12 18 | 20 38 95 25 | 19.25  10.25 635 47.5 85 14 3~M6

2L-210 A6 | M85x2 | M60x2 4~M16 24 20 43 110 30 | 2475  11.25 80 61.25 40 16 6~M12

2L-210 A8 M85x2 4~M16 24 21 43 110 30 | 2475  11.25 80 61.25 40 16 3~M8
2L-12 A8 M100x2 6~M16 22 19 51 130 30 | 46.25  19.25 7 54.5 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 | 275 | 63 165 43 | 51.25 | 27.25 94.25 § 68.25 62 2585 6~M16
2L-15 All M130x2 6~M20 33 31 63 165 43 | 51.25 | 27.25 94.25 68.25 62 25.5 3~M10

A EBEIEA 2L-A BLZ~TIE (The dimensions and the specifications of 2L-A type are in red data.)
AUTOGRIP 12



HBEMNITIES HKEE B TirhER

EXTRA LONG JAW STROKE POWER CHUCK

HIRELEE M E2eE - BR/NITE -

BRRGEEER T HAIIE -

SHMEBRSREBE -

CRANK type single-jaw with the large through-hole and extra long jaw

9‘ stroke.
! ® Suitable for clamping the jig or irregular work piece.

® High rigidity and high clamping accuracy.

Serration Pitch

ol
c Gﬁhﬂlﬁﬁ 15 M
- — <
1L-08A5 3~U X #r —
1L-10A6 < o el e
Refer to Fig.A %Eéﬂ' E o
SHIE A ~, P Bl
8 N H ‘ A o
I L
S j o nﬂ{
— o oL _<|O|5| 5| W
SN 8 ®© Qe8| 8 E
Sy =
| K
t 1 -
AT
L1 B |
L1 i
=1 B (fro balance weight) T =+
~ REL L *
Fig.A -
RERRAEHEONR A 1L-A 1L
Subject to technical changes _
F 3R SPECIFICATIONS
e muAR | R JUHT amExAn  BAKESH  EmEEH R ERENE  BAGRES
Plunger &R | &I Max. Clamping Moment of )
Model stroke Ay e Max. Min. Wikwe DL ol force Wik SppeEd inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? ki MPa (kgf/cm?)
1L-06 | A5 20 16 168 5 12.3(1250) 27.3(2780) 3800 0.05 125 | 14.3 RK-100 1.7(17.5)
1L-08 | A5 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 | 271 RK-125 1.4(14.3)
1L-08 | A6 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 | 253 RK-125 1.4(14.3)
1L-10 | A6 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 46 RK-125 1.9(19.5)
1L-10 | A8 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 443 RK-125 1.9(19.5)
4MEIR~T DIMENSIONS
Model A | Al B © D D1 D2 E F | Gmax. Gmin.  H J Ji K max. L L1

1L-06 | A5 168 9.5 | 80 90 | 140 104.8 82.56 116 15 21 37 17 25 46 54 ' M30x1.5 M10 | 16 @16

1L-08 | A5 215 8 | 93 | 111 | 170 |133.4 | 82.56 | 104.8 | 23 21 46 21 32 52 70 | M33x15 M12 21 | 19

1L-08 A6 215 8 93 105 170 133.4 106.38 150 17 21 46 21 32 52 70 H M33x1.5 M12 | 21 @ 20
1L-10 | A6 | 254 ' 13.5| 108 128 | 220 | 171.4 | 106.38 | 133.4 | 25 30 47 17 30 62 90 | M45x15 M16 | 25 | 20
1L-10 A8 254 135 108 121 220 171.4 139.72 190 18 30 a7 17 30 62 90  M45x1.5 M16 | 25 @27

Model M N P Qmax. | Qmin. R max. R min. S T U V(H6) V1(h9) V2 w w1 X Y Z
1L-06 A5 37 | 73 | 20  19.75 @ 7.75 46 30 31 | 12 M6 30 15 45 64 MI10 445 36 | 30
1L-08 A5 38 | 95 | 25 2525 10.25 54 34 35 | 14 M10 35 18 45 70 M12 61 52 @36
1L-08 A6 38 | 95 | 25 2525  10.25 54 34 35 | 14 M6 35 18 45 70 M12 61 52 36
1L-10 A6 43 | 110 30 3375  11.25 67 43 40 16 @ M8 40 20 5 90  M12 71 585 45
1L-10 A8 43 | 110 30 3375  11.25 67 43 40 16 | M8 40 20 5 90 | M12 71 585 45

A EBEES 1L-A BLZ<TIE (The dimensions and the specifications of 1L-A type are in red data.)
13 autocrip



=G

PER/MITIENRE (—)

LONG JAW STROKE POWER CHUCK

B =M ERE - BRIITE -

REmMOLEERBENE - WEEESE -

SHEEBREREEE -

WEDGE-HOOK type 3-jaw power chuck and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch

u=

3
7
x
G|

M pEE 15 S
Iy

1 ==

el || e e

= SR o] =

A
[
L

L/ |1 B
3M-05
Serration Pitch
M HetalE 1.5 S
T ?sz* 4
H G S il
' ‘ %:‘AJ7 o] p=4
|
|
L ri\ w
; > ‘
) \ N
K a
1T s
) L
<| 8 7
Q
L E
REB RIS REIER) B
Subject to technical changes
) 3M-06~3M-12
FATHAE SPECIFICATIONS -
)2 So=ri 712 FEFERE s = ooy = ok =
B BB S cmongpa | BIRAND | BATSHN  BECER | ER EREEE  BAEAESD
Plunger | Jaw stroke | &K = Max. Clamping Moment of )
— diroke (Dia,) Max. Min. Max. D.B. pull —— Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgficm?)
3M-05 15 10.9 135 14 9.8 (1000) 23 (2350) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6 (2200) 50 (3680) 4000 0.04 12.2 RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4 (3000) 72 (7340) 3500 0.13 23.0 RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2 (4000) 102 (10400) 3000 0.3 34.3 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26 54.0 (5500) 150 (15300) 2500 0.71 59.4 RK-150(N) 3.6(36)
4MUR~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K
3M-05 135 55 80 100 7 6 -9 35 28 M12x1.75
3M-06 165 74 140 104.8 5 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 5 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
Model L L1 M N P Q max. Q min. R max. R min. S T
3M-05 3~M8 14 31 62 14 155 5 329 27.45 25 10
3M-06 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
3M-10 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
3M-12 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AuTOGRIP 14



=G

FERMITIZZRIE ()

LONG JAW STROKE POWER CHUCK

B =MPBERXRE - BRMNTE -

RBmOLE(ERBERNE - WEEEE -

SHEEERESREBE -

WEDGE-HOOK type 3-jaw power chuck and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch  HEE#E
3M-215, 3M-218 : 1.5
3M-221, 3M-224 : 3.0

-—

3M-215,3M-218 3M-221 3M-224
St e hanges
FXHTRRHE SPECIFICATIONS
my  mor R SWER 0 augion BAsn | emesn B8 ERDHI  BABRED
(ER) Chucking Dia.
Model Péltl.ll'ggzr Jav(\/Déitargke :jiz)z E;ilﬂ\ Max. D.B. pull WS fglrlzrenping Max. speed M?rli?;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3M-215 35 25.4 381 20 91.0 (9280) 158.9 (16200) 2300 1.8 96 RK-200(N) 3.0(30)
3M-218 85 25.4 450 51 91.0 (9280) 158.9 (16200) 2000 2.32 124 | RK-200(N) 3.0(30)
3M-221 35 25.4 530 53 91.0 (9280) 158.9 (16200) 1350 4.9 175 | RK-200(N) 3.0(30)
3M-224 35 25.4 610 = 160 91.0 (9280) 158.9 (16200) 1250 7.2 225 | RK-200(N) 3.0(30)
4MEIR<F DIMENSIONS
Model A B C(H6) D E F G max. G min. H J
3M-215 381 114 300 235 6 2 104 69 55 60
3M-218 450 114 300 235 6 2 92 57 55 60
3M-221 530 125 380 330.2 6 3 97 62 55 60
3M-224 610 125 380 330.2 6 3 97 62 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S] T
3M-215 M30x3.5 6~M20 30 63.3 165 43 49.75 18.25 79 66.3 62 25.5
3M-218 M30x3.5 6~M20 85 63.3 165 43 51.25 18.25 109.5 96.8 62 233
3M-221 M30x3.5 6~M24 31 71 180 60 90.5 24.5 92 79.3 65 25
3M-224 M30x3.5 6~M24 31 71 180 60 90 24 131 118.3 65 25

15 AuToGrIP




B RTUTIZREE =M
LONG JAW STROKE POWER CHUCK

B M ERE - BRIITE -

REmMOLEERBENE - WEEESE -

SHEEBREREEE -

WEDGE-HOOK type 2-jaw power chuck and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

3
7
x
G|

u=

Serration Pitch s
M BEEEEE 15

== 1
E [ e
i e
a ]E gl z
K ‘ ‘
% \‘ o
<| O
Q| Q

1

;{[
o

2M-05

Serration Pitch
M HEE 15 S

-
H ‘ & | Egﬁi g = @\E
A |«
e | = \\ c
i o g &ﬁ; ﬂ \

L »E T
) B
REB IR IEREIET)

Subject to technical changes

-

2M-06~2M-12
BHIRR1% SPECIFICATIONS —_—
w5 piire | IR BREE  amaian | BAKNSH  EHEIEH R | EEORE  BAGREH
" = () Chucking Dia. TR a5 ) ==
Plunger = Jawstroke = &®A =N Max. Clamping Moment )
Model stroke (Dia.) Max. Min. s, % (el force e see of inertia WEIgi Matching cyl. MRS [ATEESUE
mm mm mm mm kN (kgf) kN (kgf) min® (rp.m.) = kg * m? kg MPa (kgf/cm?)
2M-05 15 10.9 135 14 6.5(660) 11(1120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 14.5 165 14 14.3(1460) 24(2450) 4000 0.04 12.2 RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000) = 36.6(3730) 3500 0.13 23.0 RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22 26.1(2660) = 49.3(5030) 3000 0.30 34.3 RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670) 66(6730) 2500 0.71 59.1 RK-150(N) 2.4(24)
4MEIR~T DIMENSIONS

Model A B C(H6) D E G max. G min. H J
2M-05 135 55 80 100 7 6 -9 35 28
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5) 160 133 36 45
2M-12 304 106 220 171.4 6 70 40 46 50

Model K L L1 M N E Q max. Q min. R max. R min. S] T
2M-05 M12x1.75 4~M8 14 31 62 14 15.5 5 329 27.45 25 10
2M-06 M16x2 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
2M-08 M20x2.5 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
2M-10 M20x2.5 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
2M-12 M24x3 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AUTOGRIP 16



MV ERAPEEIRE(—)

POWER CHUCK FOR VERTICAL LATHE

=MAREHKEER

o MMEZNHERHE -
o [AtIBREMIKEE - FHAEEERARIITNER -
® WEDGE-HOOK type 3-jaw high speed power chuck.
° Sealed against swarf, chips and coolant, suitable for vertical lathe.
3v-21
Serration Pitch g&gé
oG M PR F
u El L]
\ S
"%0"1/\ ‘ E =
{ o
]I o [ .
2 gggésﬂl 8| § ==
SViioats Al R j
3V-18A8 LLV*
SV2IALL == L
etk AT :
SHE A Fig.A P el
BB C
Subject to technical changes M ﬂ
B3R SPECIFICATIONS
w meaR MOF PUERE aseiog miwsn  emEsm EE  AREME BARAES
vose e o x| | MaxDBpul | M EOIPNO v cpoeg MOVEROT | weignt | wa pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
3v-12 | A8 30 12.7 304 30 41(4180) 156(15900) 3150 0.73 0.79 629 68.7 ';Ejigg 2.6(26)
3v-15 A8 35 16 381 30 81.9(8360) 245.1(25000) 2900 1.97 2.27 105.5 128.5
3v-15 | ALl 35 16 381 30 81.9(8360) | 245.1(25000) 2900 | 1.97  2.27 105.5 127
3v-15 Al15 35 16 381 30 81.9(8360) | 245.1(25000) 2900 3.33 2.67 105.5 142
3Vv-18 A8 35 16 450 80 81.9(8360) 245.1(25000) 2600 3.33 | 3.62 132.7 155.5
3v-18 | A1l 35 16 450 80 81.9(8360) 245.1(25000) 2600  3.33 | 3.63 132.7 1545 pyk.ono 2.8(28)
3v-18 Al15 35 16 450 80 81.9(8360) | 245.1(25000) 2600 6.83 | 4.02 |132.7 165 RE-200K 3.0(30)
3v-21 All 35 16 530 62 81.9(8360) 271.6(27700) 1800 6.83  7.46 196.5 227
3v-21 | Al5 35 16 530 62 81.9(8360) | 271.6(27700) 1800  6.83 7.37 196.5 221
3Vv-24 All 35 16 610 136 81.9(8360) 271.6(27700) 1700 11.19 11.83 241.7 1272.8
3v-24 | Al15 35 16 610 136 81.9(8360) | 271.6(27700) 1700  11.19 11.73 241.7| 266
3V-32 Al15 35 16 800 136 81.9(8360) 271.6(27700) 1100 28.97 29.51 353.6 378
4MEYRST DIMENSIONS
Model A B c D D1 D2 E El F G max. G min. H J
3v-12 | A8 304 | 107 141 220 | 1714 | 139.72 @ 190 6 40 1.5 113 73 83 43 36 50
3v-15 | A8 381 | 116 | 164 300 235 | 139.72 | 171.4 6 54 15 153 99 118 64 55 60
3v-15 A1l 381 @ 116 @ 168 = 300 235 | 196.87 | 260 6 58 15 153 95 118 60 55 60
3v-15 Al5 | 381 116 | 172 380 235 285.78 | 330.2 6 62 1.5 153 91 118 56 55 60
3v-18 | A8 450 @ 116 | 164 300 235 | 139.72 | 171.4 6 54 1.5 153 99 118 64 55 60
3v-18 | A1l 450 @ 116 | 168 300 235 | 196.87 | 260 6 58 15 153 95 118 60 55 60
3v-18 | A15 450 @ 116 | 172 380 235 | 285.78 | 330.2 6 62 15 153 91 118 56 55 60
3v-21 All | 530 127 | 167 380 330.2 196.87 235 6 46 3 137 91 102 56 55 60
3v-21 | A5 530 @ 127 | 167 380 | 330.2 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3v-24 | A1l 610 | 127 | 167 380 | 330.2 | 196.87 | 235 6 46 3 137 91 102 56 55 60
3v-24 | A5 610 @ 127 | 167 380 | 330.2 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3V-32 Al5 | 800 127 | 167 380 330.2 285.78 @ 330.2 6 46 3 137 91 102 56 55 60
Model K L L1 M N P Q max. Q min R max. R min. S| T U
3v-12 A8 | M20x2.5 3~M16 24 | 24 54 130 30 475 16 61 54.65 50 21 3~M8
3v-15 A8 | M30x3.5 6~M20 35 | 24 66 165 43 51.25 1825 @ 775 69.5 62 25.5 6~M16
3v-15 | A1l M30x3.5 6~M20 35 | 32 66 165 43 51.25 1825 @ 775 69.5 62 25.5 3~M10
3Vv-15 Al5 M30x3.5 6~M20 35 26 66 165 43 51.25 18.25 77.5 69.5 62 25.5 6~M24
3V-18 A8 M30x3.5 6~M20 35 24 66 165 43 51.25 18.25 108 100 62 25.5 6~M16
3v-18 | A1l M30x3.5 6~M20 35 | 32 66 165 43 51.25 @ 18.25 108 100 62 25.5 3~M10
3v-18 | A15 M30x3.5 6~M20 35 | 26 66 165 43 51.25 | 18.25 108 100 62 25.5 6~M24
3v-21 All M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 89 81 65 25 6~M20
3v-21 Al5 M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 89 81 65 25 3~M12
3V-24 | A1l M30x3.5 6~M24 41 | 35 74 180 60 93.5 24.5 128 120 65 25 6~M20
3v-24 | A15  M30x3.5 6~M24 41 | 35 74 180 60 93.5 245 128 120 65 25 3~M12
3V-32 | A15 | M30x3.5 6~M24 41 | 35 74 180 60 189.5 245 128 120 65 25 3~M12
17 AUTOGRIP #Ita#iiE% 3v-A B <F5% (The dimensions and the specifications of 3V-A type are in red data.)




’ 3V-A VERAPEEIRE () = M BB A BE

POWER CHUCK FOR VERTICAL LATHE

A = MeP B3GR -

FMOEBFEFHETE - DIARITHERD -

BatlE KFhKEE - FRlEaEARIINER -

WEDGE-HOOK type 3-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

3
7
x
G|

P
!

U
—
8, E
ol\
~ gAi ‘
| [’ ©
olalal = | < T
[SIRSIRSYERS] 9| o
o) Q
| ] 8
L1 ‘ El
3V-40A20
3V-50A20
Refer to Fig.A B -
2HE A —
Fig.A 270 223
_ 90
B A 162 762 76.2| 38.1
— —)| =}
Ny 8 | b
19.03 — —
125 19.03 ||
83
{REB IR IEREIER) e B
Subject to technical changes [y S$J-50 for V-40"~50" I o
. Softjaw  $J-63 for V-63*~79" Hardened jaw HJ-50 for v-40"-79
FFR1E SPECIFICATIONS
g \ =20 miTiz RFFEE o = [ = oo = g
sk BUTHE (E%T & T o BHFRANSN | BAKEFFH | ==EE# | s BREOHEIL | SAERED
Plunger | Jawstroke &Kk = &/ Max. Clamping Moment of .
. dtroke (Dia) Max. Min. Max. D.B. pull om— Max. speed T Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)
3v-40 | A20 57 46+(60) | 1005 | 310 | 180(18350) @ 320(32620) 630 68 72 | 780 | 849 4.2(42)
RK-250
3V-50 | A20 57 46+(60) | 1250 | 290 | 180(18350) @ 320(32620) 500 145 | 148 | 1000 1050 RE.250 4.2(42)
3V-63 60 48+(80) 1600 = 390 = 200(20390) | 360(36700) 400 500 - 1600 - = RE-A250 4.6(46)
RE-L250
3V-79 60 48+(80) | 2000 | 440 | 200(20390) 360(36700) 320 1250 | - | 2500 | - 4.6(46)
4MURST DIMENSIONS
Model A B C D D1 D2 £ El F G max. G min. H J K
3V-40 | A20 1005 184 @ 226 520 | 463.6 412.78 463.6| 8 50 190 @ 123 | 73 | 66 16 65 65 M36x4
3V-50 | A20 1250 @184 | 226 | 520 | 463.6 | 412.78 | 463.6| 8 50 190 | 123 | 73 | 66 16 65 65 M36x4
3V-63 1600 222 - 720 | 647.6 - - 8 - 218 | 131 - 71 - 65 - M36x4
3V-79 2000 | 240 - 720 | 647.6 - - 8 - 238 133 - 73 - 65 - M36x4
Model L L1 M N P Q R max. R min. S T ] \% W
3V-40 | A20 M24 37 110 270 76.2 295 457 404 6~19.03 7~M24 | 3~M12 42 84
3V-50 | A20 M24 37 110 270 76.2 416 563 510 9~19.03 9~M24 | 3~M12 42 84
3V-63 M30 46 110 270 76.2 540 738 674 12~19.03  13~M24 - 42 110
3V-79 M30 48 110 270 76.2 740 914 850 16~19.03 17~-M24 - 42 110

AT BB 3V-A BLZ 1% (The dimensions and the specifications of 3V-A type are in red data.) AUTOGRIP 18



VEAPEE/IRE(—) e ulns

POWER CHUCK FOR VERTICAL LATHE

BRI M P B3R -

Bt B K BhKEEEt - RRIEESERARUIER -

WEDGE-HOOK type 4-jaw high speed power chuck.

Sealed against swarf, chips and coolant, suitable for vertical lathe.

H G M Serration Pitch
HreasE F s

rnn

i

3 SREEE SEE [ 3
4V-15A8 1— al ==\ | / e —
pueriry w l s %
=z [
;eg;tZFig.A L L 3 ‘
Fig.A E T
Re R EA = . s
Subject to technical changes WA v
BHIRR1% SPECIFICATIONS - Rl
By o e RREE  augig mAxEn  BHESH | E8  GEESE BAGREH
(B Chucking Dia.
. F;',[‘:gg:r Ja‘?lD?;())ke ﬁ:f ﬁg\ Max. D.B. pull MER fg:';l;nping Max. speed M?r:r:tri\;of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg *+ m? kg MPa (kgflcm?)
4V-12 A8 30 12.7 304 48 41(4180) 156(15900) 2520 0.72 | 0.79 | 59 67 Egigg 2.6(26)
4V-15 A8 35 16 381 36 81.9(8360) @ 245.1(25000) 2300 2.10 | 2.39 | 108 | 131
4V-15 All 35 16 381 36 81.9(8360) = 245.1(25000) 2300 2.10 | 2.39 | 108 | 130
4V-15 A15 85! 16 381 36 81.9(8360) = 245.1(25000) 2300 2.10 | 2.79 | 108 | 139
4V-18 A8 35 16 450 60 81.9(8360) & 245.1(25000) 2050 3.51 | 3.80 1 139.3| 162
4V-18 All 35 16 450 60 81.9(8360) = 245.1(25000) 2050 3.51 | 3.80 | 139.3  160.9
4V-18 A15 35 16 450 60 81.9(8360) = 245.1(25000) 2050 3.51 | 4.20 1 139.3| 172 EE;SSK gggg;
4V-21 All B85 16 530 62 81.9(8360) 271.6(27700) 1450 6.98 | 7.62 | 199 | 230
4v-21 A15 35 16 530 62 81.9(8360) = 271.6(27700) 1450 6.98 | 7.53 | 199 2237
4V-24 All 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 | 11.98 | 243.8 | 275
4v-24 Al15 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 11.88 243.8268.3
4V-32 A15 35! 16 800 152 | 81.9(8360) @ 271.6(27700) 880 32.58  33.13| 396 |419.9
4R~} DIMENSIONS
Model A B © D D1 D2 E E1l F G max. G min. H J
4V-12 A8 304 107 141 220 | 171.4 139.72 190 6 40 15 113 73 83 43 36 50
4V-15 A8 381 116 164 300 235 |139.72| 171.4 6 54 1.5 153 99 118 64 55 60
4V-15 All | 381 116 168 300 235 |196.87 260 6 58 15 153 95 118 60 55 60
4V-15 Al5 | 381 116 172 380 235 |285.78 330.2 6 62 15 153 91 118 56 55 60
4V-18 A8 450 116 164 300 235 |139.72 | 171.4 6 54 15 153 99 118 64 55 60
4V-18 All | 450 116 168 300 235 |196.87, 260 6 58 15 153 95 118 60 55 60
4V-18 Al5 | 450 116 172 380 235 |285.78 330.2 6 62 15 153 91 118 56 55 60
4V-21 A1l | 530 127 167 380 | 330.2 |196.87| 235 6 46 3 137 91 102 56 55) 60
4V-21 Al5 | 530 127 167 380 | 330.2 285.78| 330.2 6 46 3 137 91 102 56 55 60
4V-24 All | 610 127 167 380 | 330.2 196.87| 235 6 46 3 137 91 102 56 55 60
4V-24 Al15 610 127 167 380 | 330.2 285.78| 330.2 6 46 3 137 91 102 56 55 60
4V-32 A15 | 800 147 187 380 | 330.2 |285.78| 330.2 6 46 3 100 54 65 19 55 60
Model K L L1 M N P. Q max. Q min. R max. R min. S T U
4V-12 A8 | M20x2.5 3~M16 24 24 42 110 @ 30 51.75 15.75 61.3 54.9 40 16 4~M8
4V-15 A8 | M30x3.5 | 6~M20 35 24 66 | 165 @ 43 40.75 18.25 87.5 79.4 62 25.5 6~M16
4V-15 All | M30x3.5  6~M20 35 32 66 | 165 | 43 40.75 18.25 87.5 79.4 62 255 4~M10
4V-15 Al5 | M30x3.5 | 6~M20 B35 26 66 | 165 | 43 40.75 18.25 87.5 79.4 62 25.5 6~M24
4V-18 A8 | M30x3.5 | 6~M20 35 24 66 | 165 | 43 51.22 18.22 108 100 62 25.5 6~M16
4V-18 A1l | M30x3.5 | 6~M20 35 32 66 | 165 @ 43 51.22 18.22 108 100 62 25.5 4~M10
4V-18 A15 | M30x3.5  6~M20 35 26 66 | 165 | 43 51.22 18.22 108 100 62 255 6~M24
4v-21 All | M30x3.5 | 6~M24 41 35 74 | 180 | 60 72.5 24.5 89 81 65 25 6~M20
4v-21 Al15 | M30x3.5 | 6~M24 41 35 74 | 180 | 60 72.5 24.5 89 81 65 25 3~M12
4V-24 A1l | M30x3.5 | 6~M24 41 35 74 | 180 | 60 93.5 24.5 128 120 65 25 6~M20
4V-24 Al5 | M30x3.5 | 6~M24 41 35 74 | 180 | 60 93.5 24.5 128 120 65 25 3~M12
4V-32 Al5 | M30x3.5 | 6~M24 36 35 74 | 180 | 60 189.5 24.5 128 120 65 25 3~M12

19 AUTOGRIP “ItaiiE# 4v-A Bz ~H5% (The dimensions and the specifications of 4V-A type are in red data.)



IERAPREEHIRE (D) U TR BB A B

POWER CHUCK FOR VERTICAL LATHE

BRI B 3e5E -

FMAEBFHRETE - LA THERD -

BatlE K FhKeer - FHRlEaEARIINERK -

WEDGE-HOOK type 4-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

3
7
x
G|

u=

4V-40 A20
4V-50 A20
4V-63 A20
Refer to Fig.A
2REA
E1
U —
9alalz 5 L 2|
Q Q <| T
Q8 H 8| o &,
Q
a)
G || Q
B4
L1 |
 E— — | L
B
Fig.A
BA
REB R IEREIRER)
Subject to technical changes
#R1& SPECIFICATIONS
e SOl {778 TEFER e = — - R =
&3 BRI chakngbia | BRFRAN  BARSS | BEEAH ! ER  ORENE  BAERES
Plunger | Jawstroke A = &/ Max. Clamping Moment of )
Model stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (r.p.m.) kg * m? ki MPa (kgf/cm?)
4V-40 A20 57 46+(60) | 1000 310 & 180(18350) | 320(32620) 500 70 | 94 | 740 790 RK-250 4.2(42)
4V-50 A20 57 46+(60) | 1250 290 & 180(18350) | 320(32620) 450 222 | 224 1130|1180 EE:iSZ(;O 4.2(42)
4V-63 60 48+(80) | 1600 390 & 200(20390) | 360(36700) 340 565 1800 RE-L250 4.6(46)
4MUR~T DIMENSIONS
Model A B C D D1 D2 B El F G max. G min. H J K
4V-40 A20| 1000 184 |« 226 | 520 | 463.6 | 412.78 463.6 8 50 190 123 73 | 66 16 65 65 M36x4
4V-50 A20 | 1250 | 200 | 242 520 | 463.6 | 412.78 | 463.6 8 50 190 123 | 73 | 66 16 65 65 M36x4
4V-63 1600 | 240 - 720 | 647.6 - - 8 - 214 131 71 65 - M36x4
Model L L1 M N P Q R max. R min. S] T U \ W
4V-40 A20 M24 37 110 270 76.2 295 457 404 6~19.03 7~M24 | 3~M12 42 84
4V-50 A20 M24 38 110 270 76.2 416 563 510 9~19.03 9~M24 | 3~M12 42 84
4V-63 M30 46 110 270 76.2 540 738 674 12~19.03 | 13~M24 - 42 110

AT EBEIER 4v-A BLZ~HE (The dimensions and the specifications of 4V-A type are in red data.) Autocrip 20



A 3Hs = MR R R E) 5T o

THRU-HOLE FULLY SEALED TYPE POWER CHUCK

o ETEINRET - KRR ERERR  RSEEWE -

o REFEAECIREEES - sEBLEUIHIK - BSIEDMNBA - BRI IEE R
FE -

o WEBESEALGMFRESS  S4NBRENEZANT - SELAE FMNIER - &5l
BEEARIIAER -

o ORBEEEEETRKIIRPEKIEIR(EL) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.
® Sealed design ensures constant lubrication and protects against the ingress
\ of coolant and chips, which guarantees clamping precision and durability.
([ ]

Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.
® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch
—H_ Breage 5
G M S
EL
G|
u a
z
5 in o
il
~d
&
© o
INIR= < T
o|ala Ql o
[SEIRCEIEN] Q
L L
E
B
3HS-A 3HS

1REBHREIEELHIEF] Subject to technical changes

73R 4& SPECIFICATIONS

9= S 742 FEFETE peire = Sy = v =
B BOTR m cuongoe  STRANS  BARES | BEEAN ! ER  EROHE BAERES
Plunger = Jaw stroke | A | &=/ Max. Clamping Moment of )
Vodel droke (Dia.) Max. | Min. Max. D.B. pull force Max. speed inertia Weight Matching oy, Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3HS-08 | A6 18 7.6 220 23 31.9(3250) 107(10900) 5000 0.18 27.7 | 29.3 | TK-A853 2.6(26)
ShEYR < DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
3HS-08 A6 | 220 100 | 112 170 133.4 106.38 150 5 17 52 24 11 6 -7 22 30
Model K max. K Default L L1 M N P Qmax.  Qmin. | Rmax. = R min. S T U ‘
3HS-08 A6 M60x2 M55x2 | 6~M12 @ 16.5 19.5 39 95 25 44.25 | 29.25 31 27.2 35 14 3~M6

AT EEIES 3HS-A B2 <% (The dimensions and the specifications of 3HS-A type are in red data.)

21 AUTOGRIP



= MPEREES KA

FULLY SEALED TYPE POWER CHUCK

RO REBE  RBEENE -
BERLEEIMIK - B RMABA - ARSI

e E
REENER O] RISEES -
HMAE -

o HEHEESEALGEERSS BHNBENZANTI  sBLARTFMNIE
- BhlESERRIINER -

o OIRBEEEEER KR OTKEERERL) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

3
7
x
2]

- ® Media fed through central bore - available for coolant or air. (optional)
Serration Pitch
Hre b 15 M S
)
— o
= z
LI\
H G
(04
q
/—T—/ m
8 €
K/ o
©
T L1 8
g 0
8 8 1 T <11
L | | \Cj
i
L/ E ‘
B
{REB RIS REIER)
Subject to technical changes
F M SPECIFICATIONS
S miTie RIFER BEFRA = = 2 | sEms AR
ey | PR @ Chucking Dia. XN mATen  REERH 0 EE | EMERE 2
Plunger Jaw stroke | = = . Max. clamping Moment )
droke (Dia.) X AMax. x/J\Min. | Max. D.B. pull force Max. speed o o Weight e Max. pressure
Model mm mm mm mm kN(kgf) kN (kgf) min'1(r.p.m.) kg * m’ kg MPa (kgf/cmz)
RK-150(N) | 2.4 (24.4)
3PS-12 . . .
30 12.6 304 22 38.5(3925) = 160(16310) 3360 0.84 67 RA-270 0.7 (7.4)
4N R~F DIMENSIONS
Model A B © D E m(asx m(i;n H J K L L1
3PS-12 315 107 220 1714 6 72 42 39 48 M20x2.5 | 6~M16 21
Model M N P Q Q R R s T v v M M
max. min. max. min. max. min. max. min.
3PS-12 52.3 130 30 71.25 30.75 43 36.7 50 21 26 19.7 28 17

AUTOGRIP 22



EEpaTSE

POWER INDEXING CHUCK

THEEBREPETHOERE  INSETFH 2 EETREER -

RN F B U EIEERIBREVE - WHEEBS -

MoK KBt BRRET »

SHMtEERSEERE -

BENDERARRBLZE - KEEBRNRAEE R4S -

Indexing operates during the spindle rotation, can perform a quick change
between multiple working axles.

All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in
chuck, high reliability.

i
s
)]
7
xR

T
I ) Clamp Stroke
e | TR
\

6
] ON1
i § L \ @
[
8|8 8= - R >
o e o >
[ | (s31515) *QQ& \
A [ ) @
4~M16 1T
JZ & \IY
BL|| [
B
— S f—o
1S-254~1S-315
REF
{REB IR IEREIER)
Subject to technical changes
F T3 SPECIFICATIONS
1) g, =10 95?%5@ PR hE x = [=E—N = 3EE@
B SEAE R il SWEEESN  BAKSH  smoEn B8 o | EENG
Index Angle Jaw stroke HfEDia &ELen Max. pressure 5% CENERY Max. speed quem i Weight Wi Siilte
Model Max. Max. force inertia ROTATING JOINT Bore
Deg mm mm mm kgflcm? kN (kgf) min? (rp.m.) kg m? kg mm
1S-254 4x90° 20 65 160 45 19.5(1990) 1700 0.41 41 1S-315 70 DIk
1S-275 4x90° 20 80 220 45 25.4(2590) 1500 0.61 52 1S-315 70 DL E
1S-315 4x90° 20 100 230 45 25.0(2550) 1200 1.13 76 1S-315 7001
4MU R~ DIMENSIONS
Model A B B1 B2 C(H6) D E F G H J K
1S-254 254 190 5 23 220 1714 60 13 47.5 18 155 48
1S-275 275 213 5 26 220 1714 60 13 58 20 171 48
1S-315 315 232 5 22 220 171.4 60 13 71 18.5 187 50
Model L M N N1 P Q(H7) R S(H7) T U Vv W
1S-254 13 M8 20 5 40 18 M10 20 106 57 46.5 55
1S-275 18 M10 20 6 80 18 M10 20 125 67 51 7
1S-315 18 M10 20 6 75 24 M12 25 125 85 70 7.5

* DERE 8xa5° BIFHMME, HEAA AT ERLE. *Index Angle 8x45° or Specific Angle, Please contact AUTOGRIP for more detailed information. Thanks.

23 AUTOGRIP



247134 P B = T e S
INCLINED MASTER JAWS POWER CHUCK

POMBEEREATERE IS IHEaBENEEERH -
AN EMNUEBEBRHQTENEBANRER) A= TEXREF LZFER - T
Ol fE AR -

® The surface of the center through cover is grinding treated, it can be the

position base surface of the jig/workpiece.
® The slideway of main jaws is inclined. It improves the clamping force and

reduces the upfloat situation of the workpiece. %
®  Work with standard top jaws. 7S
[l 5 EJ
w AR (RE) - e
B REERAR I - P
@ Airtight pressure detect function is optional. ]
@ External gripping only.
Serration Pitch Axial jaw stroke
HeggEE 15 dha MATiE
3~U
=
N 1
|
HE il — —
’?E} —La
|
pEE iR ER ey
s 1 1S)
H G i
N | Y «
< O » - /= 1
Q| Q| Q =
/ | I
K 1 ﬁ S
i LJ
e g —
3~L
E
B
REIEERITHER)
Subject to technical changes
3R SPECIFICATIONS
)3 S MiT#2 FER e = [N = O = -
o muTR | (oE it | BEEANN  BAREN  EBENE 1 B OWOSD | BARRES
Plunger Jaw stroke BRK = f Max. Clamping Moment 5
Vodel diroke (Dia.) N /J\Min.| Max. D.B. pull -~ Max. speed - Weight Matching el Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
3N-06 20 8.1 (#M 0.9) 165 14 18 (1835) 61.5 (6270) 5000 0.05 11.1 = RK-100(N) 2.6 (26)
3N-08 23 9.4 (EM 1.0) 210 17 25 (2540) 85.8 (8750) 4500 0.14 245 RK-125(N) 2.2 (22)
3N-10 25 10.2 (M 1.1) 254 22 29 (2950) 108 (11000) 4000 032 345 | RK-150(N) 1.8 (18)
4N R~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K L
3N-06 165 72 140 104.8 5 54.5 34.5 36 34 M16x2 M10
3N-08 210 85 170 133.4 5 59 36 36 38 M20x2.5 M12
3N-10 254 89 220 171.4 5 63 38 36 45 M20x2.5 M16
Model L1 M M1 N B Q max. Q min. R max. R min. S T U
3N-06 16 41 0.9 73 20 15.25 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 95 25 22.25 11.75 46.3 41.6 85 14 M6
3N-10 24 47 1.1 110 30 33.75 11.25 52.1 47 40 16 M8

AUTOGRIP 24



’ AT PO MEEs) R 5cEa U

FOUR-JAW TWO MOTION TYPE POWER CHUCK

AR R €& B i )T\ B BN F 2 45 7K DB -
BRIERATEMNEMIERRAZMRO T H -
CRANK type with two pairs of 2 jaws self center independent of each other.

The 4T series is suitable for square bar and other nonuniform shaped
workpieces.

= EJERFES Patent numbers :
&7 : PAT.NO.M359385 (Taiwan)
KEE : PAT.NO.ZL200920009309.1(China)

i
s
)]
7
xR

H
Serration Pitch
G1 M HeEEE 15 S ‘
T
L —=—
I =T
H1 HH ‘H\}:‘i
L) = o
G ﬁ H‘\b I z
=4 S (e
N
% \
| 4
(@] —
s| s ®

K1

%ﬂ
i FQ]A;#

~
ALJ

B
REBIRRIE AT
Subject to technical changes
BHIRRHE SPECIFICATIONS
ng | goER | MIE KRE | aupaan | BAREH | BSEEN 0 ER O SRESEH BAETES
(BT Chucking Range
Plunger | Jawstroke = &Kk =2\ Max. Clamping Moment of )
. sroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg ¢ m? kg MPa (kgflcm?)
4T-08 17 13.6 210 24 16.0(1630) 54.3(5540) 3000 0.15 23.2 RD-120(N) 1.7(17)
4T-10 20 16 254 50 21.6(2200) 79.4(8100) 2100 0.35 44.3 RD-125(N) 2.2(22)
4T-12 20 16 304 50 21.6(2200) 79.4(8100) 1500 0.66 57.6 RD-125(N) 2.2(22)
4T-15 25 19.6 381 60 27.2(2780) 105.3(10750) 1200 2.25 118.3 | RD-125(N) 2.7(27)
4N R~F DIMENSIONS
Model A B C(H6) D E G max. G min. G1 max. G1 min. H H1 J K
4T-08 210 91 170 133.4 5 32 15 25 -14.5 29 20 61 M14x2
4T-10 254 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-12 304 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-15 381 135 300 235 6 44.5 19.5 5 -20 45 28 110 M20x2.5
Model K1 L L1 M N [? Q max. Q min. R max. R min. S} T
4T-08 M34x1.5 4~M2 20 38 95 25 25.25 13.25 46.1 39.3 35 14
4T-10 M45x1.5 | 4~M16 25 43 110 30 32.25 12.75 59 51 40 16
4T-12 M45x1.5 | 4~M16 25 43 110 30 54.75 15.75 59 51 40 16
4T-15 M55x2 4~M20 30 51 130 30 66.5 12.5 78.9 69.1 50 21

25 AUTOGRIP



3D BAITLE) J] R A =MepE

PULL DOWN POWER CHUCK

o] [EI RS s TS R SR EEN - EIHA DU RS EER -
SHMECEENARRETRAEE  TABMABRE BEKSIBEEHA
A& -

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

u RERA (ER) -
@ Airtight pressure detect function is optional.

i
s
)]
7
xR

&
p

K
M S
~ et
Y
S
=
F G —
) [
|
< ol wl T \
Q| Q| Q| 8] T - -
2
7 S
1 [ EH,
1-J ‘ Q
Q
u L x4
e |
1l | l:J 3-R
L 5 3D-04 3 bolts only
{REB RIS REIER) - 3D-05 #3812
Subject to technical changes B
B3 SPECIFICATIONS
1) 5 N /=20 1712 \E@Tﬁ_ 72 = = =) = s 3 = =
w momr MOE CWER  sgpaaon skowsn | mmEem T2 EREEE  BARRES
Plunger | Jawstroke = &K =/ Max. Clamping Moment )
— droke (Dia,) Max. Min. Max. D.B. pull T — Max. speed of inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 4.5 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)
3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)
4MUR~T DIMENSIONS
Model A B C (H6) D E F G max. | G min. H J Kmax. | K min. L L1 M N P
3D-04 110 60 85 70.6 25 20 22 15 25 M10 30 23 3~M10 15 19.5 50 22
3D-05 135 70 110 82.6 30 25 24 17 28 M12 B5) 28 3~M10 16 24.5 56 23
3D-06 165 85 140 | 1048 | 35 36 37 27 32 M16 45 35 6~M10 16 31 70 27
3D-08 210 90 170 | 1334 | 45 36 38 28 38 M20 56 46 6~M12 15 41 84 31
3D-10 254 110 220 | 1714 | 55 46 47 32 50 M24 65 50 6~M16 24 46 100 38
3D-12 304 125 220 1714 55 50 495 | 345 53} M27 70 55) 6~M16 22 51 120 42
3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20 30 60 165 60
Model Qmax. = Q min. R S T T1 U V (h7) V1 w X Y(H7) Y1 z z1
3D-04 37 345 M3 25 22.5 - 3~M6 8 25 35 2 8 6 - M10
3D-05 46 43.5 M3 30 27.5 - 3~M6 8 2.5 44 2 8 6 - M12
3D-06 57.7 54.3 M4 35 35 20 6~M6 10 2.5 52 7 10 6.5 - M14
3D-08 70.8 67.2 M5 40 45 25 6~M8 16 8 65 10 12 7.5 26 M12
3D-10 85 79.6 M6 50 55 30 6~M8 18 3 75 12 15 7.5 32 M14
3D-12 101.9 @ 96.5 M6 60 70 835) 6~M10 20 3 90 12 17 7.5 36 M16
3D-15 135.6 | 128.3 M8 70 95 45 6~M12 24 4 120 13 20 6 40 M16

AUTOGRIP 26



2D BRHITN B SIPKEE —MeRER

PULL DOWN POWER CHUCK

o] [E RS s TH MU @RS EEN - FTHA DT EEESEER -
SHEECERNAREBEMBHEE  TABMABE  BRESEE
BERE -

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

N mEEA (EK) -
[ Airtight pressure detect function is optional.

i
s
)]
7
xR

&
p

K S
M T T1
e &)
—Jema |- V& |
T o @ &) 3
\ 1" °

T &
1~J
X [a)]
L1 ”L Q U
—T——H
|:J 3..R
15 - _
4-L B V h7 71
—
S )
ol D
dREiin
I

RBIIISRAHER <

Subject to technical changes

M SPECIFICATIONS

my | mogr | e TBER O uein | BAREH  mEEEm B8  ERENE  BAGRES
ER) Chucking Dia.
Plunger dEy 5"0'“* X EE,IJ\ Max. D.B. pull v G Max. speed Mc_)mer_n @i Weight . Max. pressure
Model stroke (Dia.) Max. Min. force inertia Matching cyl.

mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)
2D-06 10 7.2 165 22 10.0(1020) 16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700) 30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379) 40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)

4R~} DIMENSIONS

Model A B C (H6) D E F G max. | G min. H J Kmax. | Kmin. L L1 M N P
2D-06 165 85 140 | 104.8 35 36 37 27 32 M16 45 35 M10 16 31 70 27
2D-08 210 90 170 | 1334 45 36 38 28 38 M20 56 46 M12 15 41 84 31
2D-10 254 110 220 | 1714 55 46 47 32 50 M24 65 50 M16 24 46 100 38

Model Qmax. = Qmin. R S T T1 U V (h7) V1 w X Y (H7) \%! z Z1
2D-06 57.7 54.3 M4 35 35 20 4~M6 10 2.5 52 7 10 6.5 - M14
2D-08 70.8 67.2 M5 40 45 25 4~M8 16 8 65 10 12 7.5 26 M12
2D-10 85 79.6 M6 50 55 30 4~M8 18 3 75 12 15 75 32 M14

27 AUTOGRIP




#BhIEHEE KR = Migtrhess

PULL LOCK POWER CHUCK

SRR — TP 22 368 -

SRENRSEBE -
BRlEEEARBEETHNGS -

Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.
High radial gripping force and high accuracy.

Suitable for heavy machining.

i
s
)]
7
xR

&
p

aF

A
aC
aJ

K max
(%]

2D
E

L1
REB R IEREIER)
Subject to technical changes B1

R #RME SPECIFICATIONS

v omose TR RET  smmin  migesn BEEEM 1 EE OREME | BARRES
o Pél{,:zg:r Ja\E\/D?:c))ke ?jij; Tji{r{\ Max. D.B. pull | Max. Clamping force | Max. speed g/fl?;?;;; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
3U-203 4 2 42 14 5.8(590) 16.7(1700) 10000 0.001 1.8 RK-75(N) 1.6(16)
3U-204 6 3 60 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.012 6.8 RK-100(N) 2.0(20)
3U-206 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 14.7 RK-100(N) 2.6(26)
3U-208 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.5 RK-125(N) 2.2(22)
3U-210 10 5 163 34 31.0(3160) 100.0(10100) 4500 0.36 435 RK-125(N) 3.1(31)
3U-212 10 5 210 81 35.0(3570) 100.0(10100) 3600 0.68 63.0 RK-125(N) 3.1(31)
4R~} DIMENSIONS
Model A B B1 C(H6) D E F G max. | G min. H d K L L1
3U-203 85 54.5 42 70 54 3.5 25 18 14 22 38 M20x1.5 3~M8 11
3U-204 110 72.5 55) 85 70.6 4 30 16 10 24.5 42 M24x1.5 3~M10 12
3U-205 135 84.5 63 110 82.6 4 35 16 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 104.8 5 45 20 10 31 60 M38x1.5 3~M10 16.5
3U-208 210 137 92 170 133.4 5 52 23 11 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 171.4 B 75 25 15 37 105 M68x2 3~M16 23
3U-212 304 157 102 220 171.4 5 100 25 15 37 135 M92x2 3~M16 26
Model M N P Q max. Q min. R S T U(H6) \Y W max. W min. X
3U-203 12 26 M5 7.5 6.5 38 15 10 32 35 2 -2 M3
3U-204 17 40 M6 10.75 9.25 46 20 10 38 4 3 -3 M4
3U-205 20 41.5 M8 13.25 11.75 55 24 10 45 5 3 -3 M5
3U-206 30 50 M10 15.75 13.25 72 30 17 58 6 5 £S5 M5
3U-208 34 63 M12 16.25 13.25 82 35 17 68 6 5 -7 M6
3U-210 39 74 M14 20.75 18.25 107 40 17 93 6 5 -5 M8
3U-212 44 74 M14 44.25 41.75 130 40 17 114 6 5 -5 M10

AUTOGRIP 28



#BhIEHEE KR =i

PULL LOCK POWER CHUCK

AT ERA — TP B AREE -

SRFARSEE -

BRlEEEARBEETHNGS -

olaRzeH  ETHRUERR  BaRERITBEMNEK -
Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.

High radial gripping force and high accuracy.

Suitable for heavy machining.

Can work with the airtight detection device to perform axial position confirm,
suitable for the precision of large length size process.

i
s
)]
7
xR

—_

RBIFAEIELEOIER B

Subject to technical changes

R #73R4& SPECIFICATIONS

vt mose O KEET  asmiog  mamsn  BmESH 0 R ERESE | BARRES
. P;turggzr Ja\EvD?:())ke f:f E;illrJ]\ Max. D.B. pull Max.f(oirlgzping Max. speed M?:]g?g;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgflcm?)
3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8 | RL-100, RL-A100N 2.0(20)
3U-206K 10 5) 105 | 24 17.9(1830) 57.8(5900) 7000 0.055 | 149 RL-100, RL-A100N 2.5(25)
3U-208K 12 6 132 25 | 25.0(2550) | 80.0(8150) 6000 0.14 | 258 RL-125 RL-A125N | 2.2(22)
3U-210K 10 5) 163 | 34 31.0(3160) 100(10100) 4500 0.36 44.0 | RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 | 81 35.0(3570) 100(10100) 3600 0.68 63.8 | RL-125, RL-A125N 3.1(31)
YMEIR<T DIMENSIONS
Model A B Bl C(H6) D E F F1(H8) | Gmax. = G min. H H1 H2 J K K1 L
3U-205K | 135 | 84.5 63 110 82.6 4 35 14 16 10 42 12 - 50 M25x1.5 22 M10
3U-206K | 168 118 80 140 1048 | 5 45 14 20 10 48 12 30 60 | M28x1.5 24 | M10
3U-208K | 210 137 @ 92 170 1334 | 5 52 16 23 11 51 15 30 80 | M35x1.5 30 @ Mil2
3U-210K | 254 152 | 102 220 | 1714 | 5 75 16 25 15 51 15 30 105  M38x1.5 34 M16
3U-212K 304 157 | 102 220 1714 | 5 100 16 25 15 51 15 30 135 | M45x1.5 40 M16
Model L1 M N P Q max. Q min. R S T T1 U(H6) \Y W max. | W min. X
3U-205K 15 20 415 M8 1325 | 11.75 55 24 25 15.5 45 5 3 -3 M5
3U-206K 16.5 30 50 M10 | 15.75 @ 13.25 72 30 30 26.5 58 6 5 -5 M5
3U-208K 18 34 63 M12 16.25 | 13.25 82 35 30 325 68 6 5 -7 M6
3U-210K 23 39 74 M14 = 20.75 @ 18.25 107 40 30 36.5 93 6 5 =5 M8
3U-212K 26 44 74 M14 4425 | 41.75 130 40 30 36.5 114 6 5 -5 M10

29 AUTOGRIP



=G

PSRTEHIT\ B /) 2K ER

EXPANSIBLE PULL LOCK POWER CHUCK

A 3k

o ERAMRAERS -
" o o OER#E THHERRFEMOEN - FIHEA DFUERESELER -
-// . o SREZTY  BEmBEHEML -
\ ® Suitable for internal gripping.
| ® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.
®  Almost no workpiece uplifting displacement. %
With high precision and stability that chuck suitable for end process. 7S
u RERA GER) - %
@ Airtight pressure detect function is optional. S
|

3E-06 ~ 08 ~ 10 3E-05

Soft jaw : typeB

Soft jaw : typeA RELEMBE

TRAELE AR
3~P
\1%4
— i; |
g 8
LL\@J
—]
—
REBIRRIE AT
Subject to technical Ichanges
BHIRRHE SPECIFICATIONS
I N 1742 1=K o = =y = | wmy =
EIE gt BEBAND  RAREN | REESH | BE SRESE RARRES
Plunger Jaw stroke = = g Max. Clamping Moment )
. droke (Dia.) TAMax. = &//\Min. | Max. D.B. pull . Max. speed - — Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)
3E-05 6 3 83 29 13.0(1325) 42.0(4280) 7000 0.018 7.5 RK-100 1.8(18.5)
3E-06 10 5 110 44 18.0(1835) 58.0(5910) 6000 0.042 13.6 RK-100 2.5(25.6)
3E-08 10 5 150 50 25.0(2530) 80.0(8150) 5000 0.14 26.5 RK-125 2.2(22.5)
3E-10 10 5 190 60 35.0(3570) 100.0(10200) 3600 0.31 39.5 RK-150 2.8(28.5)
4MEIR~T DIMENSIONS
C F G G
Model A B Bl (H6) D 5 (H8) TER i H J K L L1
3E-05 135 98 72 110 82.6 25 18 18 12 25 M16 M10 15
3E-06 165 112 80 140 104.8 85) 18 22 12 30 M16 M10 16
3E-08 210 135 90 170 133.4 40 21 22 12 36 10 M20 M12 18
3E-10 254 152 102 220 171.4 50 25 25 15 48 10 M24 M16 23
t A B 1
Model M N P ype L e R S T L Y
Qmax. = Qmin. | Qmax.  Qmin. max. min. (p-c.d) (p.c.d)
3E-05 20 25 M6 68 50 83 67 50 29 25 M6x12 110 55 110
3E-06 23 31 M6 90 70 110 89 70 44 40 M6x12 130 76 134
3E-08 30 35 M8 110 90 150 108 920 50 49 M6x12 170 100 170
3E-10 85 40 M10 127 110 190 125 110 60 59 M8x16 210 120 210

autocrip 30



3W[3W-C EBZEm=mseE =
SWING TYPE 3-JAW POWER CHUCK

2N.
U

H#1E5Mm 2020
TAIWAN EXCELLENCE

=MEE R TH - (BEROE 3W)
BaBHLRESRMBETNL -

FRIEaERARBEEEHINEGS -

PERIHREZSE - ERETIEEMER -
BEEaRESHIUESMMMUBEIRECRE - DURAERFERSD -
—TEEEHRETH - (BOEIED 3W-C)

IHmOBES2mMm - POTESEL -

Swing and grasp the workpiece to three jaw. (3W is automatically positioned

to the center type.)

Suitable for such materials as the casting and forging to process.

Suitable for heavy machining.

Seal proof for dust and cutting fluid, it is more convenient when maintenance.

Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

® Swing and grasp the workpiece to three jaw.(3W-C is center compensation
type .)

® The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble.

i
s
)]
7
xR
G|

OIETCSR M - B T HIREER M A - (EEm)

RABMIEK - SMERFF O] e i AR AL H -

Carbide gripper is optional.

* The type of the carbide gripper is selected according to the work-piece conditions.

According to different processing requirements, O.D. Gripping and I.D. Gripping can be interchanged.

$58f ME = Type of the Carbide gripper

Model:ALl Model:AL2 Model:R1 i
10 7 14.2 7 1.2
/ 1 M5x0.8 . .l M5x0.8 4.8 |36 M5x0.8
1 il L g (BT
I |@ g © S - —
N S I/ = ¥ e s
1597.2 15927, ‘L
SMEF$F 0.D. Gripping PIfEHEIF 1.D. Gripping B/\KE$5EEE Min. Gripping range
S5 8 T
EifgClearance
" mi:.3(mm)
o “ATESR
Zh s tem
)r 10°
w f
—T——1r SRR
min. 7(mm)

31 AutoGRIP



A 3w/3w-c

BRI = TKEE

SWING TYPE 3-JAW POWER CHUCK

= MiEEh R

M

M1

H G
: —
R e a——
AN
K
} _
L1
{REB RIS AR
Subject to technical changes
BHIRR1E SPECIFICATIONS
B RUTR (UIE o B ool BHEBANA BAKSN  BBEEH | ER OROEE ARE
Vodel Psl‘turg 3 Ja\sz?‘g?ke ?;:\:;if ?;:\:;:j Max. D.B. pull Max.fglr%rgping Max. speed M?ﬁg‘?{i‘;c’f Weight —— Compensation
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) = kg * m? kg mm
3W-08 14.4 9.8 16~150 76~203 25(2550) 85.0(8670) 3700 0.12 23 | RK-100(N) -
3W-C08 14.4 9.8 16~150 76~203 25(2550) 85.0(8670) 3700 0.12 23 | RK-100(N) 2
3W-10 17.5 12.5 50~205 85~235  35.3(3600) = 105.9(10800) 2500 0.37 | 48.6 RK-125(N) -
3W-C10 17.5 125 50~205 85~235 | 35.3(3600) = 105.9(10800) 2500 0.37 | 486 RK-125(N) 2
3W-12 17.5 12.5 63~240 127~305  35.3(3600) | 105.9(10800) 2400 0.73 65 | RK-125(N) -
3W-C12 17.5 12.5 63~240 127~305  35.3(3600) | 105.9(10800) 2400 0.73 65 | RK-125(N) 2
3W-15 225 15.9 76~317 165~381 = 56(5600) | 168.2(16800) 2000 1.81 97 | RK-150(N) -
3W-C15 225 15.9 76~317 165~381 = 56(5600) | 168.2(16800) 2000 1.81 97 | RK-150(N) 3
4MEIR~T DIMENSIONS
Model A B C (H7) D E F G max. G min. H J K L L1 M M1 N P P1 P2
3W-08 210 89 | 170 (1334 5 | 34 519 375 40 | 50 | M18x25 M12 19 | 193 565 527 | 16 38 80
3W-C08 | 210 89 170 1334 5 | 34 519 375 40 50 #M18x25 M12 19 193 565 527 16 | 38 80
3W-10 254 | 106 | 220 (1714 5 | 42 675 50 48 | 58 | M24x3 M16 | 24 | 29 605 656  17.8 44.4 100
3W-C10 254 106 220 1714 5 42 675 50 @48 58 M24x3 M16 | 24 29 605  65.6  17.8 44.4 100
3W-12 304 106 | 220 (1714 5 | 42 675 50 48 | 58 | M24x3 M16 | 24 | 29 605 656  17.8 44.4 100
3W-C12 304 106 220 1714 5 42 675 50 @48 58 M24x3 M16 | 24 29 605  65.6  17.8 444 100
3W-15 381 120 300 235 5 | 55 625 40 46 | 80 | M27x3 M20 | 30 324 72 743 | 19 635 140
3W-C15 381 120 300 235 5 55 625 40 @46 80 M27x3 M20 | 30 324 72 | 743 19 635 140
Model P3 Q R R1 S T U V(h7) | VI | W(H7) | W1 @ XH7) X1 Y Y1 z Z1 z2
3W-08 M12 95 | 2.69 224 60 @ 57 2 794 3 1268 7 | 34 | 35 46 M6 32 | 32 | MO
3W-C08 | M12 | 95 269 224 60 57 2 794 3 1268 7 34 35 46 M6 32 | 32 | MO
3W-10 M12 112 403 226 72 70 25 127 3 1903 | 7 | 45 5 60 M8 | 36 | 36 | M10
3W-C10 | M12 | 112 403 226 72 70 25 127 3  19.03 7 45 5 60 M8 36 | 36 | M10
3W-12 M12 | 1325 4.03 226 925 70 25 127 | 3 | 1903 7 45 5 60 | M8 36 | 36 MI10
3W-C12 | M12 1325 403 226 925 70 25 127 3  19.03 7 45 5 60 M8 36 36 | MI10
3W-15 M12 | 172 514  2.83 | 121 80 2 | 127 3 | 1903 7 56 3 90 | M8 36 | 36 MI10
3W-C15 M12 172 514 283 121 80 2 | 127 3 | 1903 7 56 3 90 | M8 36 | 36 MI10

AUTOGRIP 32

s e

&
p




i
s
)]
7
xR

% 25 Bl F3 28R

RETRACTABLE-JAW 3-JAW SHAFT CHUCK

=MeaER

o THRmOMESIMM - FLIESEM - —TUREIFIFTH -
o ODEARETHRIER FET XML - At KRR EFRR -
o RBMEETIREETHE HBEMNL - ANBH - FEHERAKE -
o HEEEIRAVEEF(SRF-D) -
o ERENTHME A\ RIEE L] B #EEI(3RF-D)
® The workpiece compensation of eccentric is 1mm, fixed position for the center,
swing and grasp the workpiece to three jaw.
A ® Second machining can be performed without reversing the workpiece, thus
b significantly reducing setup time.
® With compensating jaws clamping, the Rough and precision machining can be
carried out.
® With sealed design, the maintenance costs can be reduced.
Can be paired with double-rod rotary cylinder (3RF-D type).
® The driver pin thrust can be controlled by the pressure of the rotary cylinder
(3RF-D type).
M
M1 S
H G inl
sfle =8
s w O hs|
s -
;
Ly || E
3RF
M FEFEBE APPLICATION NOTES
M1 LINTHSEE
WEEMEE, THEDOERRE
= TESHRISE Y, BB EE B AR,
c |[F o 1.Clamping diameter machining
nies i H 4’_( T = The compensating jaws are
e \ | | o o o retracted. The workpiece is
3 | d bet; huck cent:
J = 7 8/ | and tailstock center. Aditionally,
= IiulZl g — I B 8)7‘ it is driven by the face driver.
o] SIg| By [ =
8 —— / *%ﬁ@fJ 248mMT
o] LY Lll 70 S0 PR LRL N ) R E ST T,
Q K2|| K3 | [ J SESHSH 2R -,
i i } Driver pin .Rough machining
/ With compensating jaws
m clamping, the rough machining
can be carried out.
L/ lE \
B
2~M10x18dp o
R)
SRED WEMGRE, THEPL RS SR
SABR( )2 SAANIISIIEY R, S EEED, TEStRISZE, AF B EE BTN T
Note: The dimensions marked [*] are the dimensions of the inside Draw Bar, 5 BTN TFR G B9ERIL, 3 AT ZE R RO E
Please don't change it. HER,
3.Finish machining
Additionally, it is driven by the
(REDIRMIEBBOHER) face driver. The entire workpiece
Subject to technical changes can be machined with precise
concentricity.
3R SPECIFICATIONS
= =
my | moR | e KBEE | susian | BAREH | BEESH | 2 EMESE REE
(B Chucking Dia.
Plunger | Jaw stroke B®K =/ Max. clamping Moment of ) )
Model stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Compensation
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg mm
3RF-08 435 9.4 70 18 39.2 (4000) = 39.2 (4000) 4000 0.15 30 RS-1250 1
3RF-08D 43.5 9.4 70 18 39.2 (4000) = 39.2 (4000) 4000 0.15 30 |RDL-130S 1
4MEIRST DIMENSIONS
Model A B C (H6) D E F | Gmax. Gmin. H J K K1 (H7) | K2 | K3 L 1
3RF-08 210 155 170 1334 5 | 68 123 79.5 37 | 58 | M20x2.5 - - - 3~M12 18
3RF-08D 210 155 170 133.4 5 68 98 54.5 50 58 @ M36x1.5 40.5 6 24 3~M12 18
Model M M1 N P Q R Rl max. | Rl min. S T(H7) U v V1 w X
3RF-08 62 58 78 2.35 62 - - 40 12 28 16 3 7 M12
3RF-08D 62 58 78 2.35 62 25.5 7 0 40 12 28 16 3 7 M12

33 AUuTOGRIP



BENRETR = )T\ 7EE =ism
SWING COMPENSATING TYPE 3-JAW POWER CHUCK

— ITHROEEEZ2mm - POTESEN - = TURS KRG TH -
RRMIKBHE - BIEKRMIEIR - ERETIFEMER -
BEEEESHOUSSMMMUBREREERFE - LIEAERERSS -

The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble, swing and grasp the workpiece to three jaw.

® Special seal proof for dust and cutting fluid, it is more convenient when
maintenance.

® Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

i
s
)]
7
xR
7]

M
G M1
]
= Q|
0y~ | =z
(o4
L2
<| O Al | p—
QQ 9 l
)
Q
S
RSB
Subject to technical changes
FR1E SPECIFICATIONS
my | moaR e KBER L suskn | BARSH | mEEmE | BB GEENE REE
(B Chucking Dia.
Plunger Jaw #troke Bx Eﬁ_d\ Max. D.B. pull Max. clamping Max. speed Mt_)mer.n of Weight Compensation
Model stroke (Dia.) Max. Min. force inertia Matching cyl.
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg mm
3R-08 20 8 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2
4N R<F DIMENSIONS
Model A B C (H6) D E F G max. | G min. H H1 J K L L1
3R-08 210 105 170 133.4 5 57 26 6 42.5 36 10.4 M20x2.5 @ 3~M12 20
3R-10 254 115 220 171.4 55 64 36.5 11.5 25 39 15 M20x2.5 | 3~M16 225
Model M M1 N P Qmax. = Qmin. R S T (H7) U \ Vi W w1 X
3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 3 40 7 M14

AUTOGRIP 34



i
s
)]
7
xR

PESH 8 /J2KER

FINGER POWER CHUCK

=G

o I HImENIE Bt THREGER  BEEETHMT -
o REMEWE  IRFARAGE ZTH -
® Gripping at the end face and preventing deformation of workpiece.
® Suitable for thin wall workpiece processing.
® The gripping compensating mechanism can grasp the irregular surface
workpieces well.
n REIRA (ER) -
@ Airtight pressure detect function is optional.
Clamping stroke Rotating Stroke
833%%7?% 12881712 Rotati
otating Angle
G M ‘ Gy BHAE
‘ 3-P 56 D
| 5P
X e for 05”,06”
JE— g
— =+ §
5 Jaw is option
o T ol ey ©
= —
) Q EL:* === 1—15§|8
AN
3 L,
| ) =
= €
3~L
B
10 5 10 8
o B ]
~ | 8 L ~ | 8 |
T T o
I n N
VIR o Ak
2| =
RBIAEERIIIER) m LL‘
Subject to technical changes for 05”,06” for 08”,10",12”
BHIRR1% SPECIFICATIONS
my  EmEE | N mmme | CPEE  amein BAKH  BEESH | R GROSE BAREES
=t 1712 = Chucking Dia. TR = ; =l = = =
Rotating | Claming Jaw's gX | &N Max. Clamping Moment of )
Model stroke stroke | compensation | Max. Min. LERS [Pk o) force NER EEE inertia LR Matching cyl. RS [SESENTE
mm mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? kg MPa (kgf/cm?)
3J-05 12 8 2 53 25 7.5(765) 6.0(612) 4000 002 110 RKI000R 0(10)
‘ ' ' | RK-100(N) ’
RK-100 OR
3J-06 12 8 2 79 55 | 9.0(918) 7.5(765) 4000 0.04 | 12.0 RK-100(N) 1.2(12)
RK-100 OR
3J-08 12 8 2 106 75 18.0(1835) @ 16.5(1680) 3500 0.13 23.0 RK-100(N) 2.5(25)
RK-100 OR
3J-10 12 8 2.5 150 119  18.0(1835) 16.5(1680) 3500 0.30 33.0 RK-100(N) 2.5(25)
RK-100 OR
3J-12 12 8 2.5 200 169 | 18.0(1835) @ 16.5(1680) 3000 0.56 44.0 RK-100(N) 2.5(25)
4MEIRST DIMENSIONS
Model A B c D F G max. G min. J Ji K
3J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
3J-06 165 86 140 104.8 45 IS 55 28 12 M16x2
3J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
3J-10 254 95 220 171.4 56 IS 55 38 16 M20x2.5
3J-12 304 95 220 1714 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N B Q R S T U
3J-05 M10 15 56 36 20 M10 425 27 3~M6 50 -
3J-06 M10 5 56 36 20 M10 BYAS) 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 20°
3J-10 M16 24 71 Sill 25 M12 99.5 55 6~M8 140 20°
3J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 20°

35 AuTOGRIP




2J PEIEA /IR ~MeEa

FINGER POWER CHUCK

o RIMIRmEAE - Bl THREGER - BEEETHMT -
o REMEWE  IRFARAGE ZTH -
®  Gripping at the end face and preventing deformation of workpiece.
® Suitable for thin wall workpiece processing.
® The gripping compensating mechanism can grasp the irregular surface
workpieces well.
N RERE GER) - ;Fi
@ Airtight pressure detect function is optional. &
V|
x
Clamping stroke Rotating Stroke Rotating Angle 5
IS5 1T 12 12)888 7772 by JEBAE
G M 56
{ 2-P
- e for 05”,06”
o z'
o L5 S
12| 30 BN ‘ 7"?} LWE%M \n: e[
5 ﬁ;wﬂﬂ% — ul A
8 O ®' ] — - L RS
Q ~ =
= Mfﬁ ‘
=] L1
S =17 -
E=—p
N4~L s
B
10 8
d 2
~| 8 N ~f 8
T e} T
~ n —+
g s @ o ¢ S
5] S
RO ‘._.30 ‘
Subject to technical changes
. for 05”,06”
BHT#EE SPECIFICATIONS —
P OWGR RSER TEEE SO SEEANN | BANEH EREEB | ER  OSRESE | RARAEN
Rotating | Claming Jaw's =R =) Max. Clamping Moment of )
Model stroke stroke | compensation  Max. | Min. EPG ek o1 force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm mm kN (kgf) kN (kgf) min® (rp.m.) | kg * m? kg MPa (kgflcm?)
23-05 12 8 2 53 25 5.0(510) 4.0(408) 4000 0.015 9.0 RK-100 OR 0.7(7)
: ‘ ‘ | RK-100(N) :
RK-100 OR
23-06 12 8 2 79 55 | 6.0(612) 5.0(510) 4000 0.035 9.8 RK-100(N) 0.8(8)
RK-100 OR
23-08 12 8 2 106 75 | 12.0(1224) @ 11.0(1122) 3500 012 203 RK-100(N) 1.7(17)
RK-100 OR
23-10 12 8 2.5 150 | 119 12.0(1224) @ 11.0(1122) 3500 0.28 30.7 RK-100(N) 1.7(17)
RK-100 OR
2J-12 12 8 2.5 200 | 169 12.0(1224) | 11.0(1122) 3000 0.52 41.2 RK-100(N) 1.7(17)
4N R<F DIMENSIONS
Model A B © D F G max. G min. J J1l K
2J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
2J-06 165 86 140 104.8 45 75 55 28 12 M16x2
2J-08 210 90 170 133.4 56 80 60 38 16 M20x2.5
2J-10 254 95 220 171.4 56 75 55 38 16 M20x2.5
2J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
2J-05 M10 15 56 36 20 M10 42.5 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 B7.5 40 4~M8 64 30°
2J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 50°
2J-10 M16 24 71 51 25 M12 99.5 7.5 6~M8 140 50°
2J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 50°

AUTOGRIP 36



RALER=RENKEE (—) = Mo
LARGE THRU-HOLE AIR CHUCK

BABACKEIRGE - NEREL - BEEMML -
BANIRASR  ZERERS  BERISZHREREE OS8R
BREEEA -

® |arge through-hole 3-jaw power chuck with build in air cylinder.

® Patented air supply system, it is easy to install and maintain. No abrasion
issue of traditional sealed ring. Maintenance cost and time can be saved.

= ERERZFS Patent numbers :
{=[H : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
A7 : 3169457 / 3178706 (Japan) / BREE : EP 2517822 B1 (EU)
APBE : ZL 2011 2 0141324.9 /ZL 2012 2 0274549.6 (China)
&% : M440159 / M415011 (Taiwan) / 5[ : US8770222 B2 (U.S.A.)
AT 1 0000278076(ltaly)

i
s
)]
7
xR

Position for fix/screw
< ZERERBHIE
4~26.5

2~RC1/8" F—* 2~TH3/8"
aQ

2T

L]
T
{ . .
L |- Serration PItCl} ‘
= HEEaEE 1.5x60 \ i
T
42,5 I;] M Air supply device /.
= K HIE . j?’
525 | | r‘ ) _
.G ]
_F S —
8 } = a
T — A=l ©
) T § L
a Z o S
8 E
a
Q ﬁ
H
L
L1 B
REBIREIEREIET]
Subject to technical Ichanges AP-A
BHIRRHE SPECIFICATIONS
o S AR = I TRFER = = = = SRUHEE
1) {=] =3 =
B BAE  TRESD 0D, BARREN | BAKSH | BELEK | B2 emmhogiem
— Thru-hole Dia. Ja\EvD?:())ke ﬁajx( E,Vi“/rj]\ Max. pressure Max.fg:a;rgnplng Max. speed M?r:r:S;of Weight Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) min* (r.p.m.) kg * m? kg lit (at 6kgf/cm?)
AP-52 A6 52 59 170 15 0.6(6.1) 40.5(4128) 3900 0.2 26 | 30 3.1
AP-66 A6 66 7.6 215 24 0.6(6.1) 50(5097) 3000 0.4 38 | 45 51
AP-86 A8 86 8.9 268 43 0.6(6.1) 80(8156) 2800 0.7 58 72 8.7
AP-115 | A8 115 10.6 330 55 0.6(6.1) 90(9174) 2000 1.7 92 | 112 12
4MEIRST DIMENSIONS
Model A B C D D1 E E1 F G H J K L
AP-52 | A6 235 121 140 170 215 106.38 6.5 19 52 215 58.5 170 2 6~M10
AP-66 | A6 265 134 153 170 245 106.38 6.5 19 66 215 65 215 2 6~M10
AP-86 | A8 315 142 169 220 295 139.72 6.5 27 86 215 67 268 2 6~M10
AP-115 | A8 370 154 181 220 350 139.72 6.5 27 115 215 69 330 2 6~M10
Model L1 M N P Q max. Q min. R max. R min. S] T U \Y
AP-52 | A6 15 18 37 73 20 21.2 9.2 38 35.1 31 12 1455 6~M12
AP-66 | A6 16 18 38 95 25 23.7 8.7 50.2 46.4 35 14 159.5 6~M12
AP-86 | A8 16 24 43 110 30 32.2 12.7 62.2 57.8 40 16 184.5 6~M16
AP-115 | A8 16 24 51 130 30 44.7 14.7 77 717 50 21 212 6~M16

AT EIES AP-A B2 <% (The dimensions and the specifications of AP-A type are in red data.)
37 AUTOGRIP



g rp AFLERE REETE (=) =g

LARGE THRU-HOLE AIR CHUCK

_;\; ~ § o HBABICFERE  ARSBEL  BASHMT -

N ¢ > o WEANERE"BAKMEE  SRHMIEANENER  BERERZS -
B3EFER 2018, L () o HIIRAM TEIEDS EEATRTIIBEENE . UHa
TAIWAN EXCELLENCE

ZRRBEMR -
Large through-hole 3-jaw power chuck with build in air cylinder.
" ®  With build-in "pressure detection" device in chuck which can check the pressure is lowered
rapidly within the chuck, guarantee to the security of operating.
®  Patented air supply system, it is easy to install and maintain. No abrasion issue of traditional
_‘. 4 sealed ring. Maintenance cost and time can be saved.
B EFEmFI Patent numbers :
5[ : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
HZ7K : 3169457 / 3178706 (Japan) / B2 : EP 2517822 B1 (EU)
RPBE : ZL 2011 2 0141324.9 / ZL 2012 2 0274549.6 (China)
£ : M440159 / M415011 (Taiwan) / 26 : US8770222 B2 (U.S.A.)
$K7) 1 0000278076(Italy)

i
s
)]
7
xR

&
p

Position for fix screw

ZEEEBRHUE
2~RC1/8" ) 4~ 265
2~THS5/8
pressure detection
(0.d clamping only)
B i EN(R @A R ) :
M  Serration Pitch
~—1 BEaRk 3.0x60°
Kl ‘
‘[ﬁ ﬂ'ﬁ ( '/V Airs%%y device
5 L s ARG L
B 5 sl N L B
~ — \/“
. T x
814 &= 8
(8}
Q E
Q| -
L2 ﬂ(‘\v 8| ®
T —
L1 El
| B L1 H
BRI ERHER) L
Subject to technical changes AP-A B
FFR1& SPECIFICATIONS
o | O MiT#8 TEFER = = = - TRHES
] = =
itk B (B Chucking Dia. =AERES RAKKFH R=ITEE I B8 ((EFBEES) bkgfiom?)
Model Thru-hole Dia. Ja\EvD?:c):ke ;'Aiaj; &/\Win.|  Max. pressure Max.fg:'i;nplng Max. speed M?,:g?g; of Weight Air Consumption
mm mm mm mm MPa (kgflcm?) kN (kgf) min* (rp.m.) | kg * m? kg lit(at 6kgficm?)
AP-145 | A1l 145 14 420 62 0.6(6.1) 110(11213) 1500 3.8 156 | 182 17.8
AP-185 | A15 185 14 460 100 0.6(6.1) 160(16310) 1700 6.0 188 | 223 22
AP-230 | A15 230 17 535 170 0.6(6.1) 150(15290) 1300 111 265 | 310 34
AP-275 | A20 275 17 580 200 0.6(6.1) 160(16310) 1100 155 301 | 346 39
AP-320 A20 320 17 658 200 0.6(6.1) 180(18348) 1000 27.2 415 | 505 45
AP-375 | A20 375 24 738 260 0.6(6.1) 210(21406) 900 44.2 530 | 545 55
4MURST DIMENSIONS
Model A B (& D D1 B E1l F G H J K L L1
AP-145 | A11 @ 400 198 231 300 365 |196.87| 8 33 145 34 120 420 3.5 9~M12 20 31
AP-185 | A15 460 198 238 300 405 285.78, 8 40 185 44 120 460 85 9~M12 20 85
AP-230 Al15 515 226 266 380 483 |285.78| 8 40 230 49 145 535 35 6~M16 24 35
AP-275 | A20 560 232 272 380 528 412.78 8 40 275 52 152 580 35 6~M16 24 35
AP-320 A20 615 256 306 520 580 |412.78 8 50 320 55 116.5 658 3.5 9~M16 25 33
AP-375 | A20 690 272 322 520 650 |412.78 8 50 375 55 127 738 85 9~M16 28 88
Model L2 M N P Qmax. = Qmin. | Rmax. | Rmin. S T U Y W X Y
AP-145 | A11 = 6~M20 63.7 165 43 53.5 23.5 98 91 62 25.5 57° 242 0° 38 20
AP-185 | A15 | 6~M24 63.7 165 43 53.5 23.5 118 111 62 25.5 58 ° 272 7° 38 20
AP-230 A15 | 6~M24 71.7 180 60 48.5 18.5 145 136.5 64 25.5 30° 300 7° 33 15
AP-275 | A20| 6~M24 71.7 180 60 48.5 185 167.5 159 64 25.5 30° 322 7° 30 12
AP-320 A20 | 6~M24 81.5 210 60 60.5 24.5 190 181.5 74 30 52° 350 7° 27 9
AP-375 | A20| 6~M24 81.5 210 60 66.5 24.5 2235 2115 74 30 52-° 387 7° 27 9

AL EBEES AP-A BLZ<TIE (The dimensions and the specifications of AP-A type are in red data.)
AuToGRIP 38



’ APS AFE R R B SCEE (—BItiTHE ) =nerem

LARGE THRU-HOLE AIR CHUCK (DOUBLE SPEED JAW STROKE)

BAEASRENRE - NEREL - BaEMINT -
REEARE"BIBE"HE - e RBEAN LB ER - BERIEELE -
BIIRAS ZERZRES  BERIKTHIRERELE 068
ZRRBIERS -

o REAZRB"RFBH"HE - BEBRITIREUBTREPRELE  EMER
WA MR R TH R ET 218 - (RBRARIMERE)

o MERITE  JHEREMEERRE -

® |arge through-hole 3-jaw power chuck with build in air cylinder.

®  With build-in"pressure detection"device which can check the rapidly decreasing pressure
within the chuck, guarantee to the security when operating.

® Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

®  The build-in "clamping detection" device can avoid jaws clamping the workpiece during the rapid

stroke stage. This mechanism can also prevent causing the damage of the internal parts or
flying out of workpiece.(only for external clamping)

® Extended jaw stroke design can shorten the processing time when gripping.

AR RETERRBARHENZIEN -

Notice:No clamping in rapid stroke period.

i
s
)]
7
xR

Position for fix screw

X, G ZEBEERHUE
‘ 4~EG.§ 150
i}
D
ITTe Tehfe| %) |
- o | offield] 1 -
‘ L M FEE3 000" a7
T |
T v r— Kjk
b
1 ﬂ
Air supply device
j[[# o i
| p e =
a4
N~
< I w| |
Q o Q
Q
E S
I I I
\—'—’—LJ;
L L1
Rapid_st;oke
B lamping stroke
xR
[ I T T I
% 4 4v Rapidstioke  Clamping stroke
REGR  REOE
_ |
|
1RBIARIERB1EF Subject to technical changes % ——
#R1& SPECIFICATIONS
z S 4 718 PSS R=LEY = S = TRHHEE
] = =
B3t B (=EE9) Chucking Dia. BRI B : g8 (5FAE /) 6kgficm?)
—— Thru-hole Dia. Ja\sz?Zz;ke =&A Max. | &/)\WMin. Max. Clamping force Max. speed M?:;?t?; cl Weight Air Consumption
mm mm mm mm kN (kgf) min*(r.p.m.) kg * m? kg lit(at 6kgficm?)
APS-185 185 26 14 460 127 110(11216) 1300 6.45 198 22
4MUR~T DIMENSIONS
Model A B C D E F G H J K L L1 M
APS-185 460 221 300 425 8 185 45 124 50 3.5 9~M12 17 63.7
Model N P Q max. Q min. R max. R min. S T U \Y w X Y
APS-185 165 43 37 17 145 125 62 255 58 272 7° 38 30

39 AuTtoGRIP



CL BN Qs

COLLET CHUCK

BUETUE M 2 3eeE - BMECNCER - ERE - sSiE MR -

SiEE  SEEESHMERS -

EEMIKERET - BLETIHIAGEA T HBALE -

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

BREMEIARTS DIN 6343 #1% -
The collet used must accord with DIN 6343.

= EHREmZFI Patent numbers :
&7 : PAT.NO.M380842(Taiwan)
APE : PAT.NO.ZL201020113762.X(China)

L1

L Lock Screw
5 E 121

DA
acC
@D
oK
aJ
|
|
|
JK
|
]
!
oOF
DAL

REBMRBIE LR E‘J

Subject to technical changes B
i #R4& SPECIFICATIONS

B B el o | SERAAN RAEN | REEME | EE | GREK mmEmd | Cpo"

- P;zs:r lefd Hz‘i?gtfm Sﬁz-e Max. D.B. pul Max.fglrir:ping Max. speed o’\;kijr:r:tri]; Weight = Matching steel Matching Cy1. Max. pressure

mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg-m? kg collet MPa (kgf/cm?)

CL-26 4.5 3~26 4~22 4~18 | 17.6(1800) = 37.9(3870) 8000 0.040 43 161E TK-A533 2.4(24)
CL-30 4.5 3~30 4~26 4~20 | 19.6(2000) = 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 6~32 6~26 | 22.5(2300)  48.5(4950) 6000 0.062 7.0 171E TK-C643 2.3(23)
CL-42 6 3~42 6~36 6~29 | 24.5(2500) 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52 8~45 7~36 | 27.4(2800) 59.0(6020) 6000 0.101 143 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42 | 29.4(3000) 63.7(6500) 5000 0.098 14.1 185E TS-866 1.8(18)
CL-6022 6 5~60 8~52 7~42 | 29.4(3000) 63.7(6500) 5000 0.126 = 16.3 185E TS-866 1.8(18)
CL-80 6 20~80 @ 18~69 | 15~56 = 34.3(3500) | 71.5(7300) 4000 0.108  17.8 193E TK-A1287 1.6(16)
4R <) DIMENSIONS

Model A Al B C(H6) D E  E1 Fmax. Fmin. Gmax. Gmin. H J K max. L L1 M
CL-26 120 85 100 110 826 | 4 23 26 3 7 2.5 15 12 M40x1.5 @ 3~M10x25 | 16 4
CL-30 120 85 100 110 826 4 23 30 3 7 2.5 15 12 M40x1.5 @ 3~M10x25 | 16 4
CL-36 155 | 100 @ 120 140 1048 5 23 36 3 7 1 175 | 20 M55x2 3~M10x25 | 18 4
CL-42 155 = 100 = 120 140 1048 5 23 42 3 7 1 175 | 20 M55x2 3~M10x25 | 18 4
CL-52 185 | 130 | 1455 | 170 | 1334 5 | 27 | 52 5 9 3 24 30 M60x2 6~M12x30 | 20 5
CL-6017 185 = 130 1455 170 | 1334 5 27 60 5 9 3 24 45 M75x2 6~M12x30 | 20 5
CL-6022 234 130 142 220 1714 5 32 60 5 13 7 24 45 M85x2 6~M16x30 | 20 5
CL-80 234 156 = 163 220 1714 5 32 80 20 155 | 9.5 22 45 M100x2 = 6~M16x30 & 20 5]

AUTOGRIP 40



CL-A 2 AR 2K G Bk

COLLET CHUCK

AUHETUSEME B 2R REE - MECNCERK - SR - stE thies & -

BiEE - SEENSHIMERE -

FEFKEET - BILETIEIAEA T EBEAE -

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

n BEEMEIATTS DIN 6343 #RE -
®  The collet used must accord with DIN 6343.
= EREMRZFI Patent numbers :

& : PAT.NO.M380842(Taiwan)
APBE : PAT.NO.ZL201020113762.X(China)

L1 E
‘ L Lock Screw
— 4 [E 9215
[ |
77’””%? o =(d
— === _—
slelgie R -= A
M SlHL
~//5 0 Il K
¥ fJ
Eoet e changes B
$ i #31% SPECIFICATIONS
3 R giiﬁ BANE | REESR | 1 EE | GRER | EmEsE | Spn
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg-m? kg collet MPa (kgf/cm?)
CL-26 |A4 45 | 3-26 4~22 4~18 | 17.6(1800) 37.9(3870) 8000 0.040 42 161E TK-A533 2.4(24)
CL-30 |A4 45 | 3-30 4~26 4~20 | 19.6(2000) 42.1(4300) 8000 0.038 4.1 163E TK-A533 2.7(27)
CL-36 | A5 6 3~36 6~32 6~26 | 22.5(2300) 48.5(4950) 6000 0.058 6.3 171E TK-C643 2.3(23)
CL-42 | A5 6 3~42  6~36 = 6~29 | 24.5(2500) 52.9(5400) 6000 0.057 6.1 173E TK-C643 2.5(25)
CL-42 | A6 6 3~42  6~36 = 6~29 | 24.5(2500) 52.9(5400) 6000 0.061 75 173E TK-C643 2.5(25)
CL-52 | A6 6 5~52 = 8~45  7~36 | 27.4(2800) 59.0(6020) 6000 0.093 13.8 177E TK-A853 2.0(20)
CL-60 | A6 6 5~60 8~52 = 7~42 | 29.4(3000) 63.7(6500) 5000 0.091 135 185E TS-866 1.8(18)
CL-60 | A8 6 5~60 8~52 = 7~42 | 29.4(3000) 63.7(6500) 5000 0.104 145 185E TS-866 1.8(18)
CL-80 | A8 6 | 20~80  18~69 | 15~56 | 34.3(3500) 71.5(7300) 4000 0.120 = 19.8 193E TK-A1287 = 1.6(16)
4N~ DIMENSIONS
Model A Al B D D1 E Fmax. | Fmin. = Gmax. G min. H J K max. L L1 M
CL26 |A4 110 85 | 108 826 | 6351 | 25 | 26 3 9.5 5 15 | 12 | M40x15 | 3~M10x30 @ 15 4
CL-30 |[A4 110 85 | 108 826 6351 25 30 3 9.5 5 15 | 12 | M40x15  3~M10x30 @15 4
CL-36 |A5 135 100 & 130 104.8| 8256 | 27 | 36 3 14 8 175 20 M55x2 | 4~M10x30 @14 4
CL-42 |A5 135 100 @ 130 104.8 | 8256 | 27 | 42 3 14 8 175 20  M55x2 | 4~M10x30 14 4
CL-42 |A6 165 100 | 130 133.4| 106.38 | 32 | 42 3 17 11 175 20 | M60x2 | 4~M12x35 16 4
CL-52 |A6 170 130 @154 133.4| 106.38 | 27 | 52 5 105 45 24 | 45 | M60x2 @ 4~M12x35 | 20 @5
CL-60 |A6 170 130 | 154 133.4 106.38 27 @ 60 5 105 45 24 | 45 | M75x2 | 4~M12x35 | 20 | 5
CL-60 |A8 210 130 | 1475 171.4 13972 35 60 5 35 25 | 24 45 M85x2 | 4~M16x40 @ 22 5
CL-80 |A8 210 156 | 175 171.4 | 13972 35 80 20 75 15 22 | 45 | M100x2 6~M16x40 | 22 | 5

4] AUTOGRIP



= A BRI EKIEE Et
’ CBI CB-A 5iveidkcorier cruck

BWECNCEK - SR - sStEMiEHIER - fFEMsL0EINTA -
BemagmRiF e - BEEEMT -

SEE  SEEKASBIMLE

ZEMKEET - BLEUIBIKEA BB ILE -

DRAW BACK type collet chuck used mainly on CNC turning machines, special
purpose machines, etc. Suitable for machining bar material and mandrel.

High clamping accuracy, high speed and high rigidity.

® This is a completely sealed design, which prevents coolant and chips from
entering the spindle.

B JEREEBERERZTSAE -

K max EREFIREOEERIZT 7 HAFRE  AERFERTH -
= Jis the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

77308
i _
LT mes
i 1 ‘axla clamping
&[5 32 4F radial clamping % %
< 7| g < O T - - wl Y
sl 9 E s| 8 § E 8 H [T sl & §
-
G | & )
N
SR
M
B
B
1,\%5%5%1@31;@%‘%Uh
Subject to technical changes
CB-A CB

¥ 1ii#R31% SPECIFICATIONS

vy mmeR  TANEED o BERAAN  RAKEN  REEEN EE | @RERK  ARERT  SAERE)
Model Pilturzgzr ijd H/e:fg?m Sﬁge Max. D.B. pull Max.fglrir;plng Max. speed | Weight | Matching steel Matching Cyl. PG [
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg collet MPa (kgf/cm?)
CB-42 45 4~42 | 7~36 | 7~30 | 34.3(3500) | 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)
CB-42 A5 45 4~42 | 7~36 | 7~30 | 34.3(3500) | 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 45 4~42 | 7~36 | 7~30 | 34.3(3500) | 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CB-52 45 4~52 | 7~36 | 7~45 | 39.2(4000) | 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 45 4~52 | 7~36 | 7~45 | 39.2(4000) & 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 45 4~52 | 7~36 | 7~45 | 39.2(4000) | 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 45 4~52 | 7~36 | 7~45 | 39.2(4000) | 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 45 4~65 | 8~56 | 8~46 & 44.1(4500) = 103(10500) 5500 15 RG-65 TS-866 3.0(30)
CB-65 A6 45 4~65 | 8~56 | 8~46 | 44.1(4500) | 103(10500) 5500 13.6 RG-65 TS-866 3.0(30)
CB-65 A8 45 4~65 | 8~56 | 8~46 | 44.1(4500) & 103(10500) 5500 17.6 RG-65 TS-866 3.0(30)
CB-80 45 5~80 = 8~68 | 8~56 | 50.0(5100) = 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
CB-80 | A8 45 5~80 = 8~68 | 8~56 | 50.0(5100) = 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
ShEYR ST DIMENSIONS
Model A Al A2 B C(H6) D D1 B =1l F |G max. G min. H J K max. L L1 M N
CB-42 150 | 125 | 102 | 81.5 | 140 1048 - |5 31 43 105 | 6 |17.5 30 MS55x2 3~M10x25 11 60 & 4~M8
CB-42 A5 140 125 102 915 - 1048 8256 - 415 43 | 255 21 175 30 M55x2 4~M10x25 12 70 | 4~M8
CB-42 |A6 165 125 102 91.5 - 1334 /106.38 - 45 43 | 29 | 245 17.5 30 | M55x2 | 4~M12x35 18 73.5 4~M8
CB-52 150 | 125 102 835 140 1048 - |5 315 53 11 65 175 30 M60x2  4~M10x25 16 62.5| 4~M8
CB-5217 180 | 125 | 102 | 87 | 170 1334, - |5 35 53 | 145 | 10 |17.5 30 M60x2 4~M12x30 18 66 & 4~M8
CB-52 A5 140 125 102 935 - 1048 8256 - 415 53 | 26 215 175 30 M60x2 4~M10x30 16 725 4~M8
CB52 A6 165 125 102 99 - 133.4/106.38 - 47 | 53 | 315 27 |17.5 30| M60x2  6~M12x35 18 78 4~M8
CB-65 185 | 145 120 100 170 1334 - |6 50 66 135 9 215 32 | M75x2  6~M12x40 20 73.5| 4~M8
CB65 A6 165 145 120 111 | - 1334 106.38 - | 61 66 | 305 26 215 32 M75x2 4~M12x40 20 845 4~M8
CB-65 A8 207 145 120 107 @ - 1714 139.72 - | 57 66 | 26,5 22 215 32 M75x2 4~M16x40 24 80.5 4~M8
CB-80 235 175 | 150 112 220 1714 - 5 37 /825 135 8 | 25 45| M85x2 6~M16x30 22 87 | 6~M10
CB-80 A8 | 210 175 150 125 | - 1714 139.72 - 50 825 265 | 21 | 25 | 45 M85x2 6~M16x50 24 100 6~M10

AUTOGRIP 42



7 S 33 A = P - N
CBEICBE'A BRIENMN T 1E B E IR IGE Ceabdney
END STOP COLLET CHUCK
o BHIRFE RESERREWEE dBEEMNLHEANRE ERERBEESE
NS -
o EBHOEEEKIFNE  BEHEEML  KEERFRETH -
o IERURHIEZGMBRER - ERHEMEINEE O IGRE -
® End stop clamping.
® With backgauge block mechanism, positioning and the length control of the
‘ workpiece can be more precise.
® Backgauge block and cover are interchangeable. The chip-proof function can
also be achieved.
m ) EREEIEERERIZET SR -
K max BEREARIEDERIET 7R ARE I RERFKTH -
= Jis the hole diameter of blank draw nut.
K is the maximum thread specification and it could be customize.
l%/II(]JEkBIock set Block ock se
rg, Mo EmRREL : Ei;:m;&tﬁiﬁ

I G

R
BLOCK

mm%am clamping
- ¢
=V

188 [ 32 §5 radial clamping

@D1
K max.

@D
[5N)

<
Q

Collet set bolt Collet set bolt
M L1 E1l BAREMRE _ ERENER
B | B N
ﬁlﬁﬁﬁ‘fgﬁ:ﬁfghanges CBE-A ﬁ
i #31% SPECIFICATIONS
B EBTR o G iy | BERAAN | AN  REESH  EE | gREX | EMENE | RKEAE)
Model Pslturg S Rlﬁd H;fg?m Stj‘;j:g'e Ak (B, ol Max.fglacrénplng iR gpact] | WSt Matc&i)l?lgtéteel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg MPa (kgf/cm?)
CBE-42 45 | 4~42  7-36 | 7-30  34.3(3500) = 78.4(8000) = 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 45 | 4~42  7-36 | 7-30  34.3(3500)  78.4(8000) = 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 A5 45 | 4~42 736 7~30 34.3(3500)  78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 A6 45  4~42 7-36 7~30 34.3(3500)  78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CBE-52 45 | 4~52  7-36 | 7~30  39.2(4000) = 92.1(9400) = 7000 6.9 RG-52 TK-A853 3.2(32)
CBE-5212 45 | 4~52  7-36 | 7~30  39.2(4000) = 92.1(9400) = 7000 6.7 RG-52 TK-A853 3.2(32)
CBE-5217 45 | 4~52  7-36 | 7-30  39.2(4000) = 92.1(9400) = 7000 8.9 RG-52 TK-A853 3.2(32)
CBE-52 A5 45  4-52 736 7~30 39.2(4000) = 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CBE-52 A6 45 | 4-52 736 7~30 39.2(4000) = 92.1(9400) 7000 8.3 RG-52 TK-A853 3.2(32)
CBE-65 45 | 4~65 8-56  8~46  44.1(4500) = 103(10500) 6000 8.6 RG-65 TS-866 3.0(30)
CBE-6514 45 | 4~65 8-56 | 8~46  44.1(4500) = 103(10500) = 6000 9.3 RG-65 TS-866 3.0(30)
CBE-65 A5 45  4-65 8~56 8~46 44.1(4500) 103(10500) ~ 6000 108  RG-65 TS-866 3.0(30)
CBE-65 A6 45 | 4-65 8~56 8~46 44.1(4500)  103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
CBE-65 A8 45  4-65 8~56 8-46  44.1(4500) 103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
SMEURSF DIMENSIONS
Model A Al A2 B C (H6) D D1 E | E1 F |G max.| G min. H J K max. L L1 M
CBE-42 150 132 | 100 95 140 1048 - 5 20 48 55 1 17 45 M55x2  4~M10x25 19.5 58
CBE-4212 132 132 | 100 95 120 100 - 5 - 48 55 1 17 45 M55x2  4~M10x25 19.5 58
CBE-42 A5 132 132 100 105 - 1048 8256 - - 48 205 16 17 45 M55x2 | 4~M10x30 16 68
CBE-42 A6 160 132 100 105 - 1334 106.38 - 35 48 205 16 17 45 M55x2 | 4~M12x35 18 68
CBE-52 150 | 140 107 99 | 140 1048 - 5 - 52 55 1 | 17 56 M60x2  4~M10x20 145 60
CBE-5212 140 | 140 107 99 | 120 100 | - |5 - 52 55 1 | 17 |56 M60x2  4~M10x20 145 60
CBE-5217 180 | 140 107 109 170 1334 - 6 - 52 145 10 17 |56 M60x2  4~M12x30 18 70
CBE-52 A5 140 140 107 109 - 1048 8256 - - 52 205 16 17 56 M60x2 | 4~M10x30 16 70
CBE-52 A6 160 140 107 109 - 1334 10637 - - 52 205 16 17 56 M60x2  4~M12x35 18 | 70
CBE-65 180 157 | 122 114 170 1334 - 6 24 56 15 105 175 68 M75x2  4~M12x30 18 72
CBE-6514 157 | 157 122 116 140 1048 - 6 - 56 17 125 175 68 M75x2  4-M10x30 18 74
CBE-65 A5 157 157 122 114 - 1048 8256 - - 56 21 165 175 68 M75x2  4~M10x25 16 72
CBE-65 A6 157 157 122 112 - | 1334 106.38 - 56 19 145 175 68 M75x2 | 4~M12x35 185 70
CBE-65 A8 202 157 122 116 - 1714 13972 - 38 56 23 185 175 68 M75x2  4~M16x35 24 74

43 AUTOGRIP




AUEE QIS

A TEE ] E TV 1% B 2 R AR 6

DEAD LENGTH COLLET CHUCK

A cBD/cBD-A

o RIS - BECEREEE  REMEIFHEIRA - oBEEUIGF
ABRE  GREBEZERIEMNEE -
o EECAUTOGRIPREBER - AEEE—MEMEIGE THERENIER -
ofETHREAZE -
o IERIRB[IERT GMERGH - BAERENBEINETLIGRE - B5E
Fohaess - olp /D IRGRIRIB NIRS -
® Clamping push with the backgauge block mechanism, collet will not be
pushed, can precise positioning for workpiece length, make the precision of
the length control more precise.
® Match AUTOGRIP's Rubber collet(RG series), clamping direction
perpendicular to axis, never occur that situation of collet push workpiece.
® Backgauge block and cover able to interchangeable use, as well as application
and chip-proof function.
B ) EREEBERERIZT S -
K max EREFIREOERIZT TR AFRE - AERFERTH -
= Jis the hole diameter of blank draw nut.
K is the maximum thread specification and it could be customize.
E
———
7°7'30" g\ - I G . -
)
/ .
~f SEEEE 88 ¢ sgfs 1 el §| &
7 #
M L) e | £
M
B B
(REAIEIELROHER CBD-A CBD
Subject to technical changes Pt
H1li#1& SPECIFICATIONS
ik EBTR o ekt iy | BREAAY | BN | REENE  EE | GMER | BRESE | EAERE)
Model PS!TUrQE:r lefd Hgfg?m S?]?J?re Max. D.B. pull Max.fglrirgping Wik sppeed | Wi Matcgci)rl}gers‘teel Matching Cyl. MER, (IESSITE
mm mm mm mm kN (kgf) kN (kgf) min (r.p.m.) kg MPa (kgf/cm?)
CBD-52 4.5 4~52 | 7~36 | 7~45  39.2(4000) | 92.1(9400) 7000 7.3 RG-52 TK-A853 3.0(30)
CBD-5212 4.5 4~52 | 7-36 | 7~45  39.2(4000) | 92.1(9400) 7000 7.1 RG-52 TK-A853 3.0(30)
CBD-5217 4.5 4~52 | 7~36 | 7~45  39.2(4000) | 92.1(9400) 7000 10.9 RG-52 TK-A853 3.0(30)
CBD-52 A5 4.5 4~52 | 7-36 | 7~45  39.2(4000) | 92.1(9400) 7000 7.8 RG-52 TK-A853 3.0(30)
CBD-52 A6 4.5 4~52 | 7~36 | 7~45  39.2(4000) | 92.1(9400) 7000 9.1 RG-52 TK-A853 3.0(30)
CBD-65 4.5 4~65 | 8~56 | 8~46 = 44.1(4500) | 103(10500) 6000 8.6 RG-65 TS-866 2.7(27)
CBD-6514 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 9.3 RG-65 TS-866 2.7(27)
CBD-65 A5 4.5 4~65 | 8~56 | 8~46 = 44.1(4500) | 103(10500) 6000 10.8 RG-65 TS-866 2.7(27)
CBD-65 A6 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
CBD-65 A8 4.5 4~65 | 8~56 | 8~46 = 44.1(4500) | 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
4MEIR < DIMENSIONS
Model A Al A2 B | C(H6) D D1 E | E1 F Gmax. Gmin. H | J | Kmax L L1 | ™M
CBD-52 150 | 140 | 116 | 99 | 140 | 104.8 - 5 - 52 7 25 | 17 |56 | M60x2 | 4~M10x20 14.5 57
CBD-5212 140 140 116 99 = 120 @ 100 - 5 - 52 7 25 17 |56 | M60x2 | 4~M10x20 14.5 57
CBD-5217 180 | 140 | 116 | 109 | 170 | 133.4 - 6 - 52 16 115 17 56| M60x2 4~M12x30 18 @67
CBD-52 A5 | 140 | 140 @ 116 109 - 1048 8256 - - 52 | 22 175 17 56 | M60x2 4~M10x30 16 @67
CBD-52 A6 | 160 | 140 | 116 & 109 - 1334 106.38 - - 52 | 22 175 17 56| M60x2  4~M12x35 18 @67
CBD-65 180 | 157 | 132 | 112 & 170 | 133.4 - 6 24 54 155 11 175 68 M75x2 4~M12x30 18 | 70
CBD-6514 157 | 157 | 132 | 114 | 140 | 104.8 - 6 - 54 175 13 175 68| M75x2 4~M10x30 18 72
CBD-65 A5 157 @ 157 | 132 @ 112 - 104.8 8256 @ - - 54 215 17 | 175 |68 | M75x2 @ 4~M10x25 16 70
CBD-65 A6 | 157 | 157 | 132 110 - 1334 106.38 - - 54 | 195 15 175 68| M75x2 4~M12x35 18.5 68
CBD-65 A8 | 202 | 157 132 114 - 1714 13972 - | 38 | 54 235 19 175 68| M75x2  4~M16x35 24 72

AUTOGRIP 44



U E I BAIE M PE

STATIONARY DRAW COLLET CHUCK

&

A scB

o EHHEIK - BRI OMER -
o SREEXRSHIMLEE -
- » - o AEZEHIMEBCIITUMET -
— o LERAS  BLILEEENCETMI -
o HIRGHAZERDK - MIERGERE -
Kg o RMANEAEHEERMBRMEHHET -
1 ®  Build-in cylinder, ideal for drilling machines, milling machines and machining
TAIWAN centers
B SEecs2 ®  Work with AUTOGRIP's rubber collet(RG series), quick change and saving
\ = runtime.
o N ® Two modes for the media supply: side-supply mode or baseplate-supply
mode.
L1 K
\ @ )/
— —
< O| Ww (U —
@) o
Q9 Q 3 <é: 0
E % — n
2~OHE N moow =
Tfingl\l\ % Unclamp Clamp
i JJ}« P
& 1 |
I 2 A
-MEmeEn /| 6 || Unclamp Clamp
Baseplate T R o
Pressure Port B 2~RC1/4" RE 4R
Side Pressure Port
(REBBIBIERRORR
Subject to technical changes
2 Air#21% SPECIFICATIONS
= RAKFFEET] = = U = -
- TR ER) . - Chli(zlg%capacitv . RARST) ) EEIEES RAERES
A =l /\ N A
Jaw stroke(Dia.) Round Hexagom Square Max. clamping force Weight Maiching dioe! collst Max. pressure
Model mm mm mm mm kN (kgf) kg MPa (kgf/cm?)
SCB-52 +0.5 4~52 7~45 7~36 80(8150) 8.6 RG-52 4.0(40)
SCB-65 +0.5 4~65 8~56 8~46 105(10700) 10.2 RG-65 4.2(42)
4N R <) DIMENSIONS
Model A(g6) Al B © D D1 E F G H
SCB-52 175 110 84.5 25 152 95 7 53 24.5 17
SCB-65 192 130 94 30 169 114 9 66 26.5 20
Model J K L L1 M N P Q R S
SCB-52 10 51.5 4~M10 12 4.2 P7 3~M6x12 160 42 69.5
SCB-65 10 61.5 4~M10 12.5 4.2 P7 3~M6x12 175 50 7

45 AUTOGRIP




RG ELEAEDN BIBETR
RUBBER GRIP COLLET
o TIARATIETUE BTN ET AU IR -
o VrEBSAEEIBRFTFTHNEMY - EAEHFHIRES
BEAES5EEIH -
BRE—HEIHRY -
BRI EREEL0.5mm -
BIRRIESE -
FhEERA B RR T -
Rubber grip collet for push type or draw type collet chucks.
Full griping area: high rigidity, more gripping force.
Gripping smoothly: prevent to damage the workpiece.
® More accurate than standard spring collets. Accuracy:
With customized rubber grip collet.
®  Grip Range: +0.5mm.
Quick change and easy.
®  Dust-proof and swarf-proof design.

o | | [a) - o ()
Q Q Q Q
0oog
15 \Lls”
L 1 L
IREBMIBIE AR
Subject to technical changes RG_RT RG_R
R fli#31& SPECIFICATIONS
o B IFERE A _
B Max. Chucking Capacity J 5 L BERIER
Model Ll g Matching Collect Chuck
mm
RG-42R 4~42 54 79.3 42 CB-42, CBE-42
RG-42RT 11~42 54 79.3 42 CB-42, CBE-42
RG-52R 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-52RT 11~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-65R 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
RG-65RT 11~65 80 99.5 53] CB-65, CBD-65, CBE-65, SCB-65
A& D(S,H) L ADIN
L Test Bar D(S,H) mm Class1 Class2
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020
10.0~18.0 40 0.020 0.030
— — £ 18.0~24.0 50 0.020 0.030
e 24.0~30.0 60 0.020 0.030
30.0~50.0 80 0.030 0.040
H‘\/ 50.0~60.0 100 0.030 0.040
1 —RAEIKIEER DIN Z4&

i 2 AQEH L DIN — R R iR%E
Notel : Collets chuck are conformed to DIN 6343 Class2.
Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

AUTOGRIP 46



oBE M 2 2K B R
STEEL COLLET

i ; )
S S— 3| ©
— 1
L 15°
DIN 6343 Collet standard
R E
REIPRIEBE R
Subject to technical changes
MBI R~F DIMENSIONS
EBAFFFRES g
SEERIIE Max. Chucking Capacity (mm) d 5 o 1 BERERRE
Collet Bt NEM Ft )
Matching Collet Chuck
Round Hexagom Square
161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4
163E 3~30 4~26 4~20 35 48 38 80 CL-30, CL-30A4
171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5
173E 3~42 6~36 6~29 48 60 50 94 CL-42, CL-42A5, CL-42A6
177E 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6
185E 5~60 8~52 7~42 66 84 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8
AIED(S,H) ADIN
L mm
Test Bar D(S,H) Class 1 Class 2
0.5~1.0 3 0.015 0.015
1.0~1.6 6 0.015 0.020
1.6~3.0 10 0.015 0.020
L
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020 ]
10.0~18.0 40 0.020 0.030 \_//J\_J\
18.0~24.0 50 0.020 0.030 i i
24.0~30.0 60 0.020 0.030 /
I
30.0~50.0 80 0.030 0.040 S )
50.0~60.0 100 0.030 0.040 o

7 —MRARIR BES DIN Z4&
Note: Collets chuck are conformed to DIN 6343 Class2.

47 AUTOGRIP



s 1 B SR P

STATIONARY CHUCK WITH THRU-HOLE

o UEBNPEHNKE BB - HARSTIHIPOEER -
BIMR=NmErw -
VH2-22002 S0 Frfc Y 2 SRBE A 18 R A 2H-2 BT AE E) -

o VH2-3200BY=\ PRECES 2 BeBA R4S R~ A E3H-2BU AR (S -
® Stationary Chuck with two or three jaws for drilling, milling and other
machines.
® Specification and size of matching chuck for model VH2-2200 is the same
as model 2H-2.
® Specification and size of matching chuck for model VH2-3200 is the same
as model 3H-2.
L reagE
*’—‘* Serration 1.5
| hvi
S S — "
A
g S gg
— E
i
i
7 J
VH2-3204,VH2-3205 VH2-2204,VH2-2205
{£35712#20nly 3 bolts | £43712420nly 4 bolts |
RBIBAERAER
Subject to technical changes
RTINS SPECIFICATIONS
BigE SEZEEFRES. Piston area MITIRER) =AERES B8
Vodel #lExtend hifflRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VH2-2204 52.4 46.7 55 2.0 (20) 9.5
VH2-3204 52.4 46.7 515) 3.0 (30) 9.5
VH2-2205 63.7 57.9 5.5 2.0 (20) 131
VH2-3205 63.7 57.9 515 3.0 (30) 12.6
VH2-2206 97.1 88.5 6.0 8(17.9) 21.5
VH2-3206 97.1 88.5 6.0 2.7 (26.8) 21.5
VH2-2208 128.9 113.6 7.6 2.1(20.7) 32.9
VH2-3208 128.9 113.6 7.6 2.9 (28.6) 33.4
VH2-2210 189.2 174.3 8.9 1.9 (19.2) 55
VH2-3210 189.2 174.3 8.9 2.9(28.7) 59
SMUR~F DIMENSIONS
Model A B © D(H7) E F G H J K L M N P Q
VH2-2204 113 155 137 50 5 27 23 34 59 1225 12 9 26 62 RC1/4
VH2-3204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-2205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-3205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-2206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-3206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-2208 210 217 195 80 5 55 29 44 91 160 14 13.5 30 75 RC3/8
VH2-3208 210 217 195 80 5 &5 29 44 91 160 14 13.5 30 75 RC3/8
VH2-2210 260 266 246 100 6 76 32 a7 102 192 17 13.5 30 75 RC3/8
VH2-3210 260 266 246 100 6 76 32 a7 102 192 17 13.5 30 75 RC3/8

AuTOGRIP 48



i
g
C
s

VP E B ZKEE PE
STATIONARY CHUCK
o UEACEENNE BABE - SESTIM D OEERE B TRSM

MmER -

VP-2008 0 PR 7 JRERAR I8 K <A 2P RV AR -
VP-300Z U FRECHY 2 JRBRARAE R~ /EHA3PRIAEE -

Stationary Chuck with two or three jaws for drilling, milling and other

machines.
® Specification and size of matching chuck for model VP-200 is the same as
model 2P.
® Specification and size of matching chuck for model VP-300 is the same as
model 3P.
T ’3‘_[ ===l
1 | \
s 88 7 # — <
e | _
E i D
iﬁﬁﬁ%
FIG/H VP-304 Onl
‘ J VP-305 %3
K
REBIIHAE R

Subject to technical changes

73R 4& SPECIFICATIONS

Rigge SEZEMEAEES. Piston area THTRRER) =AERES 52
- FH{AlExtend fifilRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgficm?) kg
VP-204 28.0 24.9 6.4 2.1(21) 71
VP-304 28.0 24.9 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 18.3
VP-306 63.1 5815/ 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 31.6
VP-308 103.4 90.8 8.8 2.8(28) 33.6
VP-210 153.1 133.5 8.8 1.5(15) 52.8
VP-310 153.1 133.5 8.8 2.2(22) 54.5
4MEUR~F DIMENSIONS

Model A B © D(H8) E F G H J K L M
VP-204 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-304 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-206 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-306 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-308 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

49 AuTOGRIP



T EIVRITIZRER

LONG JAW STROKE STATIONARY CHUCK

B P ERE - RITITE °

NEHELL - EFERAREBURENIRE -

ZERS  ELRENETMI -
BRKE(ERET - WOl EMIEEETEERT -

N L=
o R

B

A - ETHE U EER -

BB MmA - EPEB -
WEDGE-HOOK type power chuck, and long jaw stroke.
Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.
Easy to install. Installing the tubes and then operating.
Thin and compact design. Use standard soft jaws or standard hard jaws.
Air-tight pressure detect function is optional.

R (FER ).

Airtight pressure detect function is optional.

oIERCIREER AL -

L
— F
e hvA
I 1T B
= — - (D :—Et
i 3w
. 1 ~ 5
<o £
Q9§ g
=T | |
DI 135
%J 2~RC1/4” air supply port
40 for opgn/close Lock valve(Option)
B FEERA (R (B2 ECFV-01)
REBIRRIE AT
Subject to technical changes
BTG SPECIFICATIONS
s SIS BATS BAEREN SREHE _
B ) - - RT(ERES 58
£ =FN =/ RE SHER =13 SHJER 1 FAEE176.0 kgflcm?
Chucking Dia. Max. clamping force Max. pressure
Jast_lroke Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SM-306 13.1 168 11 15.9(1621) = 27.2(2780) 0.7(7) 1.2(12) 2 1.5 18.7
SM-308 16 210 13 26.2(2670) = 45.0(4590) 0.7(7) 1.2(12) 2 2.7 32.5
SM-310 19.6 254 18 37.0(3772) | 63.0(6422) 0.7(7) 1.2(12) 2 4.6 53.6
4MURST DIMENSIONS
Model A(h7) Al B (& D F G H J max. J min.
SM-306 206 168 110 188 15 40 73 20 18.25 7.75
SM-308 248 210 127 230 15 41 95 25 25.25 11.75
SM-310 300 254 145 280 16 46 110 30 36.75 14.25
Model K max. K min. L M N P Q R S T
SM-306 39 32.45 31 12 M10x1.5 11 139.5 104.5 55 18
SM-308 45 37 35 14 M10x1.5 11 160.5 125.5 68 25
SM-310 50 40.2 40 16 M12x1.75 13 182.5 147.5 85 30

Autocrip 50



SP BT AKEE M =M g hE R
STATIONARY CHUCK

o UEXPERBMUBNPZERE - B_MR=-TMERTELR -

o NEHMEL - SFERAKBUABNERE - JERRE@EAY -

o /JWBEAK  BBEBEMEMMI -

o RKRAS  EIEERIETMT -

o SHAKE(LERET - WolEMIRAEE NIRRT -

o DJHAVERFERBRATETML -

® Stationary Non-Thru-Hole Chuck and Stationary Thru-Hole Chuck. Two types
of jaws (two-jaw, three-jaw).

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

®  With small thru-hole and suits for long bar workpiece processing.

® Easy to install. Installing the tubes and then operating.

®  Thin and compact design. Use standard soft jaws or standard hard jaws.

°

Can work together with multi-plate.

6~N
-~
E 1
v Tl . T
=1 88 & 388 31 i
pa |
3wk L
- i)
= — Sy |
D7L7D] 2~RC1/4” air supply port C‘ose@_ﬂﬁ pen
for open/close
|27 FER 7, |45 | |\ mmmcamrv-01)
40 70 Lock valve(Option
B
SP-304 SP-306~SP-312 SP-206,SP-208,5P-210

L - — A
o T =EE
- =
T - = ciE ©
e o . i
] oy -
§ 8 §
f, |
s ® o K
) e 5
L f2~RC3/8’/' Tirsupply Pgrlto ‘Fﬁ: Ren ol 1o ?~RC3/8'/' alirsuPPlyCPI‘?:e 1 ngi RER(EEFV-03)
or open/close 8 - 'or open/close O 7. 3 -
iIe mnn /el |\ BEAGEL) = o |\ BaRRE e
56 RC1/4 B ERIET, .@‘B RO SR EAETL
B Reftor bt protection Roftor st protaction
P—— SP-316 SP-320/sP-324
Subject to technical changes
RTINS SPECIFICATIONS
. e TISEE BAKEN BAERES s SRNEER B
BIER Vs N . REERES BB
(B BA B fE | HE fE | aE fEFREE16.0 kgflcm? -
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . i X .
X . . . . . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgflcm? lit (at 6.0 kgf/cm?) kg
SP-304 5.1 110 10 7.5(765) 22.0(2243) 0.6(6) 1.3(13) 2 0.5 7
SP-206 5.5 168 30 14.0(1427) 24.0(2450) 0.7(7) 1.2(12) 2 1.4 16
SP-306 5.5 168 30 21.0(2142) 52.0(5303) 0.6(6) 1.3(13) 2 1.4 16.5
SP-208 6.8 210 42 28.9(2946) 49.6(5056) 0.7(7) 1.2(12) 2 2.5 27.7
SP-308 6.8 210 42 33.0(3365) 74.0(7546) 0.6(6) 1.3(13) 2 2.5 28.7

51 AutocrIP



’ SP 7 E K =T/ =T/ hes Bl ) hgga

STATIONARY CHUCK
Rigk mﬁ;; REFERE RAIKET : %kﬁﬁﬁ@?‘? SEEAED TREREE 8
(8 Bk 8N E | uE E | HE = 76.0 kgflom?
Model Ja?D?:())ke l\;:ah:(:king Ii\)/:; Pneux:;:Clampingljj;(:':ulic Pneum’\:l:: press:;iiraulic Min. pressure Alr consumption Weight
mm mm mm KN(kgf) kN(kgf) MPa(kgfilcm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-210 7 254 52 41.8(4260) 71.7(7308) 0.7(7) 1.2(12) 2 4.2 41.8
SP-310 7 254 52 48.0(4895) = 107.0(10911) 0.6(6) 1.3(13) 2 4.2 42
SP-312 9.3 304 60 61.3(6246) = 132.8(13532) 0.6(6) 1.3(13) 2 6.4 52.8
SP-316 14.5 400 30 96(9789) - 0.7(7) - 2 10.6 147.8
SP-320 16 500 45 104(10605) - 0.7(7) - 2 15 232.7
SP-324 16 600 140 153(15602) - 0.7(7) - 2 22 338.7
4N R~F DIMENSIONS

Model A(h7) Al B © D D1 E F G H J max. J min.
SP-304 148 110 84 130 15 13.5 - 25 52 14 3.75 0.75
SP-206 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-306 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-208 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75
SP-308 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75 é
SP-210 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75 =
SP-310 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75 zg
SP-312 350 304 130 330 18 13.5 65 54 130 30 30.75 12.75 -
SP-316 460 400 153 432 20 20 - 66 165 43 67.75 18.25
SP-320 540 500 170 500 22 20 - 74 180 60 87.5 24.5
SP-324 640 600 175 600 24 20 - 74 180 60 87.5 24.5

Model K max. K min. L M N P Q R S| T T1 U Vv
SP-304 31.5 28.95 23 10 M8x1.25 9 110.5 75.5 - - - - -
SP-206 47 44.25 31 12 M10x1.5 11 139.5 104.5 55 18 = = 6~M8x1.25
SP-306 47 44.25 31 12 M10x1.5 1 139.5 104.5 55 18 - - 6~M8x1.25
SP-208 57 53.6 35 14 M10x1.5 1 160.5 {2515 68 25 - - 6~M8x1.25
SP-308 57 53.6 35 14 M10x1.5 1 160.5 125.5 68 25 - - 6~M8x1.25
SP-210 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-310 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-312 77.5 72.85 50 21 M12x1.75 13 207.5 172.5 100 35 - - 6~M10x1.5
SP-316 70 62.75 60 255 M16x2.0 17.5 271 236 115 45 80 110 12~M10x1.5
SP-320 82.5 74.5 65 25 M20x2.5 22 301 266 165 - - 130 3~M16x2.0
SP-324 129.5 121.5 65 25 M20x2.5 22 351 316 200 - - 180 3~M16x2.0

AUTOGRIP 52



i
=1
Fa
s

SD

I ETVRAIRER

SMepEn

STATIONARY PULL DOWN CHUCK

NEMEL - SEAKBMBE DR - cERREBEAT -

O ARG TH MR R TR mER - FIHA DF U EMESEER -
SEMECEENAREBTBUEE  TABHEARBE BRESKEEE
HAE  #E58YHISE -

OJ B 17 EAREH AR A S TN -

Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.

Almost no workpiece uplifting displacement.

The body with heat treatment and the organization of cylinder pull-down and fine
boring, which guarantee to the high clamping precision and durableness, it’ s
suitable for heavy duty machining.

Can work together with multi-plate.

RERA (FEER ).

Airtight pressure detect function is optional.

S 6~W
N 4~@K
P
6~J1
& B
1™
<| O |ad 2 & Py
[SHN T
I S ! é%@ Ak
(@]
™
k)
> — =
] )
2~RC1/4" air supply port
CHI for open/close
F | 13.5 BE ST,
RC1/8" air supply port
21 for gripping-confirmation ‘ 45 Lock valve(Option)
40 EERERAIL 70 REERI(EAFV-01)
B
REBFARIEDBIER
Subject to technical changes
FHT#RME SPECIFICATIONS
. 5 KRBT BAKSES BAEAESN _ SRERE _
1} 7 : B, 2
o EDH | Bx | ® R ., AR T T
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . .
X . N . - . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SD-304 5 110 18 5.0 (510) 10.9 (1112) 0.6 (6) 1.3 (13) 2 0.26 8.1
SD-306 7.2 165 35 11.5 (1173) | 25.0 (2550) 0.6 (6) 1.3 (13) 2 0.58 20.6
SD-308 7.2 210 28 21.7 (2213) | 47.0 (4793) 0.6 (6) 1.3 (13) 2 1.02 34.1
SD-310 10.8 254 40 36.0(3680) 60.0(6118) 0.6 (6) 1.0 (10) 2 2.05 55}
4MUR~F DIMENSIONS
Model A(h7) Al B c D(H7/h7) E F G H J J1 K L max. L min.
SD-304 148 110 93.5 130 35 2 15 M3 225 10 M5x0.8 30 23
SD-306 206 165 116 188 52 7 18 M4 B85 20 M6x1 11 45 35
SD-308 248 210 122 230 65 10 18 M5 45 25 M8x1.2 11 56 46
SD-310 300 254 151 280 75 12 20 M6 55 30 M8x1.2 13 65 50
Model M N E Q max. Q min. R S T U \Y W
SD-304 19.5 52 19 37 34.5 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 35 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5
SD-310 46 100 38 85 79.6 62 50 147.5 182.5 6~M14 M12x1.75

53 autocriP



TEAMERERKEE =MeEas

STATIONARY PULL LOCK CHUCK

NEMEL - EERAREBEURBNRE - JELFREREY -
YEAREC R THREERGEMEEL  ETHEADFURMES
BEEH - BEER - SRR OKER -

o SHIMEEEENAERBTRAKE LABMARBE BESKIFEE
HMAE  BEEUHISE -

o TIHAVERBENRMASETNT -

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

®  Suitable for drilling, milling and other machines.

® The body with heat treatment and the organization of cylinder pull-down and
fine boring, which guarantee to the high clamping precision and durableness, it's
suitable for heavy duty machining.

® Can work together with multi-plate.

" RERA (FEER).

= Airtight pressure detect function is optional.

— y oK
r— M 3~V w N
— =&~ i
- o =i
/E;%
Gmin._ T | | Z T @ Z_Eﬁ
[S]
< o o|w —‘ 2 95
8 o T 4 5 G|
I R x o] =
3] § »E
<
Ri=mn
135 \%\‘ 7 \3-3
12,0 Fﬁ®‘ mH
- } e mH > ¥
:4‘ l\' .\.\ ‘ 2~RC1/4" air supply port 1 nwﬁwu I EiClose |FOpen
for open/close 5[e)
- RIERE S L, FClosé. FOpen rh F
Lo L
Ao
RC1/8" air supply port —i— L
40 for gripping-confirmation 45 . SU-303
E e Lock valve(Option)
REBATHASHOIER Bl 05 FERERAL 70 {RERRE (= AZFV-01)
Subject to technical changes
SU-304,306,308,310
E#i#R1& SPECIFICATIONS I —
. e REFEE BAKEN SAEREN _ SENER _
| 4 =
. E® | mx | ®h RE | HE TR B e
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . )
. i i Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SU-303 2 42 4 5.2(530) 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 5 6.7 (683) 16.0 (1632) 0.6 (6) 1.3(13) 2 0.26 7.4
SU-306 5 105 31 18.5(1886) | 40.0 (4079) 0.6 (6) 1.3 (13) 2 0.58 18
SU-308 5 132 32 37.0(3773) @ 80.0 (8158) 0.6 (6) 1.3 (13) 2 1.02 1B
SuU-310 5 163 44 46.2(4710) 100.0(10100) 0.6(6) 1.3(13) 2 2.1 53
4MUR~F DIMENSIONS
Model A(h7) Al B B1 © D(H6) E F G H(H6) J K L max. L min.
SU-303 122 85 80.5 68 104 28 22 12 35 66 M3 3~9 5 1
SU-304 148 110 101.5 83.5 130 32 24 15 4.5 84 M5 4~9 7 1
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 4~11 15 5
SU-308 248 210 152 115 230 55) 45 18 7 156 M6 4~11 17 7
SU-310 300 254 181 131 280 65 53 20 7 187 M8 4~13 9 -1
Model M N P Q max. Q min. R S) T U \ w X (p.c.d) Y
SU-303 12 30 7 3.5 25 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 17 40 9.5 2.75 1.25 42 20 75.5 110.5 M6 6~M8x1.25 62 6~M5x10
SU-306 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 6~M10x1.5 72 6~M6x12
SU-308 34 63 20.5 16.25 13.75 71 35 125.5 160.5 M12 6~M10x1.5 95 6~M6x12
SU-310 39 74 23 20.75 18.25 85 40 147.5 182.5 M14 = 6~M12x1.75 115 6~M6x12

AUTOGRIP 54



SE T ERNRERIKEE = mepEn

STATIONARY EXPANSIBLE PULL BACK CHUCK

o NEHEL - EFERKBMABNIER - oERRBRAG -
o ERMAEHSE -
o SREEZREM BEREHREMNT -
o DJHEVERIFEBRATETML -
®  Build-in hydraulic cylinder; it can also work with lock valve and be driven
by air pressure.
®  For internal gripping.
®  With high precision and stability.
®  Suitable for the precision large length size process.
®  Suitable for end process.
® Can work together with multi-plate.
= @mEEH (GER ).
= Airtight pressure detect function is optional.
. El E F
=
fZ <| O hSs L;%iiﬁﬁ} Q ol 2
E [SHERS] \Jj "’F &L g Q
1 —
= -
5 135
85 \
r [
° z ‘ 2~RC1/4" air supply port
for open/close
‘ 40 ‘ BARAERIL
] _——‘ Lock valve(Option)
B1 14 fREZRE (ERCFV-01)
RC1/8" air supply port
for gripping-confirmation
B ERRBRAA
Soft jaw : type A Soft jaw : type B(Option)
EEETA T {EAELE TR RU(ERE)

REBIBIEREEF

Subject to technical changes

TR SPECIFICATIONS

. e TS EE BASIEH BAERES - SRNER .
Ll b N N 88
2 @®  sx | & aE | uE T, T H
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . )
) : : . : . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) | MPa(kgf/cm?) kgflcm? lit (at 6.0 kgflcm?) kg
SE-305 3 83 29 14.3 (1459) 41.0 (4181) 0.7 (7) 1.3 (13) 2 0.46 14.6
SE-306 5 110 44 20.0 (2040) 57.0 (5812) 0.7 (7) 1.3 (13) 2 0.58 20
SE-308 5 150 50 32.0 (3263) 78.0 (7954) 0.7 (7) 1.3 (13) 2 1.02 33
4MYR~F DIMENSIONS
X type A type B
Model A(h7) Al B B1 c D = Eil} Fmax. = F min. G
H max. H min. H max. H min.
SE-305 173 135 126 100 155 15 20 5 3 -3 25 68 50 83 67
SE-306 206 168 140 108 188 18 23 7 5| -5 40 90 70 110 89
SE-308 248 210 164 119 230 18 30 9 5 -5 49 110 90 150 108
H1
Model . J K L M N P Q R
max. min.
SE-305 50 29 25 9 88 123 275 275 3~M6 M8x1.25
SE-306 70 44 31 11 104.5 139.5 38 29 3~M6 M10x1.5
SE-308 90 50 35 11 125.5 160.5 50 35 3~M8 M10x1.5

55 autocrip



3 B PREARE R

STATIONARY CHUCK BASE PLATE

OJRARBEARSEM IO £ RSN IZETIH -
EELERUN R ARER -

oJEIE2 - 3 - 6 THEHEE -

Use for milling machine or machining center to achieve
simultaneous processing of multiple workpieces.
Stationary cylinder lock valve (optional) can be mounted.
® Plate for 2,3,6 stationary chucks is optional.

P

hvi
g
=
58
|

|
N NI

o

w

Lock valve(Option)
TRERF(EECFV-01)

g /s
JopEll | =T,

| -
o g E=—p=—ie—tn o
IREB R IEREIER) x
Subject to technical changes
u
4MUR~T DIMENSIONS
Model A B C1 Cc2 C3 C4 D E F G
MP4-06206 460 580 400 320 250 200 544 210 220 120
Model H J K L M N P Q R S T U
MP4-06206 20 45 18 17 20 140 *B 33 18 20 20 206
*B #Y BB P ARAC ACEREL SR 2 ~PIE B -
The dimension *B: Please refer to the dimension B of the chuck model assembled.
VH-201 2740
HAND OPERATED AIR VALVE
REBRIEIEREIET)
Subject to technical changes
RABHFESN BRIFRE FEOR
Max. pressure MPa(kgf/cm?) Operating angle Port size
1.0 (10) 90 ° Rc1/4

AUTOGRIP 56



B N E DR EH

POWER CENTERING VISE

FH2RE I DB ES K.

SMNYSE FRELBE AR BRI TR OV, PI ZE 0 1 INE R =,

WEHEREL, B] A RB S MERE /TR,

KA EREARRENEH, REGSEEEA.

Constantly high clamping forces are ensured while machining.

Compact design, suitable for milling machines or machining centers.

With built-in cylinder, it could be either pneumatically or hydraulically
operated.

®  Plug & play, easy to install.

Vi

Ul
2~MAJERER B L

2~M4 Bottom lubrication oil hole

2x10-K | SN M5 [EERESHTL A
1 {} : N ]‘“ M5 Bottom oilinlet A
—eawee] | | EeEES
J Joe—ot o of 4 - .
L1530 % é Exyors
1 ‘ ]\J AN P MAEEER M 7l M4 Bottom air vent
\ 2 €D + 45\1 ) (VR-1012:M5 ; VR-1214:M5 )
‘ - i F— \_M5 [EEpfHimFL B
4-L ‘ s ‘ T ‘ M5 Bottom oil inlet B
| | | 2~@8(H7) H#7|
A 2~@8(H7) Master hole
&
)|
B1
€ s
Y b
(7 R o MH7 ML E 2~M6B;L
2~M6 Oil hole
i | | 1 |
"L?:‘:fﬂFE J } i ; M5IREFL HH m
‘ I o M5 Air hole oo Hj
| I |
| I r
i | 1 A i} *
by ! by - Al HL B N
| ‘ | ‘ | ‘ | . T
! | ! 1 e i
IR R J 2~RC1/8” 437HFL
iﬁﬁﬁ f:fhanj.iafghanges 2~RC1/8”Pressure port
1T #34% SPECIFICATIONS
1 /=70 = P BAKFE BAERAES =
B3 MiT#2(81) BAKISEE Max. clamping force Max. pressure B
) ) . R SR KRB pii)= )
Model i) R (et Pneumatic Hydraulic Pneumatic Hydraulic Vet
mm mm kN (kgf) kN (kgf) MPa(kgf/cmZ) MPa(kgf/cmz) kg
VR-808 8 100 2.0(200) 20.0(2040) 0.9(9) 7(70) 3.55
VR-1012 12 120 4.4(448) 30.7(3130) 0.9(9) 4(40) 7
VR-1214 14 160 8.6(876) 60.6(6180) 0.9(9) 4(40) 12
ShEUR T DIMENSIONS
Model A B B1 © D E(h6) F Gmax Gmin H H1 H2 J Ji K
VR-808 120 80 52 63.5 36 16 2 125 117 335 24 26.5 36 40 M5x0.8
VR-1012 150 100 64 76 45 20 2 158 146 39 30 32 46 48 M6x1
VR-1214 188 125 82 82.5 60 24 2.5 196 182 41.5 44 34.5 57 51 M8x1.25
Model L M(H7) M1 M2 N B Q R S S1 T T1 U Ul V V1
VR-808 M6 6 215 2.5 27 9 6.5 49 95 65 70 65 24 10 36 18
VR-1012 M8 8 27 2.5 32 12 8 63 120 80 90 80 30 12 46 20
VR-1214 M8 8 30 3 43 12 10 80 158 100 128 100 44 16 57 25

57 AutoGRrIP



PNEUMATIC ROTARY CHUCK

’ RAP BEAR F R R = )T\ 358 B PR U

o ANERI 7 HIVERIKGE - FrGZE/E/) - BEEYHIES - WOl FEREEL
MEREERE T -

BRRSER LETHEML -

KEIRMEHERE - MIPUIBASZEARERA -
REEIIRECRIBBME  WEHEEEE -

Rotary chuck with built-in pneumatic cylinder, compact design, suitable for light
machining, compatible to standard soft jaw/hard jaw.

Can be installed on a rotary table for indexing machining.

Sealed against dust and cutting chips.

® Matching surfaces of all parts hardened, ground and lubricated directly.

N IR AREERRIRERIEARE Z EREEE, SN0 ERAEEHE
HIABI TR,

@ Note: To overcome friction force between distubritor ring and chuck body, the
rotating torque of rotary table must be highr than the requirement shown in

"
B
i

N
2l

B

the table.
Serration Pitch S
HEEREE1.5
M
i I mil
[ i}
s L
L [ o %
3l
2 L Y x
wl ol o -
g o 8 © - % —-
T u W
mll /| =
L mm 6-L
KLU |V 2~RC1/4" air supply port
J for close/open 5 ] 2~RC1/4”
EEERIL Open Close
REBIRRIE AT Bl
Subject to technical changes B
BHIRRHE SPECIFICATIONS
miTig TRFER RARET . TRHHEE
1) g = By =
=t (Ef) Chucking Dia. | $EE(ERIES6.0 kgflcm?) BACRED | BEME BefE (EREH16.0 kgflcm?) e
Jaw stroke BA =/ Max. clamping force Max Rotation Air consumption .
Model (Dia.) Max. = Min. Pneumatic( at 6.0kgflom?) | 12X Pressure - Max.speed g qance torque (at 6.0 kgffem?) Weight
mm mm mm kN (kgf) (kgflcm?) (r.p.m.) Nm lit (kgflcm?) kg
RAP-306 55 170 25 21.0 (2141.4) 7 72 40 31 16.2
RAP-308 6.8 215 37 34.2 (3487.4) 7 60 60 3.1 30.6
RAP-310 7 254 53 48.0 (4894.7) 7 53 85 4.2 42.4
4MEIR~T DIMENSIONS
Model A B B1 C (H6) D B F G H J K
RAP-306 215 98 90 110 155 181 170 25 7 52 8
RAP-308 260 113 104 110 200 226 215 32 8 52 9
RAP-310 300 117 52 140 235 261 254 54 8 52 10
Model L L1 M N P Q max. Q min. R max. R min. S T U Y w
RAP-306 6~M8 11 36 73 20 10.75 4.75 39.5 36.75 31 12 19.5 14 3~M8
RAP-308 6~M8 16 37 95 25 13.25 8.75 57 53.6 35 14 19.5 14 3~M8
RAP-310 6~M8 14 42 110 30 23.25 12.75 64.5 61 40 16 19.5 14 3~M8

AUTOGRIP 58



SBAIF BRI =T\ F G

SELF-CENTERING 3-JAW MANUAL CHUCK

=MpER

BRRKSERIABARAMO EREAFKHMIE  IRDEBINFRZER -
DO EERE

CEIBASEARBAR  DBRAKREBENERASDR

® Thin and lightweight design and increase the z-axis machining range.

® With the center hole cover and dustproof design for the accuracy and
service life of the chuck.

®  For 5-axis indexing plates and milling machines.

m RRIERUATEELENREANSH ISR - RIF
BRIt 25098 E B 2 B T IE -
= 3MF series are not designed for the vertical or horizontal lathes,
unless there is a rigid plate and providing adequate support rigidity and strength.

DA
gC Hé
OF

REBRABIELRORER
Subject to technical changes

1T #31% SPECIFICATIONS

it MiTRER J&fs L Chucking Dia. RABHHE RARE S REABH 8

Model Jaw stroke (Dia.) BA Max. &/)\ Min. Max. allowable torque Max. clamping force Max. speed Weight
mm mm mm N - m (kgf - m) kN (kgf) min* (r.p.m.) kg
3MF-20 80 500 142 170 (17.3) 71.2 (7300) 1150 121
ShEUR S DIMENSIONS

Model A B C (H6) D E F G H J (H7) K L L1 M
3MF-20 500 85 160 465 12 155 019 38.1 19.03  4~M16 6~M16 23 80
Model N P1 P2 P3 Q max. Q min. R max. R min. S| T (h8) U \Y Y
3MF-20 192.5 29.5 76.2 135 254 214 139.7 99.7 50 12.7 15° 40 30

59 autocriP




FA RJJVEEBE (—) ERTE T
SINGLE-SLIDE FACING HEAD

o HAKBEMUERNEIANGHIARY  ELRERTE  EHERERTE
WRBIFEES -
BEEIOEBEEREEME - BIEEmMAMIFEERY -
EAIEE:£0.03mm -

Feed mechanism is Wedge Plunger, with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

® Stopper accurancy: +0.03mm.
BT LR B B R -
BRENRERRERSERNRREEREBHBEEREIMNIL -
Suitable for using with RS type cylinder.
For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.
BRI EE)
WEDGE PLUNGER
Min.12 ———w»
| 4 | | ’_‘ ©
| 1\1515 I I ©
I e A T &
30 10, . 14~M6x10 L‘LE'; ,$_
[ 1. £
~ “ - g > ‘$—
o| N L ©
Sl ¥ __ AR =1 @ ‘
(] ol QlQ || - Al
Q = 1 j: G- é‘
| —1
M12x1.75 AT &
e Heg | .
(L —
58.5 4~M10x60 1(
69
IRBREIE LT
Subject to technical changes
$1li#31% SPECIFICATIONS
LS BOTiE BEETTIE e A BRFRAAN B8 R EE BAERES
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight . . Max. pressure
Model . Matching cylinder
mm mm min?(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-408 14 8 1600 2.8 (280) 4.2 RS-6520N 1.0(10)

AuToGrip 60



’ & JJHEEER () B EH
X / S —
FA SINGLE-SLIDE FACING HEAD

o EXRKBRLUEREZIANBEHAAD/Y  EREERTE  EXREEHRETE
WHEEIFEES -
REEIABE(ERBERME  BItENAEIEERET -
ENMIEE:£0.03mm -
Feed mechanism is Wedge Plunger, with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

®  Stopper accurancy: +0.03mm.

BT LR B ER -

BRR RO B REREENRIREERBHBEER NI -
Suitable for using with RS type cylinder.

For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.

BRI EE
WEDGE PLUNGER
FA-610 FA-812 L N Q1
- ”S»J: \_.E; d®h L S i
K T A OO —©
M| T
\ J Z-N:
5QR[ = - GRS € e 2

L/
5
17

|
O
D
@) @c:\
©

&
@A)
N

G

‘ ~
)

D
B Q
REBRIBIEL R
Subject to technical changes
R ili#31& SPECIFICATIONS
gt BT BETRE R OEY BHERAAN = BREE BRAEAESN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight i . Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-610 18 10 1200 2.8 (280) 14.5 RS-6520N 1.0(10)
FA-812 21 12 800 4.4 (450) 28.5 RS-6530N 1.6(16)
SR <) DIMENSIONS
C F G G R
Model A B +7) D E H7) | max. | min. H J K L M N P Q Q1 (H8) S T U
FA-610 156 | 110 140 107 5 20 | 66 48 +5/20 M12x1.75 4-M10x90 | 12 2-M10x45 104.8 45 28 8 | 4-M10x16 40 40
FA-812 198 130 170 127 5 25 | 84 | 63 +6 25 M16x2.0  4-M12x105 12 2-M12x60 133.4 54 32 | 10 4-M10x16 50 50

61 AuToGRIP



R JJVEBIE (=)

SINGLE-SLIDE FACING HEAD

o ELAMBERLUEKRESHEBSARZ  EREERE 1
NHEEIFEES -
RBEEHIABE(ERBEME  BIMENAMIIEERT -
EMEE:£0.03mm - FEEEMUIER -
Feed mechanism is transmitted by Rack and Pinion with steady feed speed.
Simple adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

®  Stopper accurancy: +0.03mm , work with stoper screw.

BT BRI B ECE -
Suitable for using with RS type cylinder.

1% B {8 E) RACK AND PINION
FA-615 FA-830 FA-1570

HE1E Keyway

6E X4 %
& | DI
. N | {ﬁﬁ
St
K A PN (DY PNECE
<| o g_ E%%E_ = @ i ,>+_ T | %@@ @72
NIRS ] f o S S A
@ Y N
H |G T O
% @ | R Tﬁég) @
L/E ,
REBRSIERHORER)
Subject to technical changes
F:fif #5348 SPECIFICATIONS
BISR BOTiE B2 ReaEH BRERAAN 2 L RAFEREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-615 15 15 1200 3.3 (340) 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 5.0 (510) 23.9 RS-6530N 1.8(18)
FA-1570 70 70 500 18.2 (1855) 167 RS-1080N 2.6(26)
SRR~ DIMENSIONS
Model A B C (H7) D E F (H7) G max. G min. H J K
FA-615 150 107 110 102 5 25 43 28 35 20 M12x1.75
FA-830 198 126 140 121 6 30 55 25 45 25 M16x2
FA-1570 400 200 300 192 6 60 110 40 75 50 M30x3.5
Model L M P Q R S| T U V W
FA-615 3-M10x40 12 8-M8x16 82.6 50 32 32 68 +7.5 56
FA-830 6-M10x55 15 12-M10x20 120 60 36 40 80 120 +15 66
FA-1570 6-M20x90 15 8-M16x20 235 120 80 130 260 +17.5 -

AUTOGRIP 62



’ FD o R &R 7 (D

DOUBLE-SLIDE FACING HEAD

o ERWBELHMWEHAASZ  ERBRERTE  EREEHETRENEREIE
BRS -
R EOLBECRBEENE - BIMENAMEERY -
EMEE : £0.03mm - FREEAER -
Feed mechanism is transmitted by Crank with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

®  Stopper accurancy: £0.03mm , work with stoper screw.

BT EVEE BRI B -
Suitable for using with RS type cylinder.

| #4788 CRANK TYPE
FD-632 FD-840 FD-1060

H 4x2~T

o
1
-E8-
Ho Ll
K } éj
A i 4 .
<| O W — | L ©
s 88 t—1 {; 8 £
L] ‘ s
s Ja)
I -ee=—-
= fpiig,i, fffff
! r
6~L
5 W D
B N
REBBSIER R
Subject to technical changes
$: T #5348 SPECIFICATIONS
RIS B2 BETEER EaOEH BRFERAAT 2 R E G BAERES
Plunger stroke Slider stroke(Dia.) Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FD-632 20 32 3200 16.9 (1720) 13.6 RS-1030N 2.4(24)
FD-840 25 40 2500 20.6 (2100) 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 20.6 (2100) 41.5 RS-1040N 3.0(30)
SMUR <) DIMENSIONS
Model A B C(H7) D E F G max. G Min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 325 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 325 -2.5 4 36 M20x2.5
Model L M N P Q R S T u v W(H8) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 92 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6

63 AUTOGRIP



CP EEZSE] ~ MRS E
SYNCHRONOUS CLAMP

o HME_TMELRKRE  MITER -
o BENEHIKELCRIBEME THEES -
o SHREIEE - PIEMRFEE -
® CRANK type 2-jaw synchronous clamp with long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
| wi1 |
N ve——
hid ‘ © | @ A ¥ =
= @@@J\}‘ ‘},‘@@@ =9g|m
Slore | @ Y S
SARIAS = R
8~L ‘ U ‘ 2~08(H7)
V; Master hole E#7|,
U1 B1
G . D
N Adjusting hole
‘ R M| NIBEEAIL (E,
|l arpr,_ 23K ] ‘ ‘
= i A =i iz{ jg&
L L A AL L L A L ~—
. ¢ &g o~ T 8| T #
i et BNl
5| &+ & 5 -+
\ \ ™

‘ A ‘ -

Gl
7
*

T
It

J2
ﬁ\/
B
10

€ 2~RC1/. =

(REEIEIERMRER Pressure port #amAL
Subject to technical changes ‘ J

i

J1
g #i1& SPECIFICATIONS ‘
gt SEZEETE Eff. Piton area MTRER) ERAFEFFRE RARSET) RAEREN £
o #{ Extend HIffl Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CP-20 28.27 25.13 20 150 14.4(1465) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 14.4(1465) 3.5(35) 1
CP-30 28.27 25.13 30 210 14.4(1465) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.4(1465) 3.5(35) 12
CP-50 38.48 33.57 50 215 17.7(1812) 3.5(35) 18.5
CP-70 50.26 45.35 70 235 23.9(2434) 3.5(35) 30
SMEUR <) DIMENSIONS

Model A B B1 C D E(h6) F G max. | Gmin H H1 J J1 J2 K L M
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10 12
CP-30A 250 88 96 58] 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 = M10 14
CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 = M10 14
CP-50 300 110 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 = M10 16
CP-70 346 @ 120 126 89 55) 32 5 430 360 114 15 115 115 146 M14x2 M12 16

Model N = Q R S} T U U1 u2 \ w W1 w2 X Y z
CP-20 M6x1 18 20 66 24 22 102 190 60 156 32 110 65 150 22 4
CP-30A M6x1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6
CP-30 M6x1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6
CP-40 M6x1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5
CP-50 M8x1.25 21 28 102 30 32 105 230 85 195 29 140 80 180 30 10
CP-70 M8x1.25 23 28 112 30 52 120 275 95 240 42 155 90 210 34 23.5

AuTOGRIP 64



g U ch ZE JEEE O B AT (— ) BEREEEL
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

A 1«

R RAGIGEER R - S RESWRIMN2Z/3 -

PRI L B SRS R R TR RS -

LR HEREE 2 -

Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

w CIMIIAR MM S AR - (EREm)

W Linear sensor can be attached.(optional)

= EHF|ERFHE Patent numbers :
&% : PATNO.M491534(Taiwan)

== .

KPBE : PATNO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2 25 ot P ﬁ 6~L1
- _
o o2 0 o 8 o o
w s
OI 8 § 8 § 8 8 8§ 8 B8
2x2~Q3
Pressure Port
i3, 4/
4~Y2 \ L
B 7 Z |l
i \ T
RCL || g O c1
Drain Port #37, = | =5
233 AllB 2 K
T
REBIRBIELHET)
Subject to technical changes
z= T3R8 SPECIFICATIONS
;@ itk JEZHTEES. piston area 112 REEEH e EREA | = mRRE
BR
;E # {8 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure | Moment of inertia =~ Weight Total oil leakage
Model
i cm? cm? mm min*(r.p.m.) MPa(kgf/lcm?) kg:m? kg lit. / min.
il TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2
TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 155.3 25 5500 4.5 (45) 0.065 17.4 4.2
*EKERTERIEEFSHEMWHEE - *Coolant Collector and Confirmation Device Please See Accessories pages.

65 AuTOGRIP




SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK B A ch ZE J0 BB BRG] (— ) BEEEEEn

ShEYR<F DIMENSIONS

A E Gl G2
Model RE B © D F H J K L L1 L2 M1 M2 M3
| DI h7 max.  min. | max. min.
TK-A528 105|141 125 125 110 | 45 12 0 38 26 | 49 77.5 123 6~M8x20 M8x55 14 M38x1.5 25 13

TK-A533 105 141 125 125 110 | 45 12 O | 38 | 26 49 | 77.5 123 6~M10x20 M8x55 14 | M38x1.5 25 13

TK-C643 128 156 | 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13

TK-AG646 128 | 162 147 | 147 130 65 15 O 44 29 | 56 85 | 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B646 128 162 130 147 |100 65 15 | O 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-C646 125 156 140 140 120 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B846 145 185 170 165130 70 20 | O 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-A853 145185 170|165 140 70 20 O 48 28 | 66 95 | 135 12~M10x20 M8x70 12 M60x2 30 15

TK-B853 145 185 170 165|130 70 20 | O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-A1068 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 | 16 M75x2 85 15

TK-A1075 | 170 212 190 190 160 95 25 O 50 25 | 74 108 158  12~M10x20 M10x80 | 16 M85x2 35 15

TK-A1078 | 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 | 16 M87x2 35 | 15

o1 02 R s
Model N1 N2 N3 P Q1 Q2 Q3 T u VoWl w2 X1 X2 Y1 Y2 z
H8 | H8 g7 | H7

TK-A528 M39x1.5/ 25 8 35 28 79 85 30 | RC14 37 62 70 98 6 62 110 49 | M6x6 & 83 | M5x6 | 5

TK-A533 M39x15 25 8 35 33 79 85|30 RC14 |37 62 70 98 6 62 | 110 49 M6x6 83 | M5x6 | 5

TK-C643 M52x15 29 9 45 43 87 85|36 RC38 50 | 76 |8 116 95 74 | 120 64 M6x10 98 M5x6 5

TK-A646 M52x1.5 29 | 9 50 46 87 85| 36 RC3/8 50 76 8 116 95 74 | 120 64 M6x10 98 H M5x6 @ 5

TK-B646 M52x1.5/ 29 | 9 50 46 97 85 36 | RC3/8 50 | 76 8 116 95| 74 | 120 64 M6x10| 98 | M5x6 | 5

TK-C646 M52x15 29 9 50 46 87 85| 36 RC3/8 50 | 76 | 8 116 95 74 | 120 64 M6x10 98 M5x6 5

TK-B846  M58x15 30 8 50 46 97 85| 36 RC3/8 56 | 8 |96 128 115 79 | 130 73 M6x12 110 M6x6 5

TK-A853 M58x15 30 8 55 53 97 85| 36 RC38 56 | 8 |96 128 115 79 | 130 73 M6x12 110 M6x6 5

TK-B853 M58x1.5/ 30 | 8 ' 55 53 97 85 36 | RC3/8 56 | 8 | 96 128 115 79 | 130 73 M6x12| 110 | M6x6 | 5

TK-A1068 @M84x2 |34 9 70 68 110 12 40 RC1/2 81 | 108 |121 164 10 | 98 | 160 98 'M6x12 155  M6x8 5

TK-A1075 M84x2 34 9 80 75 110 12 | 40 RC1/2 81 | 108 |121 164 10 98 | 160 98 M6x12 155 M6x8 5

TK-A1078 = M84x2 |34 9 82 78 110 12 40 RC1/2 81 108 |121 164 10 | 98 | 160 98 'M6x12 155  M6x8 5

AUTOGRIP 66



%
o
o)
i
i

A 1«

R AU oh 2 JE BB ERET ()

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

BrasrRKEER

o B ARAKAEEMNEG - = RERKMKRELN2/3 -
o NEM IR KB SR B -
o LRRUBEKEELY -
® Super short form, light weight large Through-Hole, just as 2/3
of typical model length.
Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.
oI NAR M BN R RS - (EfEm )
Linear sensor can be attached.(optional)
= EHFEMFIE Patent numbers:
& : PATNO.M491534(Taiwan)
KB : PATNO.ZL201420584274.5(China)
W1 3~Mounting Hole 6~L1
Il
. oo
3| 3| & 5 48¢ 8
2x2~Q3 ML
Pressure Port
fma
L
RC1" @ G1
Drain Port #M+L 3
@33 AlTg 1D K
RBAGELER T
Subject to technical changes
$ i #31& SPECIFICATIONS
Eidk SEZEETEER. piston area 718 e aEg EafEREN I 2 FENEh
o #(Extend) HiIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Total oil leakage
ode cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg'm? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 45
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 45
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
SMEIR~F DIMENSIONS
A E G1 G2
Model mE B | C | D F ) ) H J K L L1 L2 M1 M2 | M3 N1
ID. h7 max. | min. | max. min.
TK-A1287 200 245 215 225 18011030 O 59 29 86 @ 126 184 12~-M12x24 M10x90 '14.5 M95x2 | 35|15 M99x2
TK-A1291 200 245 215 225 180 110 30 O 59 29 86 @ 126 184 12~M12x24 M10x90 '14.5 M100x2 35|15 M99x2
TK-A1511 250 | 300 275 275 230 140 30 O 58 28 102 156 @ 226 12~M16x36 M12x110 21 H M120x2 45|15 M129x2
TK-A1512 250 300 275 275 230 140 30 O 58 28 102 156 @ 226 12~M16x36 M12x110 21 @ M130x2 45|15 M129x2
TK-2114 265 320 295 295 240 165 35 0 | 60 25 | 115 173.5 247.5 12~M16x32  M12x120 | 17.5 M155x2 | 45 20 M149x2
01 02 R S
Model N2 | N3 P Q1 Q2 Q3 T Uu V. wi w2 X1 X2 Y1 Y2 z
H8 = H8 g7 H7
TK-A1287 38 9 90 | 87 | 1275 15 45 RC1/2 | 96 120 | 138 180 ' 7 110 # 185 | 108  M6x10 | 165 M6x10 5
TK-A1291 38 9 95 | 91 1275 15 45 RC1/2 | 96 120 | 138 180 ' 7 110 185 | 108  M6x10 | 165 M6x10 5
TK-A1511 38 9 | 115 | 110 | 153.75 17 |50 | RC1/2 | 126 150 170 | 227 ' 7 | 134 210 138 | M6x10 210 M6x9 6
TK-A1512 38 9 | 125 | 120 153.75 17 |50 | RC1/2 | 126 150 170 227 ' 7 | 134 210 138 | M6x10 210 M6x9 6
TK-2114 38 9 145 | 140 170 17 |50 | RC1/2 146 | 170 190 | 250 ' 7 | 145 210 160  M6x10 230 M6x10 6
*EKBRITERREEZRLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

67 AUTOGRIP




B AL Ch 7o EH T (2 eEmenEn
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

A K

SFARRE - AT R AL -
PRI L R B SRS K JER )0 R -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.

I AR E AL R AR - (EFEm)

Linear sensor can be attached.(optional)

= EHFERFIR Patent numbers :
& : PATNO.M491534(Taiwan)

(===

KB : PAT.NO.ZL201420584274.5(China)

wi exe 2> B P 6L
N1 [ A,
\— L/S/ _
X 2= X N —
Z 9 |IN2 )
A - I\
8E = * = _ 5| o« 8 @} = Liw| oo
| ‘ J SIEEEIEIS 50 & FWMQ@&QQ
2x2~Q3 \
Pressure Port #5HFL » = X = ULJ
g AM1
N TKL
4
4~Y2 z
t H G1
RC1” X o v n ]
Drain Port 333l \ G2 j J
(TK-2820:M40x1.5) @33 (TK-2820:039) | |.=——L= Tk
Dr
Bl
IREBRABIE LR T
Subject to technical changes
R iili 7515 SPECIFICATIONS
itk SEZE TS Eff. piston area 112 SOkt =afEREN I 3 BERE
{8 (Extend) i) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage Zz
Model N
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min. ;;Ii
TK-2416 4184 3754 35 2000 3.0 (30) 1.12 78.0 9.0 ;@
E
TK-2416L 4184 3754 51 2000 3.0 (30) 1.31 79.2 9.0 ;}[
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
9NEIR~F DIMENSIONS
A E Gl G2
Model g B © F N . H J K L M1 M2 | M3 N1 N2
A7I.D. h7 max. | min. | max. = min.
TK-2416 290 340 300 260 190 35 0 60 25 | 129  185.5 275 M16x32 | M180x3 | 45 | 20 M174x2 38
TK-2416L 290 340 300 260 190 | 51 0 76 25 | 145 | 201.5 291 M16x32 = M180x3 45 20 M174x2 52
TK-2820 340 | 395 360 320 235 | 51 0 76 25 | 152 | 2125 316 M20x40 | M220x3 | 45 20 M218x2 52
o1 02 R S
Model P Q1 Q2 Q3 T U \% w1 W2 X1 X2 Y1 Y2 z
H8 | Hs g7 | H7
TK-2416 170 @ 166 H 186.5 20 50 RC1/2 | 171 | 202 | 220 | 292 | 7 167 | 250 188 M6x11 260 M6x12 5
TK-2416L 170 | 166 | 202.5 20 50 RC1/2 | 171 | 202 | 220 | 292 | 7 167 | 250 188 M6x11 260 = M6x12 6
TK-2820 210 | 205 216 21 50 RC1/2 215 | 262 285 360 | 7 | 202.5 300 240 M6x12 = 320 @ M6x12 6

*EKBRITERIDEEZRLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
AuToGRIP 68



AL 8 g AU o 28 900 BE 5 [BR ] KA SBIRR
SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

EHIREERET - AL LB S ER G -
BAASNEEACREMIN 2 EBALNERIERX -
RS | B SR AR R R TR R -

ZERFERERHEEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O3 fE @40 5 @60 MNABEKERDE -

oI INAR M BN R RS - (EEm )

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, J60.

Linear sensor can be attached.(optional)

i Ts

EHREmZFI Patent numbers:
&% : PATNO.M491534(Taiwan) / APE : PAT.NO.ZL201420584274.5(China)

0=

W1
2~ BRI A
Mounting Hole
&
Y1 )
—o- 1
_ /I f 1B ~
[ (L -
I WY HL 4 e
| i SIS ©
2x2~Q3 A -
FEED =
Pressure Port [
=
[
R X S
Drain Port /1 v L¥ H Gl
‘Q33 G2 1 J
AEL K
| |
RIS RAR AR lD"
= Subject to technical changes 1
% i 1li#1& SPECIFICATIONS
53 Hlgk JEZEETE Eff. piston area 712 e aEg e EREN | = maiEe
Eg Vodel #{8 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Total oil leakage
ode
;}L’ cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TS-539 724 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 155.5 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 4.3
SN~ DIMENSIONS
A E Gl G2
Model A€ B | BL | C D F ) : H J K L L1 L2 M1 M2 | M3
ID. h7 max. | min. | max. | min.
TS-539 107 143 141 125 125 110| 52 15 0 425 275 57 91 124 6~M10x20 M8x60 | 12 | M45x1.5 25 12
TS-866 165 211 | 207 190 190 168 85 25 0 55) 30 725|107 | 149 12~M10x20 | M10x80 17.5 M75x2 | 35 15
TS-1081 180 | 226 | 222 205 205 168 | 100 25 0 58 33 74 115 166 | 12~M10x20 | M10x80 16 M90x2 | 35 | 15
Model N1 N2 | N3 oL o2 P Q1 Q2 Q3 R S T U Vo Wl W2 X1 X2 Y1 Y2 z
ode
(H8) | (H8) @7) | (H7)
TS-539 M44x1.5 26 8 42 39 8| 85 30 RC1/4 | 42 69 | 72 103 10 62.5 100 | 54 H M6x10 | 90 | M5x12 | 5
TS-866 M74x1.5| 37 8 | 72 | 66.5 105 12 45 RC1/2| 72 100 111 154 | 12 95 140 | 88 M6x12 | 140 M6x10 | 5
TS-1081 M89X2.0 | 38 85 81 109 15 45 |RC1/2 | 86 113 1123 175 16 103 160 | 103 | M6x12 | 160 M6X10 5

*EKERTEBRIAKEFSRATMGER -

69 auToGRIP

*Coolant Collector and Confirmation Device. Please See Accessories pages.




[y
gt
[t
iy
il
ftH

TH Ch 72 3000 §3 5 BR ]
ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

HBEE K8 KAKLEIREHRET -
WL |7 B SHEE - oML BRI ESACE MBS - BIREBNAR
B - MEERHAERBNRIFIEY -

®  Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.

w CIMINARMEE M S A TS - (EBREm)

= Linear sensor can be attached.(optional)

|
|
I
o | ol 8 b Lw ool o
mERSIRSIRSHRS SIVEINY SIESIESIRSIERS
! L1
7 ) M1
A
4 ‘ 9
X2/ L
] VA== b
(TH-428:RC3/4") / _— B G2 — H (61
RC1” Drain Port E% E%
SEHA L J
@33 | (TH-428:226.5) ‘ K
bt
i
REBRIBIE AR :Eﬂ
Subject to technical changes /!
BR
K ili R4 SPECIFICATIONS ZE
RIS JEZHETE Eff. piston area 1772 EeEY EaEREN | = BRRE [
848 (Extend) I8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia = Weight Total oil leakage il
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
SMEUR~F DIMENSIONS
A
Model = ME B € D E | g | G |66 G, K L M1 M2 M3
ID. (h7) max. min. max. min.
TH-428 90 130 | 120 | 100 80 | 40 10 0 35 25 | 45 11275 155 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 @ 135 | 115 | 100 48 15 0 40 25 | 40 118 166 = 6-M10x20 M42x1.5 25 15
01 02 R
Model N1 N2 (H8) (H8) P Q1 Q2 Q3 @7 S T U Y w1 W2 X1 X2
TH-428 M34x1.5 | 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7
TH-A536 M44x1.5 | 28 38 36 1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10

*EKERITEBREEZESHEMAEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

autocrip 70



SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TR BQ 5 AU oh ZC 28 #8 5 ER f] BEERRER

S REER  ESKI -
NESANF | FREBERE 22 REEEE
REEHAEAR M - AHEKX - HOHIE -

BHLEREARNHETEME - ZHEHEEE -

O ERMR I 0BT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

aIft MNARMEE AL R AR AT - (ERBm )

Linear sensor can be attached.(optional)

o

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
AKPBE : PAT.NO.ZL201420584274.5(China)

QL P . L2 6~L1
555 %o 6~V2 W’H = L
! 1 T
§ N1
T 6 A\ 3 o3| | u[N2| N3 7@ g g2
o NS @] | Q
1 W)E:! a8 | s | &
2x2~Q3 S = i
Pressure Port [T
e, ﬂ‘::‘ﬁ |
ur N\ ul 4-W2 ee—
| 4~W2, (-
e | ] P
Drain Port
BT J 1
G2 K Gl
I
A\ \B \_?r
REBIRBIE LT
Subject to technical changes
K 1li#1& SPECIFICATIONS
7o EISR JEZEMHTE Eff. piston area 1772 EeEY EaEREN I 52 mRRE
S Vodel 848 (Extend) i8] (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Total oil leakage
ode
|53 cm? cm? mm min(r.p.m.) MPa(kgflcm?) kg-m? kg lit. / min.
a TR-539 724 67.1 15 8000 4.0(40) 0.010 6.8 3.0
ﬁ TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
TR-853 135.3 125 20 6300 4.0(40) 0.032 11.5 3.9
TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
4MEIR~F DIMENSIONS
A E Gl G2
Model AEEY B © D F . . H J K L L1 L2 M1 M2 M3
ID. h7 max. | min. | max. | min.
TR-539 107 ' 143 125 125 110 52 15 O | 34 19 4 97 | 133  6-M10x20 M8x60 12 M45x1.5 25 12
TR-646 128 165|147 | 147 130 65 15 0 34 19 35 97 | 135 | 12-M10x20 M8x60 11.5 | M55x2 25 13
TR-853 145 185|165|/170 130| 70 20 O | 47 27 | 45 1185 160 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 1212 190 190 160 95 25 0O 52 27 45 1295 181  12~M10x20 @ M10x1.5 16 M85x2 B85 15
o1 02 R
Model N1 N2 N3 P Q1 Q2 Q3 S} T U1l u2 Vi V2 w1 W2 z Z1
H8 | H8 g7

TR-539 M44x1.5
TR-646 M52x1.5

25 | 42 39 925 65 | 26 RC1/4 42 40 103 525 55 53 | M5x8 90 | M5x9 RC 1/2
25 | 50 46 | 95 5 32 RC3/8 50 50 116 59 @ 62 615 M5x9 98 M5x9 RC 1/2
TR-853 M58x1.5 30 | 55 53 | 114 8 34 RC3/8 56 50 128 65 67 70 M5x10 110 Méxl1l RC 1/2
TR-1075 M84x2 33 | 80 75 1235 12 | 40 RC1/2 81 50 164 83 86 95 M5x10 155 Meéx1l RC 3/4

*EKBRITERIDEEZLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

71 AuTOGRIP

8
8
8
9

g o o o




[SEEvSRS

Py L 78 o S 28 83 M BR ]

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

"E . S - KSIVEERERT] -

PRI | 78 B SE AR R B 08 R -

RSO HEREEZ -

For short form, light weight and high speed rotary cylinder.
Built-in safety check valves and pressure relief valves.

Can screw it from the rear end of the cylinder when mounting.

n RAREBLERZELOEEE DBRELERE -
m  The drain port should be independently connected to oil tank to avoid back

pressure.
L2
[
u— — LI
6~L1
8
n
T ’T N - @)
A B |Dr <1 818 &
&
/ <
- RC1/4” o
Drain Port 7, \
2~RC3/8" (RK-200:RC1/2") b
70 (RK-75:60) Pressure Port  #5H7L SN
H G
2~RC1/2"
Pressure Port #8587 o P J
Jo I <
A B SYA)
9 WA
§ol s
RC3/8" ﬁ:
Drain Port J8#¥, ~ Dr R
REIEE AR RK-250
Subject to technical changes
$: T #5348 SPECIFICATIONS
Eith JEEETE Eff. piston area 112 BEEEg EaERAEN | 58
o # {8 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight ZE
ode cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg H
BR
RK-75 44.2 371 15 6000 4.0 (40) 0.01 29 %
RK-100 785 715 20 6000 4.0 (40) 0.03 4.4 [
il
RK-125 122.7 1131 25 6000 4.0 (40) 0.05 6.9 &
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 314.1 290.4 35 5500 4.0 (40) 0.28 15.4
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 452
SMEIR < DIMENSIONS
E G G M
Model A B © D1 D2 () F i || G H J K L L1 L2 (H8) N N1 P Q R S
RK-75 75|15 107 90 90 | 65 30 45 30 57 148 M20x2.5 | 6-M8x16 M8x60 | 12 21 35 5 41.5 10 |27.5 26
RK-100 100 20 132 115|100 80 | 30 @ 45 | 25 | 72 163 M20x2.5 6-M10x20 & M8x75 | 12 | 21 | 35 | 5 [39.5 10 28.5 32
RK-125 125 25 160 140 130 110 35 50 | 25 | 82 172 M24x3.0 | 6-M12x20 = M8x85 | 12 | 25 45 5 38.5 10 28.5 32
RK-150 150 30 190 170 130 110 45 55 | 25 | 95 | 184 M30x3.5 12-M12x24 'M10x100 16 32 45 5 37 10 |285 32
RK-200 200 35 245220145120 55 70 | 35 115 201| M36x4.0 | 12-M16x30 M10x125 21 38 60 5 | 38 6 28.5 28
RK-250 245 60 307 275220 160 65 85 25 165 255 M42x3.0 12-M20x35 Mi16x175 28 45 65 12 33 18 6 -

AUTOGRIP 72



S 3000 B3 5 [BR ] ST AL
ROTATING HYDRAULIC CYLINDER

o pH . SiE - ESRVEEHE -
o ZERRUBERHEE -
®  For short form, light weight and high speed rotary cylinder.
® Can screw it from the rear end of the cylinder when mounting.
n CERAREBLERREOOEE DUBRELER -
m  The drain port should be independently connected to oil tank to avoid back
pressure.
=
[
——F — L,
g 6~L1 A~ ]
> R _
N ) —
= ~ A:1.D. A& N1
A B |Dr 3 m B:St. 1712 || )
4 Sl u W o=
N - - N @l SIES]a]la) ‘é’
g L TS — 1 Ql Q
1 b N K
RC1/4” !
Drain Port 38587 ‘ R ‘ ‘ P
Q
2~RC3/8"(RK-200N:RC1/2") — 5\ L
(RK-75N:60) Pressure Port #5587 I
77 5(RK-250N:90) H G
J
(RERIEIELROHT
Subject to technical changes
#li#1& SPECIFICATIONS
itk JEZEMETE Eff. piston area 112 B OEE BefEREN I 52
{8 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min(r.p.m.) MPa(kgficm?) kg-m? kg
i RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
i
e RK-100N 78.5 715 20 6000 4.0(40) 0.03 4.3
B
B RK-125N 122.7 1131 25 6000 4.0(40) 0.05 6.8
ﬁ RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 314.1 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 452
4MEIR < DIMENSIONS
E G G M
Model A B C | DL D2 h7) Flmax | mn. | H J K L L1 L2 H8) N N P Q| R S
RK-75N 75 15 /107 90 | 90 65|30 45 30 57 134.5| M20x2.5 6~M8x16 M8x60 | 12 21 35 5 28 10 27.5 26
RK-100N 100 20 132 115 100 80 30 45 25 72 1495 M20x2.5 6~M10x20 M8x75 12 | 21 35 5 26 10 285 32
RK-125N 125 25 160140 130 110 35 50 25 82 | 159.5| M24x3.0 @ 6~M12x20 | M8x85 | 12 25 |45 5 26 | 10 285 32
RK-160N 150 30 190 170 130 110 45 55 25 95 1725 M30x3.5  12~M12x24 M10x100 16 32 45 5 26 10 285 32
RK-200N 200 35 245 220 145/120 55 70 35 115 1925| M36x4.0  12~M16x30 M10x125 21 38 60 5 30 6 |28.5 28
RK-250N 245 60 307 275 220 160 65 85 25 165 255 | M42x3.0 6~M20x2.5 M16x175 28 45 65 12 37 18 | 6 -

73 AUTOGRIP



il
P
i3
il
ft

RH oh 8 300 88 BR ]
ROTATING HYDRAULIC CYLINDER

LDEREREIRERAERESSREMNMN  E85K -
EEBAARKRET  EEABNEEERINEB R LA - MAEm S &
L IEREM -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

® Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

B ORRAREBRNEBERMEE  DURRELSE -
B The drain port should be independently connected to oil tank to avoid back

pressure.
L
o A B L br . alo
5
RC1/4"
Drain Port J2H7,
L3RH-200:14)  pressre Port £
6
102 H G
J
et et changes
G718 SPECIFICATIONS
gt SEZEETE Eff. pigton area 712 B OEg e ERES I 58
# il (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Zz
Model cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg /Eﬂ
RH-65 31.0 27.9 15 6000 3.5(35) 0.01 29 ;E
RH-80 477 4238 15 6000 3.5(35) 0.01 3.4 ﬁ
RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
SMEUR <) DIMENSIONS
Model A B Cc D (hE7) F mgx. m?n. H J K L (I—’\|I18) N P Q R S
RH-65 65 15 98 80 60 22 45 30 73 175 M12x1.75x30 | 6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 1112 | 90 | 65 | 25 | 45 | 30 74 176 = M16x2.0x30 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 | 20 135 100 80 ' 25 45 25 885 | 190.5 M16x2.0x30 = 6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 ' 25 160 130 110 30 50 | 25 955 197.5 | M20x2.5x35 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 | 35 245 145 120 55 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

AUTOGRIP 74



il
[
i
il
ft

RA b & 700 42 78 [BR ]

ROTATING AIR CYLINDER

LEEREAIRERATRESSHENAN - E8K -
LEESSRRET  EFRRESAERERERN)  ROREBESKE
® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.
®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

n FAFK AREAMENHE -
m  When used, a little oil mist should be contained.

L
A 1LD.AE
|/
{:":77'
h 5 _
Al ]
AT St w ol o] m
N ——-u QI Q) 8 9 8§
& K
/ L |
[ T I
‘15 36.5
‘ N
Silencer 2~RC1/4”
HE R Pressure Port
wR
95 H G
J
RIS ERAER
Subject to technical changes
#1li#1& SPECIFICATIONS
itk SEZEMEME Eff. piston area 112 OB BefEREN | 52 ZERAERE
vo {8l (Extend) HIfil(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia = Weight | Air Leakage( 6kgficm?)
- Model
i cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg cc/sec
B
| RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400
ﬁ RA-130 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400
RA-170 2254 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
SMEIR < DIMENSIONS
E G G
Model A B @ D ) F TEL ey H J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

75 AUTOGRIP



RS P50 | E 1 17 A2 122 ) B 40 55 P BR R B

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

WA SE - TG ERE W -

RETVO R - TIRREES - OIERVHERELIEE{FE -

PRI L B SRS R B TR RS -

LRI o HERHEE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

B ORHAREBRUEBELMEE  DBRRELSE -

B TEBAEBUENSEEEMRGESE - (F/RM)

B The drain port should be independently connected to oil tank to avoid back pres-
sure.

Stroke Detection Type can be customized to Linear Positioning System.

girii M12x1 9 Ti ] $125
o« = S 3 S 4 \[m o S o
] I S 2] © 5 o
J&% ¥ S %%L B X 2% | 6-L1 L2
2x2-M5x0.8 < > LAB
R e R —
‘ — ‘ ALD. AN 5 r
\% | iy
I - Y 888
LN
1‘ 1 RC1/4” _F
Drain Port &7, &5
78 27(RS-200:29.5) 5 [N
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port #4587 3
RS-200 RS-75,100,125,150
REBIREE LT
Subject to technical changes
Hli#1& SPECIFICATIONS
HlgR JEZEEE Eff. piston area 712 o EEY e EREN | 2
7o
Vodel #{3 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =5
oce cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg ;;.i
RS-75 43.0 37.1 15 6000 4.0 (40) 0.01 3.4 EE
E
RS-100 77.4 715 20 6000 4.0 (40) 0.04 49 ;’I’
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
SMEIR~F DIMENSIONS
E G G M
Model A B @ D1 D2 "7) F — H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 | 65 30 45 | 30 57 | 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35
RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 50 25 82 41 144 226 M24x3.0 6~M12x20 M8x85 12 | 25 | 45
RS-150 150 | 30 190 170 | 130 110 45 55 | 25 95 39 | 142 237 @ M30x3.5 @ 12~M12x24 M10x100 @ 16 | 32 | 45
RS-200 200 35 245 220 145 120 55 70 | 35 | 115 34 14252575 M36x4.0 @ 12~M16x30 = M10x125 | 21 | 38 @ 60

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP /6



[SEEvSES

TSR B 85 BR 6T
ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

A RS-N

A S - (TI2EHI AR ER ] -

RETVO R - TIRREES - OIERVHERELIEE{FE -

LR HEREE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Can screw it from the rear end of the cylinder when mounting.

n CRMAREBNERZEOEEE DUBRELTRE -

B TREBAEE ISR EA R RS - (F1Hm)

m  The drain port should be independently connected to oil tank to avoid back
pressure.

m  Stroke Detection Type can be customized to Linear Positioning System.

6~L1 L2
HeE—=—=
| |AIDRENTE r
T B:St 1712 7:;;
ﬁ%r - @%%}(él SRR
RC1/4" yﬁ _ N
Drain Port J#5H 7, 271 | 28 =5
10 SNE
2~RC3/8"(RS-200N:RC1/2") | 131RS-200N:1345) | H G
RS-200N Pressure Port  #&#FL J
Sbloct 1o ochar hanges
i #3248 SPECIFICATIONS
HlgR SEZEHEME Eff. piston area 712 B mEg e EREN | 2
#{3 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 8.8
ié RS-75N 43.0 37.1 15 6000 4.0(40) 0.01 3.3
/gy_é RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7
% RS-100N 774 71.5 20 6000 4.0(40) 0.04 4.8
;E RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
SMEUR~F DIMENSIONS
Model A B Cc D1 D2 (rlé) F mSX. m?n. H J K L L1 L2 (l—';/lg) N
RS-6520N | 65 20 97 | 80 80 60 | 25 45 | 25 62 193 M16x2.0 6~M8x16 M6x70 145 17 | 30
RS-6530N 65 30 97 80 80 60 25 45 15 62 203 M16x2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 | 107 @ 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N = 75 30 107 | 90 90 65 | 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 21 35
RS-100N 100 20 132 | 115 100 80 30 | 45 25 | 72 203 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 | 140 | 130 110 | 35 50 @ 25 82 | 213 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150N 150 = 30 | 190 | 170 130 110 45 | 55 25 | 95 226 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200N | 200 35 | 245 220 145 120 55 | 70 35 115 | 2495 M36x4.0 12~M16x30 M10x125 21 | 38 60

* 3fT#%B3R : DC 10-30V 100mA NPN °

77 AUTOGRIP

*Proximity sensor : DC 10-30V 100mA NPN.




RL P38 11 f8 ) 7K B 2 855 BR 1 T AL

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

B - EKEEEMET - o LBREIRHEATIHIK -
R I8 B SHE R R ER -

To allow coolant to be feed from the rear end of the distributor through the
rotating union
® Built-in safety check valves and pressure relief valves.

u 5%5&%@?‘%2\%3%%@55}53% DU EE R

n EKAERRRER  BF7EE -

®  The drain port should be independently connected to oil tank to avoid back
pressure.

m  The rotary cylinder should not run without liquid through coolant port.

L2
6-L1 »’—‘«
]
] . d
@ “
RC1/4" - h—_——
Coolant Port {£7K#, — g Is?gé 8
/_‘ﬁ : St T»H«
() N e Allslslw alg o
J T SN
© i TN XK
RO HE R \} | __F
Coolant Drain Port J87KFL j—
<& 20 H1 S
T
RC1/4” 110 5 L
13,13 @ Drain Port S83#7, Ho H 5 =
60 Cp
1
J
(
A
- 2~RC3/8"(RL-200:RC1/2")
C-Dr AH B| Dr Pressure Port  45H17L
PV Limit value 14400 MPa-r/m
PV BRHIE
RGBT
Subject to technical changes
$ 1T #3115 SPECIFICATIONS
FISR JEZEMETE Eff. piston area 1712 EeEEg EeERES KA EEERES I 52
Vodel 8l (Extend) HIffl(Retract) Piston stroke Max. speed Max. pressure Co&l:;t:;r;zﬁigon Moment of inertia Weight "
@I
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg H
BX
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1 %
RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 46 f
L
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 71
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
SN~ DIMENSIONS
Model A B C | DI D2 (hE7) F Gmax. Gmin. H | HL H2 J K L L1 L2 (Il\|/|8) N
RL-75 75 15 107 90 90 65 | 30 45 30 57 42 | 137 194 M20x2.5 6~M8x16 M8x60 12 21 | 35
RL-100 100 | 20 132 115 100 80 @ 30 45 25 72 | 42 | 137 | 209  M20x2.5 6~M10x20 M8x75 12 | 21 | 35
RL-125 125 | 25 160 140 | 130 110 35 50 25 82 41 | 136 218  M24x3.0 6~M12x20 M8x85 12 1 25 | 45
RL-150 150 | 30 190 170 130 110 45 55 25 95 39 | 134 230 M30x3.5  12~M12x24  M10x100 | 16 | 32 | 45
RL-200 200 | 35 245 220 145 120 55 70 35 | 115 36 | 132 | 248  M36x4.0 12~M16x30  M10x125 | 21 | 38 | 60

AUTOGRIP 78



ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

’ RL-N & 7K BU 300 8256 [BR 1] S

S - PKIAVEERERE - ol AREREATIHIK -
LRSI REREEZ -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union.

® Can screw it from the rear end of the cylinder when mounting.

B ORHAREBRVEBELMEE  DBRRELESE -

n EKAERRRER  B7EE -

m  The drain port should be independently connected to oil tank to avoid back
pressure.

m  The rotary cylinder should not run without liquid through coolant port.

6~L1 »’L_z‘«
R
RC1/4” }
Coolant Port {#7Kf, ALD. A [17g I
B:St. 71 || ..
iz | A=
N N e (Tl sTwul ) ol =
v/ | 1SS, 4858
& j - Q8
s f G |‘: B 71'\ N \i(
Rcll8" [ | i I} il o L
Coolant Drain Port J87KHL j—
- 20 28 S
RC1/4” 5
L 18 Drain Port J8H7. \ﬂ =
3.5 H G
60
C, J
( 2~RC3/8"(RL-200N:RC1/2")
A Pressure Port  #HFL
C-D -3
PV Limit value 14400 MPa.r/m A B | Dr
PV [REIE
RGBT
Subject to technical changes
$ 1T #5315 SPECIFICATIONS
FISR JEEETE Eff. piston area 1712 EeEEg EeERES KA EEERES | 582
N Vogel 818 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure CO&':?:;Z:J?SOH Moment of inertia Weight
% cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
/|
2 RL-75N 42.6 37.1 15 6000 4.0 (40) 3.5(35) 0.01 3.0
o
i RL-100N 77.0 715 20 6000 4.0 (40) 3.5(35) 0.04 45
i
RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 312.5 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
ShEYR ST DIMENSIONS
Model A B © D1 D2 (hE7) F | G max. G min. H J K L L1 L2 ('_’\é}) N
RL-75N 75 15 107 | 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 21 35
RL-100N 100 @ 20 132 | 115 100 @80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 21 35
RL-125N 125 | 25 160 | 140 | 130 110 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 25 45
RL-150N 150 @ 30 190 | 170 | 130 110 45 55 25 95 | 218 M30x3.5 12-M12x24 M10x100 16 32 45
RL-200N 200 | 35 | 245 220 145 120 55 70 35 115 | 240 M36x4.0 12-M16x 30 M10x125 21 | 38 60

79 AUTOGRIP




RL-AN ¥ 7 AU 3 e BR T B
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

B TRIVOEREL - EREREATR -
LRSI REREEZ -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® Can screw it from the rear end of the cylinder when mounting.
N ERE - BERAMENHGE -
o IRAERRBEBR  F7E"E-
®  When used, a little oil mist should be contained.
m  The rotary cylinder should not run without air passing through the air port.
6~L1 4ﬁ«
RC1/4”
Air Port &AL A 1.D. A [] ) I
B:St. 171 || .
—F t. 1712 i r—h
ey | e STl o =
D B i o S a ol
<> o Sl SIS ¥)5/8 8
o™ T~
1@ sl N_\K
RCL/4" 1
\6%/ Drain Port SE5H7L 57 28 =
1 13 2~RC3/8"(RL-A200N:RC1/2") | 10 > NL
Pressure Port #3HFL 1095 H G
60 _| ar
J
H-33
A B | Dr
(REBIRAE SRR
Subject to technical changes
#1li#1& SPECIFICATIONS
BI5E JEZEETE Eff. piston area 718 RoaEH EeEREBN AREERSERAEN I S o
. . @I
818 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure m;;ogrrz::ﬁg Moment of inertia Weight S
Model i BX
cm? cm? mm min?(r.p.m.) MPa(kgficm?) MPa (kgf/cm?) kg-m? kg ;E
RL- A75N 42.6 371 15 6000 4.0(40) 0.8(8) 0.01 3.0 [
il
RL- A100N 77.0 715 20 6000 4.0(40) 0.8(8) 0.04 45
RL- A125N 121.2 1131 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5

MY <F DIMENSIONS

E G G M
Model A B C D1 D2 "7) F e | o H J K L L1 L2 (H8) N
RL- A75N 75 15 | 107 = 90 90 65 30 45 30 57 166 = M20x2.5 6~M8x 16 M8x60 12 | 21 35
RL-A100N 100 | 20 | 132 115 100 @80 30 45 25 72 | 181  M20x2.5 6~M10x20 M8x75 12 | 21 | 35
RL-A125N 125 | 25 160 @ 140 | 130 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 | 25 | 45

RL-A150N 150 | 30 | 190 170 130 | 110 45 55 25 | 95 204  M30x3.5 12~-M12x24 M10x100 = 16 & 32 @ 45

RL-A200N | 200 35 | 245 | 220 145 120 55 70 35 | 115 225  M36x4.0 12~M16x30 M10x125 | 21 | 38 60

autocrip 80



2z
i
[
]
L
il

RC

A EE 17 58 HME AL T S BRG]
HYDRAULIC CYLINDER WITH ROTATING JOINT

LI REasMNER

thE A I B L -
OSMEERENEBFEEEER  ARWERE
NEE LRI B AR -
Ol fo i 3 FRR S AR AT RS ORISR IEITIT IR 4 -

Medium and solid hydraulic cylinder with channel.
Can choose an external rotary joint with either single or double paths.

SRR O KB EE K -

® |t meets the demand for coolant through spindle and airtight pressure detect

function.

® Has a buil-in check valve for safety.
® Stroke control via proximity switch or linear positioning system.

IR RIMNEERES

LRENERELERER -

m  The proximity switch and single or double paths rotating joint are optional.

L2

6~L1
20
10 R £
g 4] 5
A: I.LD. AR
2-R b B: St. 1712
Pressure port A,B
.n“: ,B é o 1 K
N
e I i =
S S Slulw al Y
é%gﬁLi sy | 88§88 s
8 f—— = |
M1
% .
oL ] M L N
Dr
23.5 ‘
Q P
H
G2 J Gl
REBRIBIELAER)
Subject to technical changes
g #i1& SPECIFICATIONS
RIS JEZEETE Eff. piston area 1112 EeEg EaEREN | 5=
{3l (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min?(r.p.m.) MPa(kgflcm?) kg-m? kg
RC-85 43.8 481 20 5000 3.5(35) 0.01 6.8
RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
RC-125 109.8 108.5 25 5000 3.5(35) 0.03 1.1
RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 355
SMEUR T DIMENSIONS
Model A B C1 Cc2 D E (h7) F G1max. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 | M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5
RC-145 145 30 187 183 165 110 50 55) 25 38 8 89.5 169.5 | M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 222.5 | M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R s1 s2 T1 T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 8 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

81 AutocriP




HYDRAULIC CYLINDER WITH ROTATING JOINT

’ RC 3 8 452 OB SN B 10 e S JBR AL BT

o OEEENIERBALENL -
® Rotating joint and Proximity switch with bracket type.

With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

A .
AW e o
H—Ej /U @ X Inper Opter|
s
|
iy il L [ [1] L
M1 BE - EmE M2 BET - &ma
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

Inner Outer|

B MR AN AN SR S RN R

linear Sensor with bracket Proximity switch with bracket

2z
i
[
@
L
il

« I iERIR S T R S * The proximity switch and rotary joiint are optional.
* OEIEFT S B INEREY - * Choose and attach the appropriate type.

* AT ENER T AR R - * Please contact AUTOGRIP for more detailed drawing.

AUTOGRIP 82



== A Pa =S J Bp = i =
4 2 2 B oD I8 R (— ) ——
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - SRS REEHET -

NEF IR B REEE  OREBERTEESILERE -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SEMA R EBNEREOHEE  DUBRELTR -

TRBAEB ISR TN R FEE - (F]Hm)

B The drain port should be independently connected to oil tank to avoid back
pressure.

m  Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8" = =
P Port A,B ! _
EHAAB = —l AlD.AE| N K
, B:|St. 712 /
[ ] X ——
3 LD yaimmml EJ ul wl a ©
S (% N I & 9 8 § &
| 15 S
H
. | |a2s - ==
Drain Port ‘ f L
e REN H L1
[ J G
Drf AB
REBRIBIEUAER)
Subject to technical changes
z il #31& SPECIFICATIONS
;g RIS JEZETE Eff. piston area 172 EeEEg EaERES I 58
o # il (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
i Model
a cm? cm? mm min(r.p.m.) MPa(kgflcm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
SN~ DIMENSIONS
Cc G G M
Model A B () D E F TE i H J K L L1 (H8) N
RE-110 110 | 20 | 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 | 21 | 168 | 145 @42 29 60 39 69.5 @ 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 | 30 | 168 | 150 @ 50 33 60 30 79.5 | 158 M24x3.0 6~M10x85 17 27 40

* 3T#%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

83 AuTtoGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

’ RE BREBRER D EEEHEL () RS

5% KEEGIEEREL - FRIESERARIIAER -
NI B SR - R B RITRERILEERRE -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

SEMA R EBNEREOHEE  DUBRELTR -
RGBSR ETENRFESE - (F&Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

~ L2
2x2~M5x8 (L“\
===
dndth
s T W
S "
1 L _
[ — 5
P K
A: 1D, A
B: St| 1712
A Siulw AN| —
- - - Q| a
g SIESTRSI
\ 1
1 O
HUU” H @\
2~RC1/2" P 12~L
Pressure Port A,B -
4amAL A, -
(RE-150:2~RC3/8™)
- H G
RC3/8" J
Drain Port JEHFL
(RE-150:RC1/4™) f
Dr 1A B
REBRBIELAETR
Subject lo‘lechmca\ ‘changes EI‘D:
2 Aif#21% SPECIFICATIONS ;Ei
fith] JEZEETE Eff. piston area 112 EeEEg EaERES | 52 ﬁ
8 (Extend) 118 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg il
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 35 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 30.4
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
SN~ DIMENSIONS
E G G M
Model A B © D1 D2 () F P afin, H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 (205 180 130 110 45 60 30 99 177.5 M30x3.5 M12x24 M12x105 185 32 | 10 50 12.5| 114
RE-200K 195 35 257 225 145 120 55 73 38 120 239 | M36x4.0 M16x30 M16x130 27 | 38 12 | 65 15 | 150
RE-200L 195 50 257 225 170 125 65 80 30 | 135 254 | M42x3.0 M16x30 M16x145 27 | 45 12 | 65 15 | 150
RE-250 245 60 307 275 220 160 65 85 25 | 165 280 | M42x3.0 M20x35 M16x175 28 | 45 12 | 65 15 | 150

* 31$%F963 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 84



AR S B D SR T (— ) sumnm

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A

SR KSEERGITREEHEL - JARERHEER -
R R B SEE - RBRRE RATIE IR HT HE R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SR EB N BB EOREE DB RELESEE -

ERE - FEAMERHTE -

ARAEREBBERE  FVEHE -

TRBAEBAUELAREEURRESE - (FJ8#m)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.
Stroke Detection Type can be customized to Linear Positioning System.
The rotary cylinder should not run without air passing through the air port.

i | =
1 L = —
Th=— ap.m&E | N K
B: St. 7712 a
INPS s O
- i _ _ wiw A
E { \ | QI Q, Q| Q| Q
8
”%Q 15
-
o R ==
12.5
H L) kb
2~RC3/8" 1 J G
Pressure Port A,B 1/4” - AB
@, AB Drain Port %87, Dr |,
ba
=5 REBRIBIELAER)
;Bﬂ Subject to technical changes
2 151 SPECIFICATIONS
a
i RIS JEZEETE Eff. piston area 1712 EeEH E=ERAES ARNESERES I B8
il 848 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure ,:;Iir T Moment of inertia Weight
Model ax. pressure
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1
SR ~F DIMENSIONS
Cc G G M
Model A B ") D 5 F TET -y H K L L1 (H8) N
RE-A110 110 | 20 | 145 128 @42 29 60 40 66 | 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 | 21 | 168 | 145 42 29 60 39 | 69.5 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 | 30 | 168 150 | 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 43

* 3T #%BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 AuToGRIP




TERES AT REEHET () BREED

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A

SR KSEERGITREEHEL - JARERHEER -
R R B SEE - RBRRE RATIE IR HT HE R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

A REE Y EEELREE DR ESEE -
FAK  FEAMERETE -
ARABRIRBBE  BF2EHE -
¢ TEBHEBIIEURBREEURREE - (F]Hm)
The drain port should be independently connected to oil tank to avoid back pres-
sure.
When used, a little oil mist should be contained.
Stroke Detection Type can be customized to Linear Positioning System.
The rotary cylinder should not run without air passing through the air port.

/
e o o o

2x2~M5x8 6i‘1\ <L—2»‘
[
mﬁ i *@** ****** +
soifipled 5
‘ \j’ﬁ n 'm| — —
§ A:1.D. B f
_ ol -l B = ,,,7,%,7”, Sl w 8 E o
S b B: St 112 ST SIESIRS
== T ™A
Slie=— =
2~RC1/2" AF—-—a “4—
Pressure Port A,B ) 12~L
#amfL AB a# |
(RE-A150:2~RC3/8") i O _
RC3/8” Air | H G
Drain Port S8R, — 1Oz ‘
(RE-A150:RC1/4") J
RC1/4"
Air Port JERAL I
(RE-A150:RC1/8") br | AB
(REBIBIERMER
Subject to technical changes gl‘D:
1% SPECIFICATIONS s
B
Eitl SEEETE Eff. piston area 772 ReEEH R EREEN ERBRSERED I g2 ;E
Vodel 848 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure G;;O;Zg:iﬁz Moment of inertia Weight ﬁ
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1
RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2
SNEYR T DIMENSIONS
E G G M
Model A B @ D1 | D2 O7) F e | i H J K L L1 L2 (H8) M1 N P Q
RE-A150 150 30 205 180 130 110 45 | 60 30 99 1775 M30x3.5 M12x24 M12x105 185 32 10 50 [12.5 114
RE-A200K 195| 35 257 225 145 120 55 73 | 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 | 15 150
RE-A200L 195| 50 257 225 170 125 65 80 | 30 135| 254 M42x3.0 M16x30 M16x145 | 27 45 12 65 | 15 | 150
RE-A250 245 60 307 275220 160 65 | 85 | 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 | 150

* 3T #%BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 86



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

A RE-L FEEETicemam () senaw

5% KERSIT/KEEMRL - JEHBREATIEIK -

NP LB RS  REBERITREERITERE -
ZERFEHERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SERALEC SN B EEORERE DR RELESEE -

EKALERISEIB  FYEHE -

TRBAEBUELAREEURREE - (FJHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8” L C
Pressure Port A,B T Pr
#5HFL AB [/ L rﬂfi
c-Dr ] 1
Dri AB — | = N _k
-
i A LD R L LTZa—
- | an TS w fw no
) 10 Y B: St| 1712 ffiL::::Mﬁj SHSIESIES
|
ix i 15 -8
i
RC1/8" —_.
Coolant Drain Port ‘ 4 ‘;;; —
SBIKAL r
235 |125 . H L1 L
J G

RC1/4”
R RC1/4”
Collant Port E7KFL Drain Port #3870,

7o

@I

N RERIUEIE R ROMER

/Bﬂ Subject lo‘lechnica\ ‘changes

BR

g $: T #5348 SPECIFICATIONS

[ Eith JEZEHTE Eff. piston area 712 EeOEy ==EREN FKAEEEREN | 58

il 18l (Extend) HiIffl(Retract) Piston stroke Max. speed Max. pressure Co&lant Eoneeen Moment of inertia Weight

Model ax. pressure
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg

RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 1231 30 6000 4.0(40) 1.5(15) 0.03 9.5

SMEYR <) DIMENSIONS

Model A B ) D E = T -y H o) K L L1 (H8) N

RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38

RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38

RE-L130 130 30 168 150 50 33 60 30 79.5 | 181.5 M24x3.0 6~M10x85 17 27 43

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

87 AuTOGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’ RE- I- 55 A0 TR R HERET () A e

o FiF KEESET/KEEMEL - lERREHRAETIHIK  HrESER
RIIFAER -
R RSB S - R B R TI2 ST -
ZERREHEREEZ -
For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SORAECEH N BB ELOUNEE - DB RELES R
5$7J<%L;ﬁ§fﬁﬁ%LLH% BEHE -
TRBAEEBUEBIARUEEURREE - (FJHm)
The drain port should be independently connected to oil tank to avoid back pres-
sure.
The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5X8 6% L2
i | T ]
2~RC1/2" ] | E% ‘ 5‘
iPressure Port A,.B il
a Il ] S
(RE L1502 ~RC3/8") il K
< . = 7
o g | A LD T =y o] =6
Q| || RIS - SIS
_%L | - N L M1
12.5 | ———
CoIIant Port SE7KFL R 41
\ P 12~L
1P —
25 L
RC3/8”
Drain Port 837, H G
(RE-L150:RC1/4™) J
RC1/8” R
Coolant Drain Port 87K+ AHB
RBBIEIERAOHER
Subject to technical changes EE
$ 1T #3415 SPECIFICATIONS ;@
BX
BISR JEZEMHTE Eff. piston area 1772 EeEY EeEAES KA EEERES I ] 8
. Coolant connection P q &
Vodel 848 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia Weight i_l,
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
SMEIR~F DIMENSIONS
E G G M
Model A | B C D1 D2 (h7) F lmax | min. | H J K L L1 L2 (H8) M1 N P Q
RE-L150 150 30 205 180|130 110 45 60 | 30 | 99 201 M30x3.5 Mi12x24 M12x105 18.5 32 10 50 125 114
RE-L200K 195 35 257 225 145 120 55 73 38 120 264 M36x4.0, M16x30 M16x130 27 38 12 65 15 150
RE-L200L 195 50 | 257|225 170 125 65 | 80 | 30 | 135 279 M42x3.0 M16x30 M16x145 27 45 12 65 15 150
RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0/ M20x35 M16x175 28 45 12 65 15 150

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuToGRIP 88



A rD B8 L 4 3 o R -

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

m o K2 . ER5nEERT -

AR L7 B s & B R R -

For short form, light weight, double rod rotary cylinder.
Built-in safety check valves and pressure relief valves.

SR EB N BB EORERE DR RELESEE -
m  The drain port should be independently connected to oil tank to avoid back
pressure.

,,,,,,,,, Cylinder A Cylinder B 6~M12x1.75x24
A:1.D. AR q
p M42x1.5
. (L
B: I.D. A& 3517 _
£ M20x2.5
=== “A'BDr il o >
== | = &F &8 s e
Q Qy Q| ~| «~|
] = =T 5 ©°®
= RCL4" W H 35
1343 Drain Port 2L 2 40.5 51,
0 — ']
] 2~RC3/8" )
60 Pressure Port #HFL 90 C F
D E
REBRIBIEAER)
Subject to technical changes
2 Air#21% SPECIFICATIONS
J&EZ ETEES. piston area
BISE 718 R oA EeERRT | E8
7o # Al (Extend) Hi1fil(Retract)
;gi A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
=3 Model
4} cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
L2
£ RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 1.5
SMEIR < DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 35 10

89 autocRrIP



=2t

€12 030 M BR AL
DOUBLE ROD ROTATING CYLINDER

GE e SIREEE R -
For short form, light weight, double rod rotary cylinder.
n CERAREBNERELDRE DBRELSR -

The drain port should be independently connected to oil tank to avoid back

pressure.

Cylinder A ?ylinder B 6~M12x1.75x24
. 1
ALD. Wff ﬁ M42x1.5
B: I.D. A& ‘ 35*;’
i o ‘ I M20x2.5
| o
(é‘% %j} A B LDr ﬂ o — o o .’E ol o
N — © / O < | ~
— S o S
8 10| L%Ji Q
L RC1/4" L I 35
Drain Port EH7FL H
27, 28 5.1
13113 0 —=
[ 2~RC3/8” R
Pressure Port %Rl 77 C F
60
D E
REBBREEL T
Subject to technical changes
H1li#1& SPECIFICATIONS
JEZ HEES. piston area
itk 712 B ==ERES | E
{8 (Extend) HI{8l(Retract) pac]
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight ?
Model i
cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg C|
#
RD-120N | 1227  126.1  116.1 | 1131 20 5000 3.0(30) 0.14 1.2 &1
RD-125N = 122.7  126.1 | 116.1 1131 25 5000 3.0(30) 0.15 11.4
ShEIR T DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 85) 10

autocrip 90



SH B 30 B3 7 377 ) SHEERY
HYDRAULIC ROTARY VALVE

EET e e Bz MEE ARE S RE -

LEEN IS RRE - BB NEE - BAERMA -

A —EE - BERZEHIFEREE -

1BL75 R - o] ) BUIERIB 2R EN1F -

Rotary valve is used for clamping cylinder on rotary table.

Through unique design, it can make the rotary housing be rotated light force
and is free from oil leaking.

| Type is a single circuit which controls the clamping.

Il Type is a double circuit which separately controls the clamping.

RV BRI A BC EB M EBELIHE DB REMmBSRE -
= The drain port of RV type should be independently connected to oil tank to
avoid back pressure.

4~M8 2x4~RC1/4”
Screw hole Distributing port
- BHA pAinb::EiN 4~M8x11
1 ,ﬁ

RC1/4”
Drain Port S%HF,

A
@@
4

I
5 12‘ 40.5 ‘25‘
T

Tl

il

0134
@40 h7

|

T )

|

i
mk

Ll

L | 181\ 2u4)~rc14
136 Pressure Port #3584l I I
REBRIBIE AR
Subject to technical changes
K 1li#i1& SPECIFICATIONS
Eskr DRE EaEREN 2
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-31H 4@ (OJE]H) 4.0(40) 7.4

RV OJRHEE - (Note:RV can be custom-made.)

A RV-A  EEEESTE s
AIR ROTARY VALVE

4~M8 2x4~RC1/4”

Screw hole Distributing port
JEEER papiniEY
T 2-M8x11
— |
T
T
e e A
o §E b
& 4
- 1 2(4)-RC1/4" :
=Nl Pressure Port #&5fL
5 12‘ 37.5 25 18
125 I I
RBIRIEIE AR
Subject to technical changes
K17 #1& SPECIFICATIONS
il Papint EaERERN £
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-A31H 4@ (oJET &) 0.8(8) 4.8

1 :RV-A TJEHEEH - (Note:RV-A can be custom-made.)

91 AuToGRIP



2 ARSI
COOLANT ROTATING JOINT

SR - SRNRALARDEEE -

RENLEKEERBESE RIBEEERKY - MERRLE -

Coolant joint for high speed, high pressure. Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics, which provide
higher wear-resistance.

/$7J<L:|B/.\\/)ILFJELLH_I uﬁ%@ﬁs °
= The joint should not run without liquid through coolant port.

_\

M16x1.5 LH 25

9 (or 5/8-18UNF - LH)
O 5%
Q
c@@ ) =ik . 1O
I 18— 28
RC1/8"(Dr) / L ‘ j \J
r e
s / [ | 19
45" T . 30 1 ‘ 12 |5/ 15
8 RC1/4”(IN) 21 65
122
IREBIRIEIE AR Subject to technical changes
#li#1& SPECIFICATIONS
AlgR PVIEHI{E MPa- r/m =& FA B JIMPa(kgf/cm?) MtH £ (BB A 50 kgflem?) SEREEH(np.m.) E2(kg)
Model PV Limit value MPa- r/m Max. pressure MPa(kgf/cm?) Delivery amount (at 50 kgf/cm?) Max. speed (r.p.m.) Weight (kg)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5

S AR E R AR LK 7 B B B ER S

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

A RJ-92

S EEER  ESKI -

SEY - SEORALAREERE -

ANER KA FERBES S RIEZMEARKY - MEFEMRE -
EESMERRES - AIIEKEEERE - FIEKEAREZEmSE
Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics,which provide
higher wear-resistance.

®  The seal will depart automatically if no liquid passes during,operation, and will not
be dmaged due to dry touching.

m ER/ANBIENIE S dkgficm? -
= Min. pressure is 4kgf/cm?.

o

O

o]

v M16x1.5LH%E F

:T*’Q: @8(0ut)
P N = Vel >
) mi &=

RINIY ; N
RC1/4(IN) 9 24.2 RC1/8(Dr) 9| 185
98,5

IREBIRIEIE AR Subject to technical changes

TR+ SPECIFICATIONS

itk PVIREIE MPa- r/m | RSEAES MPa(kgficm?)  MHE (EFRES 50 koflem?) | BRSEAEEH (p.m.) | R/OBEES MPakgficm?)  E= (kg)
PV Limit value Max. pressure Delivery amount Min. pressure .
hece) MPa: rfm MPa(kgflcm?) (at 50 kgflcm?) v s (i) MPa(kgflcm?) Wil ()
RJ-92 17500 7.0(70) 28 I/min 10000 0.4(4) 0.46

AuToGRrIP 92



T T RRRI 23
’ GFS-IOO GRII;I:r’ING FORCﬁI;ESENSOR

EESF 5.0 BEIRE  MARWNES 5.0 1Kili - BEBRGEENIEEY -
Type-C REEF) : 218 Type-C RE - FEAREBENMELE -

SHEEEEN  REBERNEMERE  SFLELFPEFEVES/HE -
%1% Android 1 i0S : E#REEAKZE Android &2 i0S %4 - GFS-100 #B
eS0T ERD - ENEAERER -

BIECE 2 EL 3 TURTE : IRIBEMBEREK - GFS-100 oI AERZREER 2 N
8 3 TURME - BEHEARAEY -

FE B —RRF N (GFS-100) F 8 — a9 3€ 5 71 BRI 88 (GFS-100)
APP RREHA -

iOS &4t : Apple i0S 16.1.2 i &L + - Android %4t : Android 12 kR A5k
PALE -

Stable Bluetooth 5.0 Transmission: Equipped with the latest Bluetooth 5.0
technology, ensuring stability in wireless connections.

Convenient Type-C Charging: Supports Type-C charging for added convenience
in recharging.

High-Performance Lithium Battery: Provides a longer-lasting battery life,
eliminating concerns about power during work.

Supports Android and iOS: Whether you use Android or iOS systems, the GFS-
100 is perfectly compatible, offering a seamless experience.

Configurable for 2-Jaw or 3-Jaw Operation: Based on your specific needs, the
GFS-100 can easily be configured for either 2-jaw or 3-jaw operation, providing
greater flexibility.

Note: The first-generation gripping force sensor (GFS-100) and the second-
generation gripping force sensor (GFS-100) APP are not compatible and cannot
be used interchangeably.

iOS System: Apple iOS 16.1.2,Android System: Android version 12.

aG

@H

@A - 55158 Short
@B - FAIZE Middle
OC - K58 Long

@D

EHitRlE

RBIRAZIEHBIEF Subject to technical changes

R #A73R4& SPECIFICATIONS

Testing heads

BSR RARFFNEM)

R SR RErEE R

Max. Load (1-jaw)

Max. Speed Gripping range

Model
(kN)

Accuracy
(r.p.m.) (mm)

GFS-100 100

6000 70,84 ,104 +2%

AR <) DIMENSIONS

o
%
£

Model A B ©

\|
/A

o

\
/t

GFS-100 70 84 104

=3

63 54 57 20 68 22 30

93 AuTOoGRIP



SJ REEN(—)

STANDARD SOFT BLANK JAW

|
L D&
N\ ’
!
S-1
S-6 S-7 S-8 S2
- ‘ ‘ |
- S-10 ! I
57| [0 |
%] | |
BRI | |
[ [_ __ J o ‘
| e L e U
S-9 B8N sS4
LN
9I\§I:JETI DIMENSIONS IREBIRIEIE AR Subject to technical changes
ASR HrEagnEE ol ST —MEE
S1 | S2|S3| S4 |[S5|S6|S7 | S8 |S-9|S-10|S-11 | S-12 |S-13 . . i 3 Jaw Weight
MODEL Serration Pitch Matching Chuck -
SJ-04 52 ' 23 23 10 | 5| 10 14 28 9 | 14 13 | M8 3 1.5x60° 3H-204, 3P-04 0.5
SJ-05 62 25 30 10 5 10 | 14 38 9 14 20 M8 35 1.5x60° 3H-205, 3L-205, 3P-05, 3M-05 0.8
SJ-06 73 /31 36 12 | 5|15 | 20 38 11 17 24 M1l0 14 1.5x60° 3H-206, 3L-206, 3P-06, 3M-06 15
SJ-08 95 35 37 14 5 24 25 46 13 19 22 M12 16 1.5x60° 3H-208, 3L-208, 3P-08, 3M-08 2.4
SJ-10 110 40 42 16 |5 30|30 50 13 19 27 M12 18 1.5x60° 3H-210, 3L-210, 3P-10, 3M-10 3.7
3H-12, 3H-212, 3L-212
*! - ° ) ) 3
SJ-12H | 130 50 | 50 21 5 40 30 60 17 25 | 30 M16 23 1.5x60 3V-12, 3P-12, 3M-12 6.3
3H-12, 3H-212, 3L-212,
SJ-12P | 130 50 50 | 18 |5 40 30 60 16 23 | 30 | M14 23 1.5x60 3V-12, 3P-12, 3M-12 6.5
o 3H-15, 3H-215, 3H-18, 3L-15,
SJ-15H 165 62 62 22 8 37 | 43 | 8 21 32 37 |M20 - 1.5x60 3P-215, 3P-218, 3V-15, 3V-18 12.6
3H-15, 3H-215, 3H-18, 3L-15
*Q T _ ° f s , ,
SJ-15P | 165 62 62 255 6 37 43 | 8 |21 32 37 M20 1.5x60 3P-215, 3P-218, 3V-15, 3V-18 125
N 3H-221, 3H-224, 3H-232,
SJ-21 180 64 70 25 9 40 60 80 21 32 45 M20 - 3.0x60 3P-221, 3P-224, 3V-21, 3V-24, 3V-32 15.8

*SJ-12H 73 12" JREAH BEFCH - (12"Chucks are originally equipped with SJ-12H.)
* SJ-15P % 15" ZREEHMIACH - (15"Chucks are originally equipped with SJ-15P.)

3U X8 7 #E#E 4 [T1 STANDARD SOFT JAW FOR 3U CHUCK

[ ] Hjm
]
i

o

i) e T

N~
‘ G < S 1
= [m)
m H Q JK
— LM
S for 3U-203
ShEY R <F DIMENSIONS IREZATIEIEB AR Subject to technical changes
Eitl ]
A B c D E F G H J K L
MODEL
3U-203 55 11 9.5 66 12 C3 7 3 26 7 15
3U-204 6.6 11 11 84 17 C4 11 3 32 9.5 20
3U-205 9 135 14 108 20 C4 12 3 41.5 13 24
3U-206 11 15 17 129 30 C6 20 3 50 17 30
5=
3U-208 13 17 20 156 34 c6 22 3 63 20.5 35 @
3U-210 15 20 22 187 39 C6 24 4 74 23 40 =
3t
3U-212 15 18 22 234 44 C6 29 4 72 23 40 -

=3

AuToGrIP 94



SJ ZEEN ()
STANDARD SOFT BLANK JAW

2D/3D FEEZIZAEA T\ Standard Soft Jaw for 2D/3D chuck

for 04"~06" for 08"~15"
bt b oteishanges
ShEYR~) DIMENSIONS
RUgk
P A B (0] D £ F G H J K L M N
3D-04 22 13 25 52 175 1" 15 8 19 - 25 8 55
3D-05 27 15 25 56 20 13 19 8 23 S 30 8 5.5
3D-06 34 21 3 70 23 15.5 22 10 27 - 35 10 6
3D-08 445 29 35 84 19 13 25 12 18 26 40 16 7
3D-10 495 32 35 100 22 15 30.5 15 22 32 50 18 7
3D-12 54.5 36 35 120 26 18 335 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 50 20 40 40 70 24 10

3E KgE Z1ZEXE4S T Standard Soft Jaw for 3E chuck

_ -
| 1
o | | a
—[ J T ‘ | 8’:, _ g T
X = I
o ¢ 7 . <
— — T
oC 0 i e
‘ o
| E |
IEEL AR AL TBEL
REBRIBIEL M ER TYPE A TYPE B
Subject to technical changes
MBI R~ DIMENSIONS
itk
A B © D 1= F G H J K L L1
MODEL
3E.05 AR 20 1 6.6 16.5 10 c5 25 22 29 34.5 39 -
B & 20 1 6.6 15 25.5 C5 25 30 29 425 39 69
3E06 AR 23 1 7 19 13 c5 31 27.5 44 46 54 -
= B & 23 1 6.6 18 36 c5 31 37.5 44 56 54 92
g AE 30 14 9 25 15 cé 35 36 50 56 62 -
# 3E-08
s B &Y 30 14 9 24 41 c6 35 56 50 76 62 112
o 310 AR 35 17.5 11 26.5 17.5 c5 40 40 60 64.5 70 -
i B & 35 17.5 11 26 475 C5 40 715 60 96 70 129

95 AuTOGRIP



SJ BEEN (=)
STANDARD SOFT BLANK JAW

3R ZRBE ZIZX#EA T Standard Soft Jaw for 3R chuck

REBRBE LR

Subject to technical changes

ShEY R <F DIMENSIONS

]
A B © D E F G H J K L M N P Q R $ T
MODEL
3R-08 29.5 13 3.5 82 20 14 27 12 55 30 5 14 26 90 2 40 16 7
3R-10 305 | 15 35 | 102 23 16 37 15 65 30 7 21 32 90 2 40 18 7

3W g ZZXEA T Standard Soft Jaw for 3W chuck

& ©
ad
M N M N
D D
2E L 2E L
| | | T |
I i I ‘ ‘
< J | ‘ <m QJ ! \
F ‘ F
i | | e |
| —— or—91 T Ca=—=py
o o P #) o oLH £l
o AR 3 (B
TYPE A TYPE B

IREBHIBIEUAIMEF]  Subject to technical changes

ShEYR < DIMENSIONS

Eizh
A B © D = F G H J K L M N P Q R S
MODEL
AR 60 44 35 80 20 13 35 | 1268 30 120 57 16 38 7.94 7 - -
3W-08
B R 60 48 83 80 17 11 35 | 1268 30 120 57 19 32 7.94 7 12,5 32
AR 64 49.5 35 100 20 13 40 | 19.03 | 30 120 70 17.8 444 127 7 - -
3W-10
B R 64 50 83 100 17 11 40 | 19.03 30 120 70 22 36 12.7 7 17 36
AR 64 49.5 35 100 20 13 40 | 19.03 30 120 70 17.8 444 127 7 - - =
3W-12 it
B R 64 50 83 100 17 11 40 | 19.03 30 120 70 22 36 12.7 7 17 36 e
3t

3w RFIERTIATHEECIREM, RETHREERRENAR, STREE,

*3W series Carbide gripper is optional. * The type of the gripper is selected according to the work-piece conditions.

\
/t

=3

AuTOGRIP 96



SRS
’ SJ iTA%DARJI_Dr\SgF@ B)LANK IAW

3MF BB Z1ZXEE4 T\ Standard Soft Jaw for 3MF chuck

| K J
D
JE M
T |
m aF i
< 1 B
[ 1 LL [ | I
© LN N
G
RBBREELER
Subject to technical changes
9NEIR~F DIMENSIONS
Eihr =/MEL (kg)
MODEL A 8 ¢ ° £ F ¢ H J K - M N P 3 Jaw Weight
3MF-20 70 48 6 160 25 17 80 19.03 | 76.2 41.9 M16 50 12.7 11.5 10.4
o o <
AP g8 7 1Z 4T Standard Soft Jaw for AP chuck
| 51 |
S6 ST . S-8 .
5 . il
| & R
w I |
1 [
(N I [Te}
. ! H——
[ i
[ S-9 Serration S-4
s-12 A BrEEngE
N
IREBRE B RAER
Subject to technical changes
ShEUR~F DIMENSIONS
B3 HrEEiiE EFREE =NEE (kg)
S-1 S-2 S-3 S-4 S-5 S-6 S-7 S-8 S99 | S-10 | S-11 | S-12
MODEL Serration Pitch Matching Chuck 3 Jaw Weight
SJ-145 165 | 62 62 255 9 37 43 85 21 32 38  M20 3.0x60° AP-145, AP-185 12.2
SJ-185 165 | 62 62 255 9 37 43 85 21 32 38 | M20 3.0x60° AP-145, AP-185 12.2
SJ-230 180 @ 64 70 1255 9 40 60 80 21 32 45 | M20 3.0x60° AP-230, AP-275 16.1
%
M?T SJ-275 180 | 64 70 |255| 9 40 60 80 21 32 45 | M20 3.0x60° AP-230, AP-275 16.1
g SJ-320 210 75 80 30 9 40 60 110 | 26 38 55 | M24 3.0x60° AP-320, AP-375 24.7

=

\
/t

=3

97 AUTOGRIP



HJ

RHERBET (—)

STANDARD HARDENED JAW

H-1 H-1
h H-6 _ H-8 H-2 H-6 H-8
: | H-2
: ] 1 ‘
! T = ! p=ssiss
il il T L Ll
@ H-10 ‘ ® H-10 PRIITIER
b= \ pujiin} T ‘77‘\ i AUIUAR
T | | ol <£%£> ‘ ‘ ‘ | ‘ u“* RS 122 1SN
L. - - ﬂig i [ J I'L —J
12/ J o\ S wiz ] el N e
RBBIEIERAOHER i i
Subject lo‘lechnic:\ (‘:hanges Flg- 1 M
SMEIR~F DIMENSIONS
itk Hreaengs ERAEEE ZNEE | 2%EE
3 Jaw
MODEL H1 H2 H3 | H4 H5 H6 | H7 | H-8 | H-9 | H-10 | H-11  H-12 | H-13 SeF:fation Matching Chuck Weight | Reference
itch kg Drawing
HJ-05 53 |23 28 10 4 30 | 14 23 85 135 10 M8 6 | 15x60° 3H-204,3H-205 1 Fig.2
HJ-06 67 |31 36 12 5 385 20 285 11 17 | 12 M10 10 1.5x60°| 3H-206, 3P-06 1.7 Fig.2
HJ-08 87 35 51| 14 5 32 25 18 | 13 | 19 12 M12 12 | 1.5x60° 3H-208, 3P-08 2 Fig.1
HJ-10 102 40 54 16 5 39 30 |23 13 19 13 M12 16 1.5x60° 3H-210, 3P-10 3 Fig.1
3H-12,3H-212, 3L-212 .
*| - o 3 3 )
HJ-12H 103 50 52 21 5 625 30 405 17 25 17 M1l6 30 | 1.5x60 3V-12,3P-12, 3M-12 35 Fig.2
3H-12,3H-212, 3L-212
*| - o i 3 3 q
HJ-12P 103 50 52 | 18 | 5 | 625 30 405 15 22 | 17 M14 30 | 1.5x60 3V-12.3P-12, 3M-12 3.6 Fig.2
3H-15, 3H-215, 3H-18, 3L-15
*| - o 3 3 3 .
HJ-15H 149 | 62 86 | 22 8 63 43 | 34 21 | 32 20 M20 43  1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.6 Fig.1
3H-15, 3H-215, 3H-18, 3L-15 .
*| - o ’ ’ ’
HJ-15P 149 62 86 255 6 63 43 34 21 32 20 M20 43 1.5x60 3V.15, 3V-18,3P-215, 3P-218 9.5 Fig.1
3H-221, 3H-224, 3H-232,
HJ-21 1595/ 80 90 | 25 9 1045 50 55 | 21 32 40 M20 55  3.0x60°  3P-221, 3P-224, 3V-21, 14.3 Fig.2
3V-24, 3V-32
*HJ-12H ~ HJ-12P + HJ-15H - HJ-15P EEFARIAETE H-4 RS -
* For HJ-12H, HJ-12P, HJ-15H, HJ-15P, please confirm the dimension of H-4 before placing the order.
dh
3MF 1ZZERE T\
STANDARD HARDEN JAW FOR 3MF CHUCK
LA oA s
BTN SR
H-7 H-7
H-1
H-6 H-8 H-2
|
I [
— L
N H110 I
T =
® ‘ I I
T w =
S o % =
T il i
—— ) ===
:H H-15 H-9 H-4 =
H-12 4
IREBIRIEIE AR Subject to technical changes {q:
SMELR ST DIMENSIONS 5|
pith A oE =NEE kg =
H-1 H-2 H-3 H-4 H-5 H-6 H-7 H-8 H-9 | H-10 | H-11 | H-12 | H-13  H-14 H-15 h
Model Matching Chuck | 3 Jaw Weight
3MF-20 135 50 76 12.7 9 70 38.1 65 17 26 40 M16 40 32 19.03 3MF-20 6.7

AuToGrIP 98



IR (—
’ HJ STANDARD HS—\RDE?\IED JAW

AP 1Z2ZE5E T\ STANDARD HARDEN JAW FOR AP CHUCK

k@ VoY M e -

Clamping range

IREBIREIECLHI#ER Subject to technical changes

ShEY R T DIMENSIONS

BI5E Hreasfih HEAREE =MEL kg
H-1 | H2 H3  H4 H5  H6  H7 Al S

Model Serration Pitch Matching Chuck 3 Jaw Weight kg
HJ-145 191 55 73 255 9 92 | 38 30-125 420 3.0x60° AP-145 125
HJ-145 191 | 65 | 73 (265 9 92 38 35-165 460 3.0x60° AP-185 12,5
HJ-145 191 55 73 255 9 92 | 38 55-240 535 3.0x60° AP-230 12.5
HJ-145 191 | 65 | 73 (265 9 92 38 100-285 580 3.0x60° AP-275 125
HJ-320 243 75 82 30 9 | 110 50 105-300 658 3.0x60° AP-320 24.6
HJ-320 243 75 82 30 9 | 110 50 165-375 738 3.0x60° AP-375 24.6

o
(is
£

\|
/A

o

\
/t

=3

99 AuToGRIP



T-NUT D"

A o
[ )
) e M /A |
Ol s
N 2~T8 i T4
T5 |16 T4 5 |T6| 212
T10 | —
T E
| B o \‘ L
—L ‘ ~
T ‘ T2 T T2
TNL TN2

At
SR
7\ R
. S
£
T8 T8
T9 o
T TN4-221 T4
ot T4 ]
T I
~ | | I I F
‘ ‘ ‘ s il i i I I 2
e i i
s 1
‘9T5‘ T2 T1 T2
REFEERRER TN4 TN5
Subject to technical changes - I
ShEYR~T DIMENSIONS
sk BE IR =REs
T1 T2 T3 T4 T5 T6 T7 T8 T9 | T10 @ T 3 Pcs Weight
Model Matching Chuck
kg
TN1-04 26 14 15 10 14 6 95 | M8 5 - - H-204, H-205, P-04, P-05, L-205, M-05, SP-304 0.06

H-206, P-06, L-206, 1L-06, M-06, 3N-06, AP-52,
TN1-06 36 17 185 12 20 8 11 | M10| 6 = = RAP-306, SP-306 0.15

H-208, P-08, L-208, 1L-08, M-08, 3N-08, 4T-08, AP-66,
TN1-08 465 20 205 14 25 105 12 M12 10 - - RAP-308, SP-308 0.27

H-210, P-10, L-210,1L-10, M-10, 3N-10, 4T-10,
TN1-10 @ 51 22 | 215 16 30 11 13 Mi12 | 11 - - AP-86, RAP-310, SP-310 0.36

*TN1-12 555 295 28 | 21 | 30 | 12 167 M16 13 - | - | 2H-12,P-12,L-12, M-12 0.63
TN2-12 555 295 28 21 30 12 167 M14 13 18 45  2H-12,P-12,L-12, M-12 0.63
*TN1-15 80 @ 35 395 255 43 17 205 M20 14 - - 3’;'1'51'59_31';'183’ P-15,P-215, P-218, L-15, M-215, M-218, ) 55
TN2-15 80 35 395 255 43 17 (205 M20 14 22 6 \2['1'51'5\‘/_31";3'188' P15, P-215, P-218, 115, M215, M218, 4
*TN1-212 56 295|235 21 | 30 | 12 12 M16 10 - - | 3H-12, 4H-12, H-212, L-212, V-12, 4T-15 , AP-115 0.63
TN2-212 56 295 235 21 30 12 12 Mi14 10 18 | 4 | 3H-12,4H-12, H-212, L-212, V-12, 4T-15, AP-115 0.63
*TN1-215 80 35 | 34 | 255 43 | 17 19 M20 14 - - | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.32
TN2-215 80 35 34 255 43 | 17 | 19 |M20 14 22 6 | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.29
TN4-221 45 36 38 25 | 28 | - 22 M20 19 - - | H-221, H-224, H-232, SP-320, SP-324 0.63
TN5-185 32 35 30 255 - - 19 M20 - - | - | AP-145 AP-185, AP-230, AP-275 0.15 ﬁ
TN5-320 36 42 39 30 - - 24 [M24 - - - | AP-320, AP-375 0.24 g

\
/t

=3

*TN1-12 & TN1-212 #3 12" REEHBRECH - (12" Chucks are originally equipped with TN1-12 & TN1-212.)
* TN1-15 & TN1-215 7% 15" €58 K BIBC & - (15" Chucks are originally equipped with TN1-15 & TN1-215.)

autocrip 100



Fl. DN

CHUCK ADAPTORS

m

Pl
&
‘
a J ) ‘ ‘
Counter Bore Counter Bore Counter Bore
U SB4TRA 7L U B0 BE L U 2400088 AL
=
o . [
7° 70— (5 =E 7 7'30"7:‘ i
7730 —— -
| | | —
Jdlal O T ol o 09 <
388 SIRS 88 i Q& 88 SIRSIES]
E Tap hole
E1 Screw hole E1 Tap hole aaane 4
3y = L 12404 E1 L 244
RBIREIE LR L AL
Subject to technical changes
FL1 FL2 FL3
4MEIR < DIMENSIONS -
s L
Model A © D D1 D2 B El L U R " Weight
emark (ka)
FL3-04A24 | 110 85 70.6 | 63.513 ' 82.6 8 28 M10 M10 3H-204,2H-204 1.12
FL3-04A25 | 140 85 70.6 | 82.563 104.8 5.5 32 M10 M10 3H-204, 2H-204 2.28
FL1-05A24 - 1110 82.6  63.513 96 - | 15 |[M10 M6 3H-205, 2H-205, 3L-05, 2L-05, 3J-05, 2J-05 0.65
FL3-05A25 | 135 110 82.6 82.563 104.8 6 30 M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
15 2H-206, 4H-206, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A25 - 1140/104.8 82.563 @ 116 @ - M10| M6 | 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 0.96
*18 *3L-206, *2L-206
2H-206, 4H-206, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06,
FL3-06A26 | 165 140 104.8 106.375 133.4 6 35 [M10 M12 3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 31-06, 2J-06 3.12
3H-208, 2H-208, 4H-208, 3P-08, 2P-08, 3M-08, 2M-08,
4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08,
FL2-08A25 - 1170/133.4 82.563 104.8 - 23 M12 M10 3R-08, 3W-08, 3Q-08 2.7
*3L-208, *2L-208,
17 2H-208, 4H-208, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,
FL1-08A26 - 170/133.4| 106.375 150 @ - M12 me | 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08, 3R-08, 3W-08, 3Q-08 1.55
*23 *3L-208, *2L-208
4H-10, 3P-10, 2P-10, 3M-10, 2M-10, 3H-12, 2H-12, 4H-12,
3L-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12, 4T-10, 4T-12,
FL2-10A26 - 1220/171.4 106.375 133.4 - | 25 M16 M12 3E-10, 3D-10, 2D-10, 3N-10, 3J-10, 2J-10, 3R-10, 3Q-10, 5.02
3W-10, 3W-12

2H-210, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 2L-12, 3P-12, 2P-12,
FLI-10A28 | - 2201714 130719 190 - 18 MI6 M8 Zom ' o e 10, 4D10, 2D-10, 3N-10 2.73

3J-10, 2J-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12

3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL2-15A-8 - 300 235 139.719 1714 - 33 M20 M16 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 12.52

3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL1-15A211 - 300 235 | 196.869 260 - | 22 M20 M10 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 6.03

FL2-21A-8 - 380/330.2| 139.719 1714 - 33 M24 M16 3H-215, 3P-221, 3P-224 22.05
= 40 3H-215
it FL2-21A211 | - 380 330.2 196.869 | 235 - M24 | M20 16.28
s *27 *3P-221, *3P-224
£ FL1-21A215 | - 380 330.2 285.775 330.2| - | 27 M24 M12| 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6
H
%& FL2-40A215 - 520 463.6 285.775 330.2| - 40 M24 M24| 3H-224 43.26
FL1-40A220 | - 520 463.6 412.775 463.6| - 27 M24 M12| 3H-224, 3H-232 13.55

“” SCERRNIZBAE RIS, MIREMHMAE, (Models with ™" mark are produced only by order.

101 autocriP



EKEERTERE
COOLANT COLLECTOR WITH STROKE CONTROL

= +
oo B

o TOMITEBIRENGMUBIEE(ER) -
®  The proximity switch and linear Sensor are optional.
TI2MERREEE - (L ) The proximity switch is optional.
BE7 BEAE W R
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN
Iiti ¥ 3#%% Terminal Connections
+V OP1 oV
#* BROWN BLACK & BLUE
BERANKELRTEE
linear Sensor installation drawing
+ +Vv
* * o +DC10~30V
7
OUTPUT op1
° a5
LOAD
7 - o OV ® OVDC
CT-S
N0
{;ftﬂ i
4 ]
w
= - Q
w| 1
F kil
R — — 4 i
‘ e L
2| pror 1K P
— CT-04/05: —J=
== \pTaw
233 15 D | X
(CT-04/05:926.5) c = =
(REBRIBIELRORT (CT-24/28: @60)
Subject to technical changes %ﬂ(% ;%7J<§E’ii¢ﬁﬁ1§
Coolant Collector Coolant Collector with Detecting Ring
SMEIR < DIMENSIONS
E 2 Weight (kg) RS
Model A B c D E F G
CT CT-S Matching cyl.
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 TH-428
CT-05/CT-05S(TH) 87 110 60 29 110 57 84 0.9 1.1 TH-A536
CT-05/CT-05S(TK) 87 110 60 29 110 57 84 0.9 1.1 TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 120 | 645 94 1.2 i | SRS, TG, TR, TS
TR-646
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 TK-B846, TK-A853, TK-B853, TR-853
CT-K10/CT-K10S 158 185 @ 88 | 43 | 160 945 145 19 | 26  1ALO68 TK-ALOTS TK-AL078,
TR-1075
CT-12/CT-12S 158 185 88 43 160 94.5 145 1.9 2.6 TK-A1287, TK-A1291 Eﬁ
CT-15/CT-15S 206 235 100 50 210 121 190 3.1 4.3 TK-A1511, TK-A1512 (o
7|
CT-21/CT-21S 226 255 100 50 210 131 210 3.3 4.6 TK-2114 —
CT-24/CT-24S 250 270 100 50 230 154 248 35 55 TK-2416, TK-2416L th
CT-28/CT-28S 310 330 100 50 260 181 305 4.3 7.2 TK-2820

Autocrip 102



_ - EKEHTERIERE
’ CT SBI CT-SBS 55 vt coll EcTon winH sTrokE conTroL

oI INFTIERERD R B M AR IR AN FEE (B RL) -
MABIHEKE BEIEO40FD60(EE m) -

Q60HF K ERIER AR CT-S08B + CT-S108B -
The proximity switch and linear Sensor are optional.
Drain port @40 and @60 are optional product.

Drain port @60 only use to CT-S08B,CT-S10B.

TIEMEREE - (E ) The proximity switch is optional.

51 BEaE B RE
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN
Iii ¥ 3#1% Terminal Connections
" . +V OP1 ov
HERANEEZR RSB i BROWN 2 B Ack & BLUE
linear Sensor installation drawing " =
+ +v +DC10~30V
o
OUTPUT oP1
° &
LOAD
- - pel e OVDC
CT-SB CT-SBS
| Eﬂ [| « * (%)
i v/
DGl RS
@40 | T
@ 40 HEKEHR ot .
Drain port
RERY w =1 =
i i | - —
X g = iz et
L] w =S s
oo | emet =S
260 26 2 D
233 c
QGOSin%T%EE
rain port e o A o
BB EKE SKEHEBHIR
(FBRROnly use to . . .
CT-508B/CT-S108) Coolant Collector Coolant Collector with Detecting Ring
(REBRIEBAORER
Subject to technical changes
SNEYR ST DIMENSIONS
= = Weight (kg) BT
Model A B c D E F FL | F2 | G | Gl | G2 | H J
CT-SB | CT-SBS Matching cyl.
CT-S05B/CT-S05BS 97 | 120 68.3 33.3 96 49.6 56 - 25 32 - 62 86 1.1 1.6 TS-539, TR-539

CT-S08B/CT-S08BS 133 | 160 82 40 130 496| 56 63 | 25 32 52 82 130 0.9 14 TS-866

o
%
£

\|
/A

o

CT-S10B/CT-S10BS 160 | 188 88 | 43 | 148 496 56 63 25 32 | 52 96 K 148 1.16 2.9 TS-1081

\
/t

=3

103 autocriP



FV 3 s il B SHRE

STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK

- .
P Model:FV-01
2~M6
Screw hole ~ 20+0.2 ©
4R ‘ ‘ Ny
N NVNZNS L ] )
A= A7 J(\L
: a N -
i TN =
T ull-Niil M s
Ai C iB \&‘ 3~@5
RC1/8" 70
Airtight detection port
REBAAL
A CB
Circuit drawing Model:FV-03
T
§~M6h | 600.2
crew hole
BEa7l = = 9
Dol O R e
N (] (il A ©
R @l || HD—°
A LT =
i j i ALCIN g6 [BL
A} ﬂéﬁ }B Z“'ﬂ) 6820.2
105
RC1/4"
Airtight detection port
KREBIMIL

REBRBE LT

Subject to technical changes

o
%
£

\|
/

\
/t

=3

autocrip 104



DENRREFE

THE CALCULATION OF DRAW TUBE LENGTH

DRAW TUBE

Piston Cylinder Adaptor Chuck Adaptor
WE L ERER HEGAE R
c -
g Cylinder Draw Pipe -
M1 " K max. BT /ﬁlﬁi
—t 7 / j

SI 7/’/
ST

M3, M2

thZEHI 12 5% [B Detail of Draw Tube
L=A+G2max.+H-G1max.+M2+M3

RERABIELROEF]
Subject to technical changes

1T #R31% SPECIFICATIONS

HREEFRIE DGR Gl G2 o1 K E
H M3 | M2 M1 H1 L

Chuck type Cylinder type max. max. (f7) max. min.
3H-12 A8 TK-A1291 30 23 | 12 35 | 28 M100x2 35 95 883? M100x2 5 A+56+12
3H-15 All TK-A1512 30 33 12 | 45 33 M130x2 45 125 :gggg M130x2 5 A+81+12
3H-18 All TK-A1512 30 33 12 | 45 33 M130x2 45 125 gggg M130x2 5 A+81+12

TEGERAE WBERE G1 G2 o1 K E

H M3 | M2 M1 H1 L

Chuck type Cylinder type max. max. (f7) max. min.
3H-204 A4 TK-A528 12 145 10 25 315 M38x1.5 20 35 :8855 M38x1.5 5 A+59+10
3H-205 A4 TK-A533 12 17 10 25 16 M38x1.5 25 35 :8855 M45x1.5 5 A+46+10
3H206 A5 TKAG46 15 14 10 25 28 Mss2 20 50 O%° Meo 5 A+52+10
3H-208 | A6 TK-A853 20 165 12 @ 30 | 335 M60x2 20 | 55 882 M75x2 5 A+60+12
3H-210 A8 TK-A1075 25 21 12 35 285 M85x2 25 80 :882 M95x2 5 A+59.5+12
H212 ALl TKAIS12 30 23 12 45 32 M3k 30 125 000 wmuse 5 A+T0+12
3H-215 A8 TK-2114 35 33 17 45 | 44 M155x2 40 @ 145 :gggg M115x2 5 A+87+17
3H-215 All TK-2114 85 33 17 | 45 51 M155x2 40 | 145 :gggg M155x3 5 A+93+17
3H-215 Al15 TK-2114 35 33 17 45 38 M155x2 40 @ 145 :88;2 M155x3 5 A+81+17
3H-18B | A15 TK-2416 35 | 35 | 17 | 45 | 45 M180x3 40 | 170 gggg M175x3 5 A+90+17
3H-221 Al5 TK-2416 35 34 17 | 45 | 42 M180x3 40 | 170 :gggg M190x3 5 A+86+17
3224 A2 TK2820 51 35 17 45 42 M20x3 40 210 000 M225x3 5 A+T1+17
3H-232 A20 TK-2820 51 37 17 | 45 51 M220x3 45 | 230 :gggg M295x3 5 A+82+17

7 2H4H BI 2 MR REETERE 3H - 3H-2 B4 - (Note:To calculate the draw-tube length of 2H,4H as 3H,3H-2.)

o
%
£

\|
/A

o

\
/t

=3

105 autocriP



PEHIE R E
DRAW BAR THEECALCLTLA\'?I(ﬁ\InOF#ISRAW BAR LENGTH

Cylinder Adaptor Draw Pipe Chuck Adaptor
IR RLEER HIR /H@EE%W
L
] 4 1
K1 K2 = \ e %
|
{
gl ! 7
i 53 /i
c B S |
L gyhnder J_LI
EEGT J
R
G1 max. (3P-04,3P-05) | (G2)min. *
1
thEHI1185% 8 Detail of Draw Bar G2 min. (j::hgléd(
AR
L=A-G1max.-G2min.-4+C A
RBIRIE SRR
Subject to technical changes
$ 1T #5348 SPECIFICATIONS
FEEER T WEFT AT G1 G2
B C D K1 K2 L
Chuck type Cylinder type max. min.
3P-04 RK-75(N)/RA-130 30 30/20 | 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 = 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 | 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 = 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 | 45/35 55 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
& 2P BB 7R REETENR 3P 23 - (Note:To calculate the draw-bar length of 2P as 3P.)
JEERIT, LWEFIAT G1 G2
B @ D K1 K2 L
Chuck type Cylinder type max. min.
3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 81.5 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 35 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

oM B AR REFTEE 3M 23 - (Note:To calculate the draw-bar length of 2M as 3M.)

o
%
£

\|
/

\
/t

=3

Autocrip 106



NOTE




NOTE




AUI 'GP

www.autogrip.com.tw

AEEERRE, FRRHERBEEZEN, IEEERTH1TEN,
We reserve the right to modify the specifictions without prior notice.

TEEHBARIFR S

AUTOGRIP MACHINERY CO.,, LTD.
9 513006 1 s 0 BRI B — £ 200 5

No. 229, Sec. 1, Mingsheng Rd.,, Puxin Township,
Changhua County 513006, Taiwan

T +886-4-822-8719
@HDH(@ F +886-4-823-5719
E sales@autogrip.com.tw
www.autogrip.com.tw




	AUTOGRIP_Cover_202208001_1
	Foreword_20240416
	AUTOGRIP_01動力夾頭
	AUTOGRIP_02特殊動力夾頭
	AUTOGRIP_03橡膠筒夾
	AUTOGRIP_04立置式夾頭
	AUTOGRIP_05動力定心虎鉗
	AUTOGRIP_06轉盤用氣壓夾頭
	AUTOGRIP_07手動夾頭
	AUTOGRIP_08展刀搪溝頭
	AUTOGRIP_09同步夾具
	AUTOGRIP_10空油壓迴轉缸
	AUTOGRIP_11迴轉分流閥迴轉接頭
	AUTOGRIP_12零附件與其他
	AUTOGRIP_Cover_202208001_2



